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Time Allowed : 15 Minutes (s /) o 15 1 =k
Maximum Marks : 12 - [f/fﬂ-—/“}"/ 12. 3 /J/

Z—a-.-'ﬁ_.':v’ﬂ&-U:UJ;’JEté-Jﬁ.VLJIYﬁ{QKL}Iﬁ -V_“?E:é..JD #sMCcBcA &L’ﬁj)?‘f—d'f;‘; sl
-fﬂjr‘jkjﬁffﬂuﬁuﬂcwf’zfé./.é Jo¥ L .i.)’,éfu;}bupa....ﬁ -'L{_‘Jﬂ‘c_-g{ﬂ/{;ld(nfb.'ih?&lhf

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

For the reaction between PC{3 and C£; :p{{u& L K, & gﬂ:!d.a é_:', ik PClye Cly 4o PCEy1-1
to form PCY 5, the units of K. are:
mol dm> (D) mol™ dm® (C) mol™' dm™ (B) mol dm™ (A)
The conjugate acid of HPOF is: D e b A 2J7¢ ¥ HPOT |2
H,P0, ) . H,PO; (C) H,PO; (B) PO; (A)
Which of the following compound is not a base : e uf" g it?g L L‘JJ(,pc i s |3
Sodium chioride U3y (B) Aqueous ammonia LI | (A)
Calcium oxide 4L I'f?:! (D) Sodium carbonate %63y (C)
Coal having 90% carbon contents is called : e Pl 05 p Low o121 & l60a3 90 2 £ Sa
Bituminous J";_f (D) Anthracite 1 33 (C) Lignite el (Btn * “Peat vz (A)
(215 ~\ O

- R

Which one of these hydrocarbon molecule - § i u.‘."' }{,L\fﬁ:&ﬂ/ dg-al. 8| of < |51

will not effect on bromine water : \ EJ

C,H, (D) C,H, (C)- "%’O'f’-';‘) Ciofyy (B) CH, (A)

Which one of the following is a disaccharide : ('} 0*’ & ::;,.?Ju Lol = ol
. Starch B (D)  Sucrose$iiAC)  Fructose J¥7 (B) Glucose ¥ (A)

Which of the following is a tasteless : % ‘{f}"’ : 3 ..'31'!3.{_, L L;,J:( e 7
Fructose J//’ (D) <-Sucrose }:/¢ (C) Glucose .-‘Jl;b, (B) Starch &s- (A)

About 99% atmosphere's mass lies within : te b oafy o u’f w4 99 L /'J ¥ Ut L /.;_,a'_,::, 8

#5 11km (D) 2K 15km (C)  #F 35km (B)  XF 30km (A)

fWhich metal in acid rain effects aquatic life by clogging et/ }Dfd’ﬁ}d L /Cv:(y'lé LJ)‘.L{;P‘. Ljfu-‘.uf 242119
ish gills : ' ' :
Aluminium ﬁl"}.l (D) Mercury {,5/5» (C) Chromium (:?/ (B) Lead &/ (A)

Specific heat capacity of water is : e U u)ﬁ/ = Sy _,i....‘,‘..f._,_._-; u”:} J JL 10
2477k (D) - 24kg'K7 (©) 42Jg 'K (B)  420g 'K (A)
Which one of the following salt makes water permanently hard : ‘;.bhixydé.%{ﬁlsﬁbbu&;,;ﬁdigﬂ 11

Ca SO, (D) Ca (HCOy), (C) NaHCO, (B) Na,CO; (A)
Crude oil is heated in the furnace upto : te bl L (f & ,é-/;} u/ o u;/, S S5/ 12
450 °C (D) 400 °C (C) - 350 °C (B) 300 °C (A)
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Note : Four possible answers A, B, C and D to each question are glven The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Thousands of amino acids polymerize to form : Dt &b S % }‘fﬁ{_’ JAAF oz 1141
Vitamins #bs (D) Lipids J3 (C) Proteins s, (B) Carbohydrates (= 4446 (A)
A disease that causes bone and tooth damage is : : < sk LI 2 S w2 £ UFh sl Utk
Jaundice g6, (D) Cholera .=t (C) Hepatitis u"h’L__;.n.» (B) Fluorosis J ™ s (A)
A coal having 70% carbon is : L & IR ik 48 70 LS N7g 3

Anthracite 21 4wl (D)  Bituminous u"-"é (C) Lignite ...«lf (B) Peat &5 (A)

Infrared radiations emitted by the earth = Ut 3;: i ‘_/ ﬁiu.u .u!/! By oxt Bl = S04
are absorbed by :

Nyand O, | N, » O, (B) CO,and H,0 | €Oy 15 Hy0O (A)
O, and CO, | O, ,4 CO, (D) Cpgdqd N, [ CO, N (C)
¥ IR ‘e \,
(2)0 -:“‘“(y
When NaHCO, is heated, it forms : @ﬁ\g\}_ bode bl Lf7 J NaHCO; _>|5-1
Ca0O (D) CaCOs_(C) r’ )™ (a(OH)2 (B) CO, (A)
If O, < K. the reaction goes to : :;’;,) \5‘" - u‘r ld: 4w Q( <K, Ji 6
Right to left A L€ (B) Left to right SAL e Lt (A)
Reaction stop l:gm.ﬁ ¢, (D) In equilibrium €[ A6E1 (C)
The source of galactose is-,| te Jur K sl
Ceuu;oseﬁv&’ D) Cotton § (C) Rice sk (B)  Fruits o3/ (A)
Chemical formula of‘mtric acid is : Pe Ul dl./ K 12 “"' t|8
NaCf (D) Hcl (C) HNO; (B) H,50, (A)
Percentag_e amount of argon in qir is : ) e dr Niir 14 J T U ixlg
4 0.03% (D) +2 0.93% (C) +4 2.94 % (B) 4 78.09% (A) |
- The general formula of alkene is : Pe Ul J 7. € (alkene) g,Cﬂl 10
C,H,, 5 (D) CyH,,, (C) C,H,, (B) C,Hypin (A)
A bond between Lewis base and Lewis acid is Le b kL s & #"FJ:J s A 11
Covalent bond %24/ (B) lonic bond ALEFT (A)
Metallic bond 22 (D) Coordinate covalent bond .~L...-=L:f._..f~ 7 u( (C)
Which one of the following  : < db $ Je u‘P sl L LS (’ L5 gl sz 2 dL 12
gas is used to destroy harmful bacteria in water :
Br, (D) F, (C) Ct, (B) I, (A)

213-024-11-(Objective Type)- 22250  (7488)
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Main component of natural gas is : ] r’ﬂ B’ Lff Juﬁ 1-1
Propyne L1z (D) Butane 2% (C) Propane ¢+, (B) Methane 2~ (A)
A disease that causes bone and tooth damage is : re Uk o J it N7 L Ul Ugs|2
Jaundice @bz (D) Cholera .27 (C) Hepatitis ui.%l‘!-_l-f (B) Fluorosis J*';;_vﬁ (A)
About 99% atmosphere's mass lies with in : e IRy #4399 L,,;"- ¥ L ﬁ"r”l 3
}'f:g 11 kilometer (D) ¥ 15 kilometer (C) /"-”-’:b/ 35 kilometer (B)Ar“} /"f;‘ 30 kilometer (A)
One of the following is a Lewis Base : . F‘{E u: R L e S Siza |4
ACt; (D) H* (© LOCBES®) Ny )
One of these pollutant is found in car exhaust fumes : : %Ekfgﬁ;f&b? l J 1 ..*.-;::,& Sy~ Sz |5
H, (D) N, © N\ 0; (B) CO, (A)
Matte is mixture of : P /iﬁ e /;{ & |6
Cu,O and FeO | Cuy0 J,lge@jfs\j | FeS and CuO | FeS 5 Cu0 (A)
CuS and FeO | CuS ij\FéO (D) Cu,S and FeS / Cu,S st FeS (C)
The Conjugate acid of HPOE*}\S:EE‘\:'V. P e el oJ7Z¥ ¥ HPOT |7
HyPO, (D) H,PO; (C) H,PO;” (B) POy (A)
Oxidation of alkenes produce : e U e f4T J /:,gl 8
Formic acid £2I.i/6 (D)  Oxalic acid A<If 7 (©) Giyeol JYJF (B) Glyoxal J 8¢ (A)
The organic compounds used as drugs to control Y O lrd_: JL';‘U,E‘:'Q/ 7y T{u”ﬁ f::af_ﬁisxfj,éjz 9
bleeding are :
Glycerides Jf’/:r (D) Lipids 74/ (C) Proteins ;a‘-'":{ (B) Vitamins #{s (A)

One of the following organic compound is found in ~ : & [l L o uf-'r-‘r fcil;r BT ._Q v J_j 24210
gasoline :

CiaH36 (D) CgHyg (C) C3Hg (B) C,Hy (A

Colour of iodine is : D K T
Red {+ (D) Purple L4 (C) Blue & (B) White 4&~ (A)

Specific heat capacity of water is : -SSP Siosr HugsS g S~ & (}_& 12

24Jg 'K (D) 24kJgT'K' (©) 42Jg7 'K (B) 42kJg'K

212-023-1-{Objective Type)-29500 (7485)
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.
Coal having 90% carbon content is called : : ‘;_ru.»ﬁj q_)._TLmﬁ:‘fFZILu,CJU'Aé 90‘,)1':}:.:(‘,)2 1-1
Bituminous Lf:'.:;;f (D) Anthracite <41/ ﬁ 1 (C) Lignite «&# e (B) Peat 2z (A) '
Vigorous reaction of water with --- shatter : %f/u:{ i § ,;_-’a"' WA d&..a?‘a t'lg::a.f?_}roﬁ:b’&‘f 2
(glass wear) into small pieces : 3
Silicon €k~ (D) Strontium (£3~ (C) Caesium £ (B) Sodium (£3+ (A)
Acid rain effect the aquatic life by clogging fish : ﬁ:&dﬁﬁffnﬁfkf/‘;:( JJJL} T)ux“fda:ﬁs‘uﬁc,f 24213

gills because of :
Aluminium metal (-'?:.]:' (D) Mercury metal d/ff (C) Chromium metal F;{(B} Lead metal & (A)

-L'_rl'r"--...-.". ]

One is a Lewis Base : r\\a D U |4
ALCt 4 (D) H* (C) BF_,,:E_,;_.@(; = NH; (A)
Carbon monoxide is harmful to us because -— : ’;‘g’,’._f < syl & o ST ¥ |5

It damages lung's tissue +&)/beﬁ£ Uraft (B) “iftpgalyjses the lungs 4'.&:/( Zvﬁ"ﬁﬂzﬁf (A)
It reduces oxygen carrying ability of haggp_dﬁ@ﬁﬁz la.&:fﬁzflhdld.w_.uﬁffd’u;{ﬁf (C)
[tf[ri_ﬁkes the blood coagulate 5.(1:{:: AL ;_-J.r:'._.f (D)

Identify that which product is used as ]etfuta«; A r:_t'xdb&'!{ul’ﬁd.r.’:;.;z ..tfi!.;Lru!:;.. Lﬁulfé’ =326

Fueloil JTU2 (D)  Diesel mlJTEJ,E‘f?C) Lubricating oil J’T.@g/:} (B)  Kerosene oil J’fcffs/:r (A)

lon is the conjugate base of sulpf;‘l]“}!é.;cid . 0 JE ¥ IS |7

HSO; (D) HSO; (C) S* (B) S0 (A)

The order of reactivity of hydrogen halides with alkenes is: ﬁ-__:.:}d'&,t{ IdJJJ,’»’!J_;fd’-uJﬂ.J L (Alkenes) /:‘JI 8
HBr < HC! (D) HC¢ > HBr (C) HBr > HI (B) HI > HBr (A)

One of the following is a reducing sugar : P )?* _ﬁg; S J: Jouar |9

Starch &.- (D) Sucrose J.va (C) Maltose J’\ (B) Glucose .:);{ (A)
In Solvay's process slaked lime is used to : P bl l_f Je1 "A J" S LRin i S J'/:,; ~ 110

Prepare quick lime -2 Jrtzlfui (B) Prepare CO, LLi pCo, (A)
FormNa, CO; . L./} Na, CO; (D) Recover ammonia & & bl» (C)

At dynamic equilibrium ---- e (e s e J @/dng LEI3111
Reaction stops to proceed < tlf...ﬂc..i-_‘.zf. Twﬁg IS, (A)

The amount of reactants and products are equal r;_dﬁ.f 'AJ'APJJG:{J:IMI Js (B)
The speed of forward and reverse reaction are equal & b:u'..f.:.;xb'utg \Sa oy 2u8150/6 (C)

The reaction can no longer be reversed tﬁuﬁiﬁgu_ ;fg;;ﬂ': g, (D)
Gas used for cleaning swimming pool : - 3.-:' Jlﬁ“l u’f 4. L Jb’w J J;_r_‘ L4112

Bromine ¢~32 (D) Fluorine a;,{;:ﬁ (C) Chlorine c;_';;! (B) lodine ¢/3¢ T (A)
213-023-I1-(Objective Type)-25000 (7486)
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will resuit in zero mark in that question.

The envelope of different gases around the earth is called :

AL (B)
Hydrosphere jf‘iﬁ:i'} (D)

Biosphere

et S ud LS Lo
Atmosphere Z-1 (A)
Lithosphere ﬁ"’ﬁ (C)

1-1

The sources of galactose are : Sy L jf!'-:{ 2
Celiulose J#s (D) Cotton /¥ (C) Rice sk (B) Fruits 73/ (A)
Red hair contain compound of : u" 4::- \§ J .f:i.f JL L ki or 3
Molybdenum ﬁdy’:‘ (D) Titanium H.x.’?,;.’? (C) Coppe; )\"( (B) Iron Y77 (A)
Which gas is used to prepare ammonia : Ldﬂdb*"lu’f duqu.ﬁd;bd’u‘f L4
S0, (D) ¢ty ©) 2 (B) Ny (A)
Whtc!: one of the following ions does not cause harglqe\gs : L-'UC‘:”Ju’-' 7% nef Thde LF TS s |5
in water : o)~
V' O _-50F © Mg®" (B) ca® (A

Dilute acids react with carbonates. {o ~ J' h;ﬁ-f.'f i:,;l.fu;hr;r,ﬂ.,}: E,g;#:{:/uf'g ISse VLJ%{JKJHI.:.’;:{ I3

produce the given product except

Hydrogen /.| (D) “Carbon dioxide @_‘-’MTJ'iuﬁ;B’ (C) Water d& (B) salt £/ (A)
Water has maximum density at : j'l?‘":..,,_“ - Jx 219 (3":"5 J dl; 7
100 °C (D) 0°CAC) ;. ‘= _4°C (B) 10 °C ()
Which one of the following is synthetic fibre : 5 : ’ & Al Lo 2 Sise |8
Nylon /&t (D) Wool 1. (C) sik & (B)* - Cotion /¥ (A)
The example of heterocyclic compound is : _ e |JL‘»‘ J ﬁﬂf ..ﬁ'.rl.rs 4|9
Pyridine /37 (D)  Cyclohexane of ,;«,b:f L (C) Hexane ¢/ /—a‘ (B) Benzene*‘df (A)
PAN stands for - |y ¥ pAN|10
Peroxy acetyl nitrate .:.;,F"tJJLt{.!J(T{ (B) Poly aniline nitrate .i.;}’tgfdld{ (A)
Polyoxy acetyl nitrate & ;-’tJ’u-'_id” ¢ (D) Poly acetyl nitrate &z Fb Sl 7 (C)
Which one of these is a saturated hydrocarbon : L e MY o Lol e U1
Hy, (D) CHg (C) CyHg (B) CHy (A)
Main cause of global warming is : fe 2 Sk d/ Lty J;{ 12
CO gas (D) C0O, gas (C) N, gas (B) 0, gas (A)

212-022-1-(Objective Type)-27500 (7483)
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Note : Four possible answers A, B, C and D to each question are given. The choice which you

think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

For a reaction between PCL 5 and - eyl K. il Lot PCLs = CE_ Ly PCLL |11
sz to form PCJE’Sthe unit of K. are :

mot dm’ (D) mot " dm’ (C) mot ' dm™ (B) mot dm > (A)

The new substance formed in chemical reaction is : e i & & § Ut SE JEL |2
Reverse v/, (D) Forward i/6 (C)  Product 2 ¢ (B) Reactant oAl iz (A)

Which ion is the Conjugate base of sulphuric acid : e B £Y Y i |3
HSOy (D). HSOy (C) §* (B) SO~ (A)

The functional group -COOH is found in : re bbb s ;;,'f -COOH 1?.:f Jedasld |4

Esters j/= (D) Alcohols Sl (C) Aldehyde ¥L§4k! (B) Carﬁniyilc acid 12100306 (A)

The reduction of alkyl halides takes place inthe ~ : ‘;_Jm(&@f;é}i!uﬂc‘z;_?wﬂijg&ﬁ)%u 5
presence of : AN | &

Cu/HCE (D) Mg/ HCY (C) g/’ﬁ“ﬂ;@? (B) Zn/HCE (A)

Alkenes are prepared from alcohols by proce;\%véwaﬁéd : ; ‘L-rigkc!g:-?f-u’:;{g/& P /:,ﬂl 6
Dehalogenation Pat EKB/,@' Dehydrogenation J%JE}U 3 (A)
Dehydrohalogenation ﬁﬁué}ﬂf{\@} Dehydration d?'.dﬂ.di (C)

Glucose is : HN R AE N7

Vruf E’)lf” (B) Hexahydroxy aldehyde X\ fs&!tjf T,,,j.:'p,? (A)

Hexahydroxy keto:-re«\.’ﬁ@:
Pentahydroxy ketone i u’r Tul’}b}g (D) Pentahydroxy aldehyde % i{v,fu/ ks (C)

Just above the earth's surface is - Lol AP LU S s
Troposphere /-.'i’;xﬁ (D} Thermosphere /i’“’r‘/? (C) Stratosphere 4% > (B) Mesosphere A (A)

Which gas protects the earth surface from ultraviolet : < § ;J;ﬁ"c.ufbﬁwulﬂff &fwﬁ';u—‘%’f 9
radiations :

O3 (D) N, © Co (B) €O, (A)

Water dissolves non-ionic compound by : ', S SeaSS 23 EE T Jg 10
lon dipole forces ;/;;U;'JJFEJ' T (B) lon ion forces /'a:"uf fcf T(A)
Hydrogen bonding ...fﬁg.g':uy} (D) Dipole dipole forces )—‘JJ{J!EJ{JH (C)

Matte is mixture of : P e g‘r & [11

Cuy0and FeO | Feo 45t CuyO (B) FeS and CuS / CuSul FeS (A)
Cu, S, and FeS / Fes »1CuyS, (D) CugSandFeS/Fes »#CuyS (C)
Formula of urea is : & b of Uk € Ly |12

NH,CONH, (D) NH,CONH, (C) NH,COONH, (B) NH,COONH , (A)

212-021-I-(Objective Type)-26000 (7481)
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

For the reaction ; E’mﬁr‘gu.fj_,‘((-'/;’d:g!é[_ N, @ 3H2(g} e 2NH,; (2) uigld; 1-1
N 20) T 3H 2(g) !._—"“"é 2NH 3(g) What will be present in the equilibrium mixture :
N,,H,and NH; | NH, ,, N, . H, (B) NHyonly | NH; _;» (A)
Hyonly [ H, i (D) N,and Hyonly | H, 4 N, _i# (C)
The colour of Hl is : e bn £ ¥ HI |2
Red {~ (D) Green ~ (C) Purple 7 (B)  Colourless £ (A)
Just above the earth's surface is : e bl A g AL Ak
Troposphere ,~‘G’u (D) Thermosphere ;"r/ (C) Stratosphere &% > (B) Mesosphere A (A
The formula of ethyl radical is : E\ 4. Ul ¥ J‘in .J’Lv"-l' 4
CiHg- (0) Gl () C,H=UB) C3Hy = (A)
The formula of butyne is : fkfi, > =l tee Uk ¥ tz|5
C,H, (D) CsHg (C) A\ S5CaHyo (B) C4Hg (A)
Substitution reaction is the characteristic of o)~ R N ed S K L6
None of these e te! (D) &‘rkyhyhﬁl ©) Akenes 7 (B) Akanes A (&)
Which one of the followmg is tasté‘ié%’ e b T b of & LU e |7
Sucrose J: (b)v Fructose J// (C) Glucose ﬂ’;‘ (B) Starch &.& (A)
Which one of the following is primary pollutant : - _f,ﬁ d/b; L uf o ,,,ts (2|8
H,C0; (D) 2 (©) H,50, (B) HNO; (A)
The pH of acid rain due to air pollutants become : : ‘LJ"gﬁ pH J._-,_f ;Mlc_.._mf JE:‘;[_I:«: 9
9 (D) 8 (C) 4 (B) 3 (A)
Which compound causes temporary hardness of water : ‘= B d A d;,;:’ 14 J-g Vi1ns v |10
Ca(HCO5), (D) MgCl, (C) Mg SO, (B) Ca SO, (A)
Which one of the following is a raw material for urea : '« J2 b & £ Lt ¥ & = U 0|11
NO, (D) N, (© €O, (B) CO (A)
Concentration is a : . e /V‘r 12
Boiling technique &1 (B) Mixing technique LELL (A
Cooling technique &4 (D) Separating technique —&_E & (C)

213-021-I1-(Objective Type)-20500 (7482)
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Lovena S éi L Jvp 63z 2L E 0D s C'BA Rl Jiry: o3

_b'x.pr:’ﬁv':?adfiu‘:.:.u'&’i_; 46_ <8 v f...),cfuufmt ::....f' - ‘:/‘:_g,rﬁLanﬂ:.dv A

Note . Four possibie answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Which one of the following is tasteless D e b bude Lo |1 A
Sucrose »~ (D) Fructose 757 (C) Glucose #¥ (B)  Starch /& (A)
Temporary hardness is because of . e S ;,:“55:[- d{,;} 2
MgS0, (D) Mg CO, (C) CaCO; (B) Ca(HCO4), (A)
You want to dry a gas, which one of the following salt you will use : d.. /(_a-f'..)lfv} d'.:.—’_./..aﬁ’fu‘f 3
Na, SiO; (D) Ca0 (C) NaCf (B) CaC {'2 (A)
Just above the earth's surface is : Af (?. £ Jﬂt e {/ J o~il4
Troposphere ﬁ"’ vs/ (D) Thermosphere < -’/ (C) Stratosphere £ J(%%B) “Mesosphere A2 (A)
When NaHCO; s heated it forms - & 514\@3,\%-._ ce ' ¢ NalCO, _2|5
Ca0 (D) CaCO; (C) (q 2 (B) €O, (A)

LY E

For a reaction between PCf3andC£2 U 7P ¢ h:;f‘fld,é_ﬁi_{-,, PC{gr_Céjgm P('f3 6

to form Pij , the units of K¢ are : Q\ %/\?J
mol dm® (D) mol ™ ,\dﬁu\,‘\()C) mol ™" dm™ (B) mol dm™  (A)
) e » ”~ af E -
The reduction of alkyl halides tahea:\(}\)tat‘,e in the : a:.'..dﬂuﬂg!:ﬁr’gd’ &= uf;_,fj.:u..»'-ﬂu":-: JJJLU::JW 7
presence of
Cul HCY (D) Mg/ HCF (C) Na/ HCf (B) Zn ! HCL (A)
Reactions which have oS EASEIS T S NS by B IS £ P A S 1 |8

comparable amcunts of reactants and products at equilibrium stale have ;

Very large K¢ value r__;.g_-i:nj::c.-.ﬁf&d: Ko (BY  Very small K value ?Jﬁd."‘:&ﬁﬂﬂ"’b{xt‘ (A)

None of these J.’fjf&.ut'.'gl (D) Moderate K value .;_Jnéymw«f K, (C)
Photosynthesis process produces : Lo bl J’f Z e @il ,.’5 +8|9
Glucose J#b (D) Sucrose J1.~ (C) Celluiose j¥» (B) Starch &, (A)
The ability of carbon atoms to form chains is called - : Ugcifq’ﬂl\;i.huﬁd"f:!wa 10
Condansaliond?‘ ;?J/(D) Rescnance V-"f,;:, (C) Catenation cﬁ.gj'{(B) Isomerism ('J/r;” T (A)
A reaction between an acid and base produces - i q_'ﬁiaﬂid;d?uépﬂxsﬁrﬂ_g 11
Salt and gas J—f:ﬁ_'JLv (B) Sait and water J;;:l..:)br (A)
Salt and base (F.sie/L (D) Salt and acid iZLs'2/L (C)
Specific heat capacity of water is e ‘-,.'L--_\-,-f o u’:"' J G& 12

24Jg' k' (D) 24Kig7'Kk7' (©)  4247'k7' B)  42Kk1g7' KT (A)
212-020-1-(Objective Type)-25000 (7487)
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Time Allowed : 15 Minutes (7:)‘151) L2 15 1 =N
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Lvl:?..-.-ﬂ.-c.pfuﬁhié.;é:.Lfcidlrﬂ{gé{dfﬁ u€iDMCBA -.'.:-Qlﬁ.'kac':d'r’,q ye 7
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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will resuit in zero mark in that question.

Which is secondary pollutant : &2 ..*.3':‘,' :_f.u;’-_c - df 1 -1
503 (D) co (©) o, (B) H,50, (A)

The reduction of alkyl halides takes place in the : ?Jﬂgﬂ&ﬁfuruf:. g,n‘.'d_’s,g.wcﬁ(é;‘,( ;:{u;ru"iﬂ 2
presence of :

Zn/Hcl (D) Na/HCI (C) Cu/HCI (B) Mg /HC! (A)
Which one of the following is not a fraction of petroleum : - .la.u.’.tf"':/J (f;;;d’df;. o J’._ Sous* |3
Kerosene oil f 723 (D) Dieseloil JTJz} (C) Alcohol S50 (B} Petrol Jix (A)
The unit of molar concentration is : A \“;f\-L b 2y K }".’Jr 4

mol 'dm™ (D) mofdm™ (C) mof dm™ (B; mof dm™> (A)

Which one of the following disease causes severe Ld‘nhﬂa@p(ﬂ.ﬂ KL/l;dJk;du:rc_ u:J‘ SVl )
diarrhea and can be fatal :

Jaundice @67 (D) Cholera =1 (C) D/ys@nhfy) L73 (B) Typhoid £t (A)

A reverse reaction is one : : PRV u"‘g 1§, Jug4]6
Which proceeds from left to righty .»_r;fgis..fw*’ha_fl.f (A)

In which reactants reackigi&d'n product L}'LhJM!LfJ'dJ B A Sl (B)

Which speeds up gradually<- t‘»s{@}f? (D) Which slows down gradually < F».> | 6.:..«-.? (C)

Which one of the foliowing salts makes the water permanently hard : < d.rt & 2 d J( u'fu} .MFL{ 7

Ca SO, (D) Ca(HCO,), (C) Na, CO, (B) NaHCO4 (A)
The water of crystallization is responsible for the : te Ml ¥ J( u'?-:? - T 2|8
Boiling points of crystals b’f’fg By #S (B) Melting points of crystals K™ ?g.,l?*?& S (A
Transition point of crystals §2517 Sl FS (D) Shapes of crystals ¥Jed )74 (C)
Lactic acid is found in : te Tl L 2 P |9
Lemon £Ust (D) Urine £ty (C)  Sourmik LamixniZ (B) Apple fur (A)
Which vitamin is fat soluble : Lee b uf 047 J!:'r < |10
B Complex u*% (D) B (C) K (B) C (A)
Wood contains carbon about . te bl b ¥ LA £ S 11
+ 70% (D) 44 80% (C) A 50% (B) 4 40% (A)
Formula of paimitic acid is : fe Uy K A .@J&_ 12

CioHy COOH (D) CsHy COOH (c) CsHy,COOH () C,Hy COOH ()
212-019-I(Objective Type)-25250 (7483)
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¢.C.,.-’£..:.-a:r'_.Ju:ﬁ‘:éé.:&b&d'r,:{(ébﬁ,}fﬂ -g,)je:é.: D.sCB'A ..-..gsz.-.ﬁgf.dlm SO

_B'xxr‘-'ﬂ._.«lﬁuﬂu-'&ﬂ‘d/i./’ 4 Jo¥ ! Lfﬂ,u;}buy:.._g _ﬁ'J/;-cELLL:Gf'JW&W
Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Lactic acid is present in : fe bl Ll A2 1
Sour milk #3322 (D)  Apple o (C) Orange Y4 (B)  Lemon Us2 (A)

Rapid growth of algae in water bodies is because : -‘L.{:;K ,Eaﬁ):}l(f&ﬁdl; .:._.:mf J;ﬁﬂfuj bedfesi|2
of detergent having

Phosphate salts /\-o4-6 (B) Sulphate saits Sl (A)
Carbonate salts Jdv-:ixﬁ' (D) Sulphonic acid salts ‘/:J Ladi byt (C)
Thousands of amino acids polymerize to form : ;J‘é..b;/‘;t 7 /t'g;.v-*!rLluyy 3

Lipids &' (D)  Proteins 5, (C)  Carbohydrates u‘ oy vy 1 (B)_:;\‘V:tamlns At (A)

In the lime kiln the reaction goes to completion because of - J,i?;&{}f&uf kst tdt Sz |4
CaCO; —> gqig

Ca0 is more stable than Cﬂcﬁﬁxrn(g" 3K Ca0 =ai§ CaCOy (A)
. ‘ﬂjf\\/ Ca0 is not dissociated (*5:¥ CaO (B)

r ;:/r ' Low temperature ,E/f (C)
@\;‘i‘v COZ escapes continuously Lﬁbxbd)’ ¥ (‘O (D)
The most important oligosac:dxarjdg*«}s.) L J:!;!.ﬁ!' r‘?' & |5
Fructose j#// (D) %ﬁ‘os& il (C) Sucrose »F (B) Glucose Jf¥ (A)
When Na HCO; is heated it forms : fe b Jes < be g r/ { Na HCO, - |6
Ca (OH), (D) €O, (€ CaCO; (B) Cca0 (A)
If the value of pH solution is less than seven it will be - 2 b'x_.,?ﬁf,;. ..:.-Lad'-s pH JJ}’J?! 7
A neutral solution ¢/}« (D) Anacid 42! (C)  An alkali ;pl (B) Abase 2 (A)
Pitch is black residue of : ‘e (waste) 2ol ¥ 7 € |8
Coal ¥ J¥ (D)  Coaltar ¥ stJS (C) Coke ¥ F (B) Coalgas ¥ /2if (A)
Dehydration of alcohols can be carried out with : : laaﬁ b J;L’Z— J( c,%.if ) FJ )‘ﬁl 9
NaOH (D) KOH (C) H,S0, (B) HCI (A)
Which one of the following ion causes hardness in water : : 95&#@&}5 S Thwde Lt o0sr |10
Fe** (D) Na* (C) 403+ (B) Mg (A)
The colour of hydrogen iodide (H./) is . e b K (H1) LT Sk |11
Blue I¥ (D) Colourless ..ﬂa-_ (C) Purple d’/ (B) Black sl (A)
About 99% atmosphere's mass lies within - P em 2R S L/ 44 99 L/’ ¥ Ul /r"’r'“l 12

£ 11 kilometer (D) #¥ 15 kilometer (C) /:‘ 30 kilometer (B) /"r{ 35 kilometer (A)
213-019-11-(Objective Type)-19750 (7486)
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f.__.l.ric.-ﬁsg;,’:us.iiréfé_;ﬁ.ba.dlr;/%fdu LD CBA Rl iy S

-{ﬁ;}‘-},&u.f’ﬁu!a(;_‘ufdii.fr 4; .r‘r:-'-‘l ! L—/{JU)JFJ‘L‘kJ&-«-{ -ﬁ:.:,éa-u"?]:.- JLJ‘aJ'S.ILV"d:w’
Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Night-blindness is because of deficiency of : :q_tﬁc.gstrJJ( st |1 -1

Vitamin D (3 ¢t (D) VitaminC (¥ ¢/ (C) Vitamin E §f /s (B) Vitamin A <! ¢/t (A)

Specific heat capacity of water is - . WL g xS d& 2
44Jg7'K (D) 44KJe 'KV (©) 420g'k' B) 42KkJg'KkT (A

Which one is also called olefins - e b A Lo |3
Alcohols #8i (D)  Alkynes 7§ (C) Alkenes < (B)  Alkanes 9 (A)

A disease that causes bone and tooth damage is : PeS L!’z;.g%...a 7L urfmiu;_’u’&t..ﬂ 4
Hepatitis u‘:-"BL#., (D)  Jaundice 6, (C) Cholera ,,A-f {B‘) Fluorosis J ™ 7 (A)

The colour of hydrogen iodide is : y ’:f‘:‘j.e/ ) : {_..f:vb’,?f!ﬁf T.-_-}’wiﬂ 5
Colourless -‘{J'L- (D) Red f_,/ (C) <V! 1 F‘ﬂrete J;.r (B) Orange fusl (A)

Depending upon temperature variation, aﬁﬂosphie \ /.:.U’Lfr"’u:/;i:(ff';.réﬁjf&ig,ﬁ/f/" 6

is divided into how many regions :

Four /& (D) Thréecf () Two s (B) One {1 (A)
If @ < K¢, reaction proceeds‘ : f&zgﬁgldx Qc< K¢ /’1 7
Reverse uf...,fxfé (B) Forward e T (A)
Both side iAUss (D) Equilibrium rffd}f I (C)
When glucose and fructose combine they produce : i gﬁlh?y_’;i i, 2 nl Ji;{.._.-e 8
None of these u’f Jfa.utul (D) Sucrose Js} (C) Cellulose ;s (B) Starch &/ (A)
Which acid causes the acidity of stomach : : r;_f-'t'_-’-iu’.:f.f ;.-*J}w;dlvuf 9
Hydrochloric acid .L-_'i....‘f«:&if*, (B) Sulphuric acid A2l (A)
Oxalic acid s 07T (D) Nitric acid S ()

You want to dry a gas, which one of the Z:L{/UL':"FJVQJL-_.- TG,J:J_'}C}JJ - :;t/.ﬁ‘-‘fu{.ﬂ__.- 110

following salt you will use :

Na, SiO; (D) CaO (C) CaCOy (B) NaC{ (A)

Percentage of nitrogen in urea is : : f;_meué Jd;:!f"l:d Ly (M
+ 66.6 % (D) # 56.6% (C) A 46.6% (B) £ 36.6% (A)

Which one of the following is not a fossil fuel . L e SRS Hegde S [12
Petroleum sz (D)  Natural gas A5 (©) Coal JY (B) Biogas u'—z:’i_. (A)

212-018-1-(Objective Type)-23875 (7485) Lip@ = IN- | | ¥
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Time Allowed : 15 Minutes (..;sfi/u) e 15 1 =

Maximum Marks : 12

12‘.;‘1}’/

ﬁ..,*:!:—fm;. Ju:ﬁ:&‘:é.:é:.hfdfﬂ::{géﬂﬁfﬂ -u_‘fﬁ:é_: D»CB'A ..'.rl_.l.al’.’;fxl'cdidlrf; Viaded

-{ﬁnjﬁﬁ-ﬁuﬁy-aﬂ‘ﬂr&.; ,é ok v di_./(‘;’!(u.lffln.!l_.};...é

Ty P TSRS

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book
Cutting or filling two or more circles will result in zero mark in that question.

harmful bacteria in water :
lodine 3¢ T (D)

Fluorine ¢7.# (C) Chlorine o7 (B)

Which one of the following gases is used to destroy : d.JbJJP'J!Lﬂg.Ld.ff’&ﬁén:uhlffufdk

Bromine ¢~sc (A)

1

Matte is a mixture of :

CuS and FeO [ CuS . FeO (B)
FeSand CuS | FeS » CuS (D)

:.;_/;: ( matte ) &

Cu,S and FeS | Cu,S .4 FeS (A)
Cu,0 and FeO / Cu,O

» FeO (C)

About 99 % of atmospheric mass lies in :
## 35 km (D) ¥ 30 km (C)

: c.rn;;rwu/ut #4599 [ Py s
KE AT kmAB))  <F 16 km (A)

Salt and gas s/l (B)
Salt and base (Zsle/v (D)

Sait and water J‘&J!J\:”L" (A)
Salt and acid A<ZLsi/L (C)

In the beginning the rate of reverse reaction is B -r_;':“:: ﬂ_t)"...gjb/d-{ ISaSug s llsr |4
Very fast Z=x (D) Slow =<7 (C) Negggible ?t.-f (B) Moderate <l»» (A)
Yo:.: want to dry a gas, which one of the following salt )'P'i 'Z_del.-v*f..ila L—uf._, |A.d./.¢.f.f-’f|fr 5
will use :
Na, Si0; (D) Na(,f qc) CaO (B) coct, ()
Dehydration of alcohols can be camedhm\wum : ‘L-Jﬁlg Jibifg_bddse;pﬁx:»’;dh{r":ﬁ 6
NaOH (D) <\ KOH (C) HCt (B) H, S0, (A)
General formula of carbohydrates is : PRy, ;-‘ii’u"‘:-zi'}iﬁ' i
Cn (H,03)n (D) Cn (H,0 )n (C) Cn (H,0,)n (B) Cn (H,0)n (A)
The density of water at 4°C' s : : dl‘_.[:lﬁ.j-’:;;;dk{ 4°C |8
4gmem™ (D) 3gmem™ (C) 2gmem™ (B)  lgmem™ (A)
The unit of molar concentration is : : {_‘.:.r'gb/g?-)-f”}f 9
moldm™ (D)  moldm® (C) moldm™ (B) mol dm™  (A)
Which one of the following is a fat soluble vitamin : : a:-_J‘Jr..*._-ﬁur‘ Boblde 2 Jiouur | 10
All of these (U (D) K (C) E (B) A (A)
in laboratory urea was prepared by L u:ﬁvu{;:u,ag 11
Wohler 4 (D)  Rutherford &4 (C)  Dalton o™ (B) Berzelius U5z (A)
A reaction between an acid and a base produces : P ;.J‘J'-/ ISailend En i |12

213-018-11-(Objective Type)-17750

(7a88) MR~ 10 =2 -1 &




:/:‘Uu

: Racat Objective
* bgor/ (P32 2)S /3-'{ Paper Code
k¢ 1248 w15 FBD-1-2Y 7483

Jflb«f..rl.ﬂw»;.;ﬁuﬁhf:éﬂbbﬁdlr ' Qﬂ}l.ﬁ -wéf.',.: DusCB-A ..:..U,g,:ﬁ;kﬁdlr 2| Ay
Kozl b fair ST, ASMET B Dot ~Gos A Bl TSI S 1

D C B A Questions / Uy A
!
| CusS CuS; CuS CuFeS; e 2
Formula of copper glance is: |
107.5° 104.5° | 109.5° 105.5° _ bnfain 2 J2 0|
. Bond angle in H;O molecule is:
| . by 4. - & !

! 1.2gdm™ | 097gem™ lg dm™ lgem?® | ; 'J”'.'"‘-J”LJ"'”L”' G J'jﬁ 3
: , The maximum density.of water at 4°C is: |
! ? AND) o]
! CO coz 03. 01 P ""[),-' :1'.:._ U!’Jbrﬂ!i.ﬂ 4

e

Formula cfnzgﬁ;) : N |

S " P / » I AL \ <:" - ]
7 Voo gy &> 41/ { Q\\\ :.;_mf,.ng;ul 5
{m'lies in: |

|

l <

Thermosphere | Mesosphere | Stratosphere | Troposphere 92_9/‘(
-

| C,7HysCOOH | C;yH4,COOH | C 4H4,COOH | €, H,,COOM 3-~>) o e U BN
| ‘7 \S[Formula of palmitic acid is:
: k by .a't"— _(:ffl
| s sLiee b ) - ’
i ;E_&:r l;i‘:’?'!ié‘ll Cﬁ-"t’y‘r , ; i,"': :.F_C}J:LUL’;JLJHFPU”[ 7
| lIonic bond ,b;ggcu Eﬁ'ﬁ“d‘; C\;B boig" A bond formed between two amino acids is:
[ - t Py S =]
i | < \15\) AL L0 (CH, = CH, ) 27
. NO Mg PN Na . PATT AN
| ~ The catalyst required for hydrogenation of
‘ | ethene (CH, =CH,)is:
| L'J'U” ! L}'glj.:‘f. 349 135 M ?k(JFkJ{éﬁulﬂgLﬂufu:U}Jlﬂ! 9
L Dalton Berzellius Rutherford | Wholer | Which scientist prepared urea in laboratory? §
| A o lJi"'. b H:-’—“f’&k-:-.ﬂ'-f.;::‘” 10
-r_ Grapes Apple Fats Urine Stearic acid is found in:
| Mg(OR), KOH AL(OH), NaOH fe-dniiupdwitsed] |

Which one base is used in alkaline batterics?

i W AN LS ¥
L 1869 1868 +1867 »1866  |Guldberg and Waage put forward law of 12
’ Mass Action in:

1017-X124-85000
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nuﬁwlﬁﬁwbﬁymymgﬂuﬁbmwr;{dfw -ULED 4 C B AR L g A
bl i L eSS SN St g oA 1
D C B A Questions / = Uly J?/.)
5 i ¥ »F e WA o 1
Maltose Fructose Glucose Sucrose | The most important oligosaccharide is:
CsHy, C4Hg C3H; CyHy fq_um;,jﬂmg‘uf 2
Which is a saturated hydrocarbon?
rars Uy EE edl el Bl AK| 3
Condensation | Resonance Catenation Isomerism | The ability of carbon atoms to form chains is called:
LLed? | P WiEle | S s ‘e bre A B | 4
Cleaning metals| o< b elik ¢Llik Acetic acid is used for:
Etching design | Making explosive | Flavouriggefood — 3 A
) §, . ! - f.‘:
ALCly H* BE; i[' B -f.li.\l HJ‘.’L\‘ ) [AY ) ?ﬁ'-‘f‘-"’éo)f 5
' : i is a lewis base?
A 4 . 4
[250,][0,] | [80,1%[0,] [2805] [SO; P A\C e PRI L L 50| 6
2S0 2 280,110 2 - ilibrium constant expression for the reaction is:
[250] [SO3) [250:][0;] | [s0,] [02]:3?\ e
CuS 41 FeO | CuzS s FeS | Cuz0 i FeO | FeS QUS| e & (matte) 22| 7
CuS & FeO | CusS g FeS | Cuy0 & FeO Fesj@\fﬁg/ Matte is a mixture of: )
,-.“ﬁ By . 7 [
| asoec 400°C e [\ oo - Sevelp LA NS | 8
‘ N\ M Crude oil is heated in the furnace up to:
e Rl BT i e Se bl Pe JHE A Aty 9
CaSOy Ca(HCO3); ’ﬂ‘hﬁeos N2y Zeolite | Permanent hardness is removed by adding:
oy R P
245g7'K! | 2.4k057 'K 5\12.!3"1(“‘ 4.2kjg™'K™! , : : :‘f"""é"“""ﬂ’dk 10
Specific heat capacity of water is:
Ay v Ay A s AUpALES2| 1

Troposphere | Thermosphere |  Stratosphere Mesosphere | Just above the earth's surface is:
..'c.t':r..f'm’-‘f;..gsg(u{ Jkﬁj;{»’(k 12

Normally rain water is weakly acidic because of
gas.

NO, SO, CO, SO,

1015-X123-80000 1 Z
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;gﬁ}):tfnﬁbjbﬂmvlﬂwn:.g#wmwrﬂ{dI’dlﬁ -ALED s C B AL L iy Ay
-&#abﬂkuﬁutwuyéﬂuywﬁh:khmﬁ -S4 1
i D C B A Questions / = Ul J?/?
L NaxCOy | LS Mo | Lptgmidigl | g CO, e beUENE 22 nd 25 I
L1 e bl (VL 1
2 el eLLS &L |InSolvay's process slaked lime fs used 1o
Form Na;CO; Recovqr . Prepaire quick Prepare CO5
ammonia lime
N el Py B 1%?L)UWfU¢ngfuﬁjfftﬂMLJ£{_.J{ 2
DNA _ The nitrogen present in urea is used by plants to
Fats Proteins Sugar synthesize:
Rz P P LT ;f_agwmg_%;&,m Aozt A 3
Bromine Fluorine Chlorine lodine | The gas used to déstroyharmful bacteria in wate ic:
()7 . o O
CaCO; | Ca(OH), | NayCO; Ca0 A S A 2|
Tew ardness is removed by adding:
i 7 @S Y .g%ﬁ.ﬁf}::-J.;;L}T,ﬁf,o_f!ﬂ&ugzd’-'mmwm 5
b /\_,-I (s) ¥ M l. . ﬁ I'l ."
Almmn Mol | it LcadmctaIJ i- o mr?m affects the aquatic life by clogging fish gills
(7, P ,
| A endiarsd| s
! 2 3 b \ Depending upon temperature variation, atmosphere is
i A OM divided into regions.
¥ nF J:Jx}.' :ﬁﬂ) (o e ‘et JZ ¥ J;I:?;’ 7
Glucose Sucrose Géﬁﬁlﬁl( ' Starch PHotewynthesis process produces:
. al N S’
-kﬁfj\’ fd&:@ ﬂr‘;ﬂ);pl.f(octane) ol H(aikane);-,cqq}? 8
CgHyg CgHyg CgHyg CgHg The melecular fornmils e blell 2
t';ﬁhe eighth alkane member, octane found in petrol:
77 27 T /SN . e /G| 9
| Coal gas Coal Coal tar Coke | |Pitch is black residue of:
S yEINTI sl QLI If ) . >3 Be u—f WSalend s AL 10
| Saltandbase | Saltand acid Salt and gas Salt & water—- ;@Ecﬁon between an acid and base produces:
= N N 302- :4;.;,(?_*4}’ K¥ia S| 11
= HS0;3 ?_2 . The conjugate base of sulphuric acid is:
r"_l'nf@u"r..z g_tmfz:;#‘r:ﬁ (.f.!l.fﬁ& LS L I?G_-.Lf 74 :%uuﬁ(ld.n,)},f; 12
Which speeds | Which slows | 1}, £ J£ 4-Enlheile | A reverse reaction is one:
up gradually | down gradually Sk Which proceeds
II.'.I-WhiCh left to 'ﬂgh'l
reactants react to
form products
g
1016-X123-68000 v/
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awsﬂﬂﬁbﬂzm@uym.ptu:;vbé{.az.bﬁdir“ql’dtz ~BELED 4 C B AL g
Ear A AR d S S S SN L Sl st .7V |

A
1

D C B w-;, redo . Questions / = lly 4#/?1
- = N I, < ZL0 Y g
el I QNN T s g e 1 |
Formic acid Glyoxal Glycol xalicdcld  {Thb énd product of oxidation of acetylene is:
P | R Py P Se bl Uh /e 20| 2
Deh
hllogm}mnﬁon Dehydration Dehalogenation | Dehydrogenation :;ﬁ;gfs wre prepaeed fomalcobols by a pracess
PR »0 ST HA SN fﬁ-_ﬂ,ubﬁc}( -COOH ,__,,fj’a 3
Esters Alcohols Aldehydes Carboxylic acids | The functional group ~COOH is found in:
12,61 1231 1.397 1.698 Te-{ POH f/)-0.0M L Ca(OH) | 4
What is the\POH of 0.02M Ca(OH); solution?
it P g uintins Ju”:h{ulg”'gldi axlifhg | 0)v Ll b e s
o |etraetehr | plengas | crpde At dyniamic equilibrium: '
The reaction can | The speeds of the|  The amount of The reaction’. 1. |
no longer be forward and reactants and stops to progeed |
reversed reverse reactions | products are equal A
are equal W
ctrglunz | etnzTGunr |08 SRt ] (EDE L |2 ) ,\ 6
Whichspeedsup | Whichslows | p2 kU LA D) "2ttt | A reverse reaction is one that: L e
gradually down gradually | 1n which reactants' | Which proceeds
rtacu%@:ﬁm from left to right
Hrodyets
OB BE | oudl [CpuldY | pudi e bW LS8R 7
; N\ . .
Magnetic basis | Wetting basis | Concentration basis | Density basis 5:2 té'.ni:]otatlon RO VAN Mo E
LLiuNC03 (L LE SN vpr| L LE St | L L Jip CO, e belUe Il T g nd 2 Ui dv| 8
Form NayCO3 |Recoverammonia| Prepare quick lime | Prepare CO2 |1 Solvay's process, slaked lime is used to:
Sy o Wiy s e Forfirfbsesy| 9
N Which disease causes liver inflammation?
Hepatitis Cholera Jaundice Typhoid
. R} A S AT AR,
3 2 co €O, Which gas protects the earth surface from
ultraviolet radiations?
e e LU AASL A bt beclts| 1
02 and CO; | COz and N; Nz and O; | COz and H20 Infrared radiations emitted by the earth are
absorbed by:
oA i [t ud Tk |k < i¥| 1
Pentahydroxy | Pentahydroxy Hexahydroxy Hexahydroxy Glucose is:
ketone aldehyde ketone aldehyde )

515-X121-70000
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;WM}DNM*RMMJUJ}b‘f{.ﬁ:W:dlr,r{l,!fdlk -ujlﬁé-:[) # CB fAﬂeiMk&JrA

v

-fmr‘%lﬁuﬂ;ﬁwﬂf LISl S furmpetl A 1
} D | C B A Questions / =y 1‘?/.2
l CuSand FeO | CusSand FeS | CusO and FeO | FeS and CuO o A (mane) 22| 1
Matte is a mixture of:
, NH;coﬁH, NH,CONH4 | NH,COONH; | NH;COONH4 . ‘e Ur/iklsg| 2
Formula of urea is: |
bz A vtl g ?q_d;mf); Sen il UFlygs| 3
Jaundice Cholera Hepatitis Fluorosis | A disease that causes bone and tooth damage is:
A o 2Tk | STk S e2bf iUl | 4 |
HaS04 CHy CO, SO; | Whichis asécondary pollutant? |
co o 0, 0, A (,\ i UG dl } 5 /
| Formula of ozone is: |
BA »F 3 Y4 F’\‘“ 2% o ¥ L; JJ:‘U/ / é |
Starch Sucrose Fructose Gluf:ﬁsc_/ Which is a disaccharide:? i i
B g Onthard /Pl 1 \
Cu/HC! Mg /HCE Na/HCE {0 \Zn/HCL  |7he reduction of alkyl halides takes place in the
~L\ PV presence of:
PSS | S SERLT | SEAG | b e Al st P (alkenes) 2| 8
! Ml;d'yd".’m Dehydration _l.\nfﬁ}l\lbﬁgsﬁﬂﬁﬂ" Dehydrogenation | Alkenes are prepared from alcohols by a process:
| ‘e Ui l’ﬁf-.ﬂfﬂl 9
H H Hap-2 CyHzns2 < AL
Golizn GhHz “akig g General formula of alkyl radical is:
ALCl; I NH3 B, te sy | 10
Which is a Lewis base?
S Lo i B LSS 1
Charles Gu{:rbcrg and Boyle Newton Who put forward Law of Mass Action?
ange
3 3 3 | 3 BAEE | 12
il oo ol e i Lo Units of molar concentration are:

516-X121-58000
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Time: 15 Minutes Group:I OBJECTIVE ... ..rsf :lr' L 15 1=

Marks: 12 . Code: 7483 ny - f-—-),!j " 12 : %
L T Rene gy L éselLL Jir 2 £ Qb" Iz -t :’:r_; D

#CeBA iz J;b&dlr O
w1 4k 2 0fd o HJ"JLI.‘IHKLL;{ fu:/b .

-Ii

-10

1. 1- Which one of the following is found in st i o fi' fancu e
gasoline? fe bl L U2 J,‘fw’;_ L i
CiaHye (O) CgHyg (C) C;Hg (B) CyH, (A)
2 - Which one of the following is a reducing sugar? e f;_{;:fg,g, u";".-_-- S d_'jﬁ,.u
starch .t (D) sucrose s (C) mattose A (B) [ glucose i (A)
3 - Which one of the following vitamins is water soluble? ‘e Sy .f;/, W e £ S
Vitamin E o/t (0) Vitamin D ¢/ts (C) Vitamin C ¢/ts (B) /’ Vitamin A ¢t (A)
4- Water dissolves non-ionic compounds by e b e G’.— PR ds JEIS T d‘-
lon-dipole forces 7 J{J}LJT (B) ion-iopy 'forces 2 STGT (A)
hydrogen bonding £ 1%} (D) dipoie-dique !orces )’;;U.:JU_J;”&J;? (C)
5- Which gas is the cause of global warming? P \%JL K Loty BT Y
0, (©) NO, () 3@}}9} = co, (&)
6 - Rapid growth of algae in water bodies is because of o "‘}‘ N H"v Cu* J”'}; <l 2 Jm’s)’,: = dL JJI
detergents having 6 > Ut Lxt iy u"JLr B A0L
sulphonic acid salts u“’L—MFJ.d’-' (BN 1 \ carbonate salts u"u—_,_-,f.au’ (A}
phosphate salts b\(\m') suphate salts ujt—.:;iL- (C)
7-  Acetic acid is used for & b St da) G
making explosives @;I & (B) flavouring food 2 & 1505/ S5 (A)
cleaning me!atsﬁ%f il SR (D) etching designs é.}_f kx .ff:':f (C)
8 - Halogenation of methaﬁe\&)es not produce b e o Ju:’:
chloroform (/6.8 (B) ; carbon tetrachloride L4 ik (A)
chloromethane yE."l';J)K (D) ‘ carbon black --gw:ﬁ' (C)
9 - About 88% of atmosphere's mass lies within _zf<m. ~& 8 L KK —JL99% K A
11 (D) 15 (C)/ 35 (B) 30 (A)
10 - Which statement is not correct about active mas‘é? e K E A LU\ A Wk g
rate of reaction is directly proportional to afiﬁve mass < b .J%;.-{ ngm Lt LI FJ{ g (A)
active mass is taken in molar copcentration et .;.J:*chﬂ }*“:Jffui.}.r 1(B)
active mas is represented by squdre brackets c}-’r"-_vk’irﬂ;ﬁ-&fﬁf’ﬁ K1 (C)
active mass means total mass ¢f substance ..LJLJJKE.JIJI,/L JL}..C (D)

11-

The product of Lewis acid-base reaction is called adduct.

The bond between the adduct specie is
covalent 2k (B)

co-ordinate covalent wsksy o4 (D)

12 - Natural gas is 85% methane. It is used to make

coke (B)
coal gas J-'!:J/ (D)

117-(I1)-15t A 224-86000

el U e lhie R U2 bl
e bk il

jonic  E£T (A)

e (C)
..Ia.‘l;'tc:..-q_ QC;:BS%JKJJJJ;}
carbon black fei/ ¥ (A)

A&JF (©)

metallic

coal tar
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CHEMISTRY Paper: II (ﬁ: U II sk dﬁbﬁ?) 1stA 223 - (I) I 24 ,_5/.*..-,,/
Time: 16 Minutes ~ Group:I OBJECTIVE - Gé z/( be 2 15D
Marks: 12 Code: 7481 o) —/— 12&‘.7?

L Lf"....-ﬂ:c:..bﬁu:ﬂ:éi-:&bﬁdfr;féb'df? ..L,#-‘.‘_‘LJDJJICI cA-...-Ll;".ler[.dlr; HO%)
K ¥ 1l ..,.al.?u:& -....»:‘J;‘_.f.g HKLL;.{,ILJJJ’]JULJQJ 'cf‘.':/a..u’l..ft fub,ahf‘u'&f

1] Jgs -1.1
Sz @)

1. 1- Areverse reaction is one &0
which proceeds from left to right o bt b ot LI
in which reactants react to form products f Lt u‘rh; a1y

which slows down gradually : e =Tk 2 (C)

e bt 2 Guk. 2 (D)
o oS f¢y HPO, -2

which speeds up gradually

2- The conjugate acid of HPO}, is

H,PO, (D) H,PO; (C) H,PO? ( PO? (A)

3- Chemical formula of sulphuric acid is G Ursl JH’E’H!J:E" -3
NaCl (D) HNO, (c) Cl (B) H,S0, ;)

4 - In laboratory urea was prepared by WAz by & e S LS -4
Dalton gﬁi (D) Berzellius J‘-de..: (C) Ruthefford 3.9 (B) Wholer s (A)

chre AT -5
L ayal JTTEE ()
upualrc acid 40177 (€
;r‘/;\/ :;..J.l;';g:lfl.g;__q -8

6- Oxidation of alkenes produces
glycol J/d€ ®)
formic acid A< 06

6 - The most important oligosaccharide Is

maltose J#L (D) ,gigjcase\ ¥ (8) sucrose 1/~ (A)
7 - The structure of iron and steel is damaged by T :(.; N ,'.. g & d}f o e U 28l J LJ:"’ dgsT -7
sulphur dioxide jﬂ )~ carbon monoxide L/ Tovwik (A)
carbon dioxide 23 methane 2 (C)
8- Just above the Earth's surface is / _ OV e Az gl ALt S -8
8 Q&phere A%y (B) mesosphere #3% (A)
X @i{&:ﬁoépham ﬁ";:) (D) thermosphere _#%# (C)
9 - Temporary hardness of tér is because of & J.n = 2 v {_,"-:54 d{/;} J s -9
MgSO, AD) MgCO; (¢ CaCO, ) Ca(HCO,), (@A)
10- A disease causes one and tooth damage is o Ukl & S in CAFL Pl 9l Jgs -10
jaundice /vty (D) cholera .=t (C) hepatitis g,r""eg, (B) fluorosis U8 (A)
11- The nitrogen present in urea is used by plants ot ZSJe L G g o flanr S L ey - 11
to synthesize
glucose ¥ (D) fats ¥ (C) proteins by (B) sugar /% (A)
12 - Formula of urea is e UK Ly -12
NH,CONH, (D) NH,CONH, (C) NH,COONH, (B) NH,COONH, (A)

116-(T)-15t A 223-95000 &
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Time: 15 Minutes ~ Group:II OBJECTIVE 7 2R ( PYRN L T )
Marks: 12 Code: 7482 éy ~2-23 12 :y.

Lotena fumdérerldvz ¥z . L&D sCB:
Koo e 2 i S e S LS LSOV LS LS o wli e LI

Uz <0 e £ Jiw 5 129
-c..c,{FLJCL S odly Sl b~

1. 1- When the magnitude of K¢ is very small, it indicates d.):‘;'“.a_w in f.:.( &y Kee2
equilibrium will never establish € r"ﬁ' d'r d 21 (A)

. all reactants will be converted to products L '(_' nJXL u”?f:.; 15 r[? (B)

reaction will go to completion i s Nt 10 (C)

the amount of products will be negligible o Fepre § A5 (D)

2 - A saltis not composed of b L2 2L
non-metallic anion fk! It (B) a metallic cation /& @ (A)

an anion ofanacid  fkI¥idl (D) an anion of a base Fk!¥UZ (C)

3 - Water of crystalization is responsible for i & sl S S STH
boiling points of crystals ¥ S ?{ By £ FS () iting points of crystals K’J"{g el FS A
transition point of crystals ¥ .1y Fr L s D) / shapes of crystals ¥ e #s (C)

4 - Main component of natural gas is & 37 {ﬂl b’u’%r I:;J.:’
propene ¢fsz (D) - butane Ly (C)I,-'f propane ¢ (B) methane g,r.';r (A)

5- Halogenation of methane does not produce ' o7 .tig.e e S S ;_;E
chloroform f.ttm:{ {B) carbon tetrachloride .?Luﬁ}."uc_:b’ (A)

chloromethane o5 / /(D) carbon black Lk (C)

6- Fat soluble vitamin is / AN U S o
all of these (17, (D) K (©) E (¢ N2) A (A

7 - One of the following is not a green house effgct wdﬁ JH u:z"c- s .J’: (o)
incréasing atmospheric éelh@etaﬁ:? SUl 2 AL (A)

increas f chains Sl 4239 (B)

d?wmaafr(g flood risks Ul Ut el B L ik (C)

,ﬁﬁ \increasing sea-level set it o)

8 - Carbon monoxide is harmful to us becapise \ N\ { B - el L o la JAST I
it pe I@gp‘tﬁe lungs - G S e S Ui (A)

it damagies lungs tissues e &L IBL s, (B)

it reduces oxygen canpnqml of haemoglobin < Q;f{f.ﬁﬂn JJ_.lp > u’{l Jgﬁ;‘r‘fﬂ (C)

|I\rnakes the blood coagulate e Oue AL w#+ (D)

9 - The property of water responsible for rising of water J &z L G& AVE = J JE
In plants is G HMrur

sublimation ;_ﬁ-“'k (B)

capillary action cr“-lld;?’ (D)

10 - One of the following gases is used to destroy harmful
bacteria in water
bromine A4 (D) fluorine ¢/4* (C)
11- Concentration is a
separating technique F £t « (B)
cooling technique  EF_8f (D)
12 - One of the fractions is used as jet fuel

lubricating oil JT.B£7 (B)
STz (@)

diesel oil

117-(D-1st A 223-86000

specific heat capacity ;,ﬁ/ g S (A)
excellent solvent action 41 24/ e A (C)
AL LT PG Sz £

& JE- § Jit
iodine ¢/3¢T (A)
e LR
mixing technique ...Q-‘-"' LL (A)
bolling technique ¥ #13 (C)
& Gt Ju1 Jid w2 o 5 2
kerosene oil JTetid (A)
fueloil  JTJ (€)

chlorine £ (B)

&
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Paper: 11 (Ut e JEGLE) 222 - V)
Time: 15 Minutes (Group:I) :

Marks: 12
L SR e B Ussl)
a_bf}'f J?'a .!Ill.? L..-fi.". DJ)CE-

LA S s 5k e
L. 1- "Infrared radiations emitted by the earth are absorbed i 2 f?'d‘!:.-'l..-"/;’ Uhintbe 2 1.1
by _ " dn
Nyand O, 0, w N, @ CO, and H,0 H,0 .4 CO, ()
O: and CO,  CO, i O, (©) CO; and N, N, . CO, )
2-  Pilch is black residue of : u sl £ .y
coalgas ¥ Jf (D) coal & (C) coaltar JtJS (B) coke S/ (A)
3 - s a saturated hydrocarbon. Y £ B
CHa (@) CiHy () GHy @ . CH, o
d - is nol a fraction of petroleum. e et SEs__
petrol itz (D) alcohol Sfi (€) dieseloil STl (B) kerosene oil T e23d (A)
5 - Water dissolves non-ionic compounds because of _____ < 20 fjj:fléf,_fffut L!'L 8
lon-dipole froces 7y Ji-fT (8) K {\[) ion-ion froces e/ T- T (A)
hydrogen bonding £\ kel ( Q&; ipole - dipole forces 9y &3 -.J;,'Jl; (©)
6- _______isasecondary pollutant. r}‘}@/ B 19 2 (B
ammoni@f (B) nitric acid A2t S (A)
oxides of sulph é;\%?f.{; A (D) oxides of nitrogen J¥LTL (44 (C)
T- ____ salt makes the w anently hard. D S Y DO IO O TY o PR P
Cas0, Ca(HCO,); () NaliCO, (g) Na,CO, ()
8- For a reaction betweén PCl,and Cl, to form PCl, ZKe ot g & d PCl< Cl, »PCl, -8
the units of Keare U St
mole dm® (D) mole™ dm’ (C) mole ™ dm™ (B) mole dm™ ()
9-  ___poliutant is not found in car exhaust fumes. -ble Ll u.'-JJ ‘;.-:r._-,r-rfl J;KL_.:_:':L I
SO, (D) NO, (c) 0, (B CO (a)
10- _is a synthelic fibre i 0 e 1
silk - (D) nylon @kt (€) wool Un (B) ~ cofton ¥ (A)

i 1 is not composed of sall. _b U DL -1
non-metallic anion ! Myt (B) a metallic cation o/ (& (A)
an anion of an acid  JLIKLd (D) an anion of abase kI¥ud (C)

12 - Deficiency of vitamin D causes _______. e Foed___ < Sffove -2
scurvy Ui (B) rickets & » (A)
night blindness -frl} <t (D) anemia in babies LM Uf (€)

116-(IV)-222-101000
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Marks; 12 QUT- G2 Code: 7483 12 3
Cotenc fumdérell Jrred¥diz .2 £4D0C B A Wz e & i s :n
Kn s R s f e SETLT NS L S st e L. Ffa BFLI L ot 3 Yo
1. 1- “When NaHCO, is heated it forms ¢ be kg le b Vp/Y NaHCO, 2 -1.
Ca0 (D) CaCO,; (¢ Ca(OH), () CO, ()
2- Concentration is a .n,'..Lﬂ}“r -2

separating technique L*.2 « (B)
cooling technique 5/ (D)

3-  Which one of the following diseases causes e J*“vt’;brgf/;wbgffgdijgﬂ -
liver inflammation?

hepatitis u-‘-‘rg_f )] cholera .xr (C) fluorosis 7.4 (B) typhold Xt (A)
4- Qzone is beneficial for us as it e d iaen
absorbs Infrared radiations e L SRS LM A
absorbs ultraviolet radiations < ./ /AL LK (B)
absorbs chiorofiuoro carbons e 0 i kb ()
absorbs air pollutants ¢ 0/ ir S S Lin )

6- About 99% atmosphere's mass lies within
35 kilometre X35 (B)
12 kilometre ¥ 12 (D)

6 - Which one of the following is tasteless? ..\'-"‘”'-'- fe i Ufe £ Sipun -
sucrose 1” (D) fructose 57) (c; " glucose ¥ (B) starch §& (A)

7-  Dehalogenation of tetrahalides produces acetylene” | ¢ (F (Acetylene) 2t = oAy it -
this reaction takes place In the presence of N \ ¥ fe b £ LG!!’ Lfr/r.:- 74 tb.,ur.- ufld..._,
zinc méta JUJ (B) sodium metal J2fr (A)
potasslum mgw SRy © magnesium metal ¥ mieile (C)

8- Dchydrlﬁonnfaluahulsunhe out with e Fed AL & frpe Kyt § o0
HCL. (Q} H,80, (¢ KOH (B) NaOH (A)
9- Identify which one ofth-i ?adomg compounds Is a ketone? e uH U IS s puier 2 32
(CH),CHCI ©  (CH,),NH (o (CH,),CO ®) (CH,),CHOH (a)
10 Ifa fiquid has-a pH of 7 then It must K InpH7 S
be a colourless and odourless liquid Ot Ly (A)
freezes at 0°C and boils at 100°C /£ 0°C . (bol) fix 4 100°C (B)
be neutral J® (©
be a solution containing water H 0 )
11- Which one of the following statements Is incorrect Yo U en g U e L Sl FPL 10 260

about active mass?
rate of reaction is directly proportional to active mass
active mass is taken in molar concentration
active mass is represented by square brackets
active mass means total mass of substances
When a system is at equilibrium states
the concentration of reactants and products becomes equal
the opposing reactions (forward and reverse) stop
the rate of reverse reaction becomes very low

—
=]
i

16-(11)-221-95000

mixing techniqus FEC (a)
bolling technique ¥ &1y (C)

e r LUl LT b

30 kilometre *<¥30 (A)

15 kilometrs X<¥15 (C)

A Y

& b P P35 £ i e ¥Siss )

& te Yk e § X P fn K (B)
& e ab i e S (0
NSV e i (D)

e b & 2o f 201 Al a

& Ot .2 P Plog d‘ﬁgkff (A)
ot Zle S (st 30 215, S (B)
e bent ot oc ¥ it (Q)

»
Lilial
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Time: 16 Minutes (Group: I) Objective (%> (2 1) Lo 15 13
Marks: 12 Code: 7486
&

MR e e L Ui & P P Jir 4 £ Ql’ L}f?.
..f.ﬁ .i!‘-’ w h'-f‘i-‘ liﬂ tﬁ

1, 1. Formmulaofureais

NH,CONH, (D) NH,CONH, (C)

Which one of the following disease causes
liver inflammation?
hepatitfs u-'"n; (D)

i

cholera .« (C)
3 - Acid rain affects the aquatic life by cloging fish gilis
because of
chromium metal S,/ (g)
aluminium metal 2 €% (D)
4- Temporary hardness is because of
MgSO, ()] MgCO, (C)
5.

Which one the following is reducing sugar?

starch G. (D) succrose /F C)

6 - Thousands of the amino acids polymerize to form

vitamins #ts (D) lipids 33'(Gh-
A

7- Alkenes are prepared from alcohols WR\B

~L

dehalogénation %%

dehydrohalogenation Ak,

8- The strong heating of coal in retorts in absence
of air is called
sublimation u’-‘d’ (B)
destructive distillation

9 - The product of Lewis Acid-Base
The bond between the adduct specie is

covalent wky (B)
co-ordinate covalent 5 wsk o237 @

10 - Dilute acids react with carbonates to produce the
given products except
water (i (B)
hydrogen ., (D)
(A13.

-ugé.ﬁ_:DmCaE-A;pﬂ;ﬁ
2SS NS L oy e o 2,

NH,COONH, (B)

jaundice (5,

Ae bl

- U ¥ Ly

e For CUir S 6 o e [TV ST

) typhoid Xyt (A)
Z /s b"&uéf.f-‘l.%zru:q;m

e 0 e g
lead metal Y (A
mercurymetal J2ir (C)

({é@kﬁ.\a SV A 6d
Csﬁl?ﬁ(é{ Ca(HCO,), (a)

N ;: f’ e pC -.E-zai.f d'irc L df_ibu

; @m’u M ®) glucose Jff (A)

~—

U Lk S A Ry Yo

~ proteins ;i‘!:{ (B) carbohydrates u;u.;ﬂ.:;b’ (A)
scalled ¢ =L Ny e 90l (Alkenes) sush

e
dehydrogenation /*%,i255 (A)

dehydration %5 (C)
Lfrf,; ,Z-/{.np Y. Ju?.frx S
xS

fractional distillation ¥ %3 (a)
roasting . (C)

MO oSy S o2 2o

. fe b
ionic EFT (A)

metallic > (C)

Lianie £ S8 2 A2 0503
Sk u‘!‘; _‘/}s.; Ule (0=

sat &b (A)

ca?bon dioxide ST ¥ (C)

12 :UJ.:I.

Jk L J*r;,' HO%
b o S Je

-Oe

-1
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e Fr FLAG e L diowr -1 .1

AR F e Ly

dysentary JF (B) jaundice i, (A)
Which gas protects the earth from ultraviolet radiations? fe J‘: Ve ﬁldé ;..'J'!:Iﬂif C'J d:hﬁr Lf'f
O3 (D) NOy (C) SOz (B)

3. Pentahydroxy aldehyde is also called as -e th T

sucrose 1~ D) fructose Jr":?' (B)

Chemistry (New Scheme) Paper: 11 (fq-‘ uml'né‘ik dﬁ@j?) 219 - (I1I)
Time: 15 Minutes (Group: I) Objective Lﬁ/‘

Marks: 12 Code: 7485 /
Lotene Lumdérevlryy ¥z . p LD HC B A Y2 F
RV -2 05 9« -‘:-JJ"JL;{‘: f,_t,,y’l_, J_fr.; fu:.?b ke L

1. 1- Which one of the following diseases causes severe

diarrhea and can be fatal?

typhoid X'use (D) cholera .»z (C)

)

-

COz (A)
PR {MHY gf'f.-.'s'ws. -3
glucose % (A)

starch =& (C)
1 - General formula of alkane is

-< U6 J 2 € (Alkane) u.:pll -4
CnH2n (D) CnhH2n+1 (C) CnH2n-2 (B) CnH2n+2 (A)

5 -  Which one of the following is a Lewis base? ﬁ%{.’ e L Sizae -5
Alcls (D) H* (C) = NH3 (A)

G- For a reaction between PCl3 and Cf; to form PCls a8, & i PCls = Cly s PCly -6
the units of K. are %{ 3 vl
mol dm3 (D) mol-t dm3 (€)./ E;j) mol-1 dm-3 (B) mol dm-3 (A)

- Matle 1s a mixlure of

= AV (Matte) = -7
CU20 and FeO (B) FeS and CuS (A)
S AT LS P2 oS e 2

/‘_‘ \
O
Cus and FeO (D) CU;S and @

(€)
8- Which one of the following gases 1:\ o destroy
~{

-8

harmful bacteria in water? £ e (_.5(3 S
bromine s (D) Mrine g4 (C) chlorine c/_u"l (B) iodine /iFT (A)

9 - Deficiency of vitamin-D causes disease. - GL? » JU Gk & J J D-Jt -9
rickets $edEr (B) night blindness (237 w4t (A)
hepatitis 6, (D) eye inflammation u’-rw!'- Jurf T (C)

10~ The reduction of alkyl halides takes place in the presence of e (s 2 f2r § 5 S ikie S - 10
Cu/HCL (D) Mg/HC! (C) Na/HCI (B) Zn/HCE (A)

11 - The natural source of formic acid is -& Fl Ll L i Qb 24 06 -11
sour milkk sz (B) citrus fruits ¥ U2 (A)
rancid butter d'( ¢t (D) stings of bees 3 uzﬁf,a?‘ (C)

12 - Reactions which have comparable amount of reactants wiisdSil ) (2 b ' EJSE1 2 o 2508 &l -12

and products at equilibrium state have
very large K¢ value < &ndza-;ﬂésd' Ke (B)  very small K. value <~ Jﬁd:‘,’:..-’ .é-'-! JKC (A)
Ke=0 (D)  moderate K¢ value & (o diwsts § Ke (C)

//:\f.l(.-_‘ s /

Sl Fus 06 s § u‘(h,; 2

123-(I1I)-219-78000
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Chemistry (New Scheme)  Paper: II (r’-': JIII b LJ!‘UJJ-’?) 219 - (I11) I 2y ((-"i) 6/-"‘-{

Time: 15 Minutes (Group: 1I) Objective (5> (g2 1 p3) e 15 123y
Marks: 12 Code: 7486 12 : %
¥ S

“Wenae Lumd loel Jr, { Qh’db’: -p_"a".’*_(f__.: DaslCeBeA 2 .f.r'lqcﬁ Jir o 1
Ko gl -l 0odi o -.*:-JI‘JZ..[.Q’/&(L- 1;_.;.5 J(UJ:"J wlie I-g ..'—‘f')/-{r;. (,L;Lﬁl Jrl:'h.;h-*" Jb

-1 About % traces of acetylene are present L W G S s U -1
in coal gas. - Ji'p J&
0.09 (D) 0.08 (C) 0.07 (8) / 0.06 (A)
2 - Urea is a nitrogenous fertilizer. It consists of s Lﬁ:}-’t-;): e s7 W, ..,r"'-"':j-'l: by -2
% nitrogen. : -< Ot
66.6 (D) 566 (C) 465 (B) 266 (A)
3. The substances formed during the chemical reaction .z Ji/” / Bdh E gln £ S8 KL 3
are called / '
elements ._,"’"‘J"‘r (D) radicals 7'3,.- (C) reactants Mda (B) products L/'fi:.; (A)
4 - The quantity of water fit for drinking on the earth '.;.-_ JeLl = a3 pi Jég{;ﬁi -4
IS %.
0.6 (D) 0.5 (C) 0.4 (B) % Ln] 0.2 (A)
5 - Which one of the following is a water soluble vitamin? fe JP@{"%M e LSiue -5
K (D) E (©) A \B:b D A
6 - Temporary hardness of water can be removed JU ’_.O_ﬁ}ﬁl; af .*'_.J'f'5 A dm} g ;:}l,. -6
by adding. {-\.ﬂx@ M e bl S
washing soda 1 _£21) (B) ) /%F&h? lime stone A ¥l 2 (A)
NHy gl .!‘D’Q}D ' ‘ slaked lime tglnuf (C)
7- gas is the cause of global warmin\;%\ﬁ v . e (S S Lty J:y‘uf-r__ -7
v? CO,gas (D) 4 g{-é C) v? NO;gas (B) ¥ S0, gas (A)
8 - Coal gas is mixture of .\‘i&“*’ - /;: ¥ u=r J:( -8
CO,CHg, Hy (D) \ElO.CH.; (C) CO ,Hz,CO; (B) CO,CHy4,CO, (A)
9 - Areaction between an acid und base produces. - bl J‘fl.-_s; When £ 2 sl 22 g -9
salt and water ‘({ 4 - (B) saltand gas 24l L (A)
salt and base 2. 2/ (D) salt and acid i<l sl 2L (C)
10 - In the beginning the rate of reverse reaction is -& bn ces K1) Vs L by -10
negligible r" = (D) moderate Ji+ (C) very fast F=« (B) fast < (A)
11 - Number of amino acids in proteins is - J.-r I " JJHU"LI L jé:,.; - 11
less than 10,000 < 10,000 (B) 1000 (A)
2000 (D) more than 10000 #LJ < 10000 (C)
12- The conjugate acid of HPOEM is - e JEvy Hpoi" 38
, poi“ (D) H2P0; (C) l-IEPOi_ (B) HaPO4 (A)

124-(111)-219-70000
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Chemistry (New Scheme)  Paper: 11 (r'i': U‘lftﬂ.s.u], Jl‘i.iaﬁ?) 218 - (IV) || (‘iﬂ J/H’

Time: 15 Minutes {Group: II) Objective %> (g2 1) 22 15 123

Marks: 12 Code: 7488 - 12 :U'C
L onena Lo érbl Jry g d¥dn B ELEIDMNCIB AR i & gt
K Ml IR - eSS e Fak il s uppe S 8;‘:.:,!;_, SELIA  eih 3 T

1. 1. Matelsamixture of | A (matie) &

CuS and FeQ (D) Cu,SandFeS (C) Cu,0and FeQ (B) FeS and CuS (A)

2- Temporary hardness is because of | ﬂg.;—}nc_.unJuéh&d(,-;’ -3
MgSO, (D) MgCO, (C) CaCo, (B) Ca(HCO,), (A)

3- Pentahydroxy sidehyde is cated o B i s -3
sucrose iF (D) stach Bt (C)  fuctose 7 (B)  ghcose i (A)

4- Which one of these is a salurated hydrocarbon? |t gy e Lo -4
CsHyz (D) CeHy (C) ;'I CyMg (8) CyHy (A

5- The water of crystalization is responsible for the i Aieh ¥ AW ST 6
boling points of crystals g S Z 5 (B) melting ol crystals S Bl P

of crystatls  J¢81 J F (C)
e Mg infondidKour -6
En LR EIGE ()

transition paints of crystals 7l 2L FS (D)
G- wnmmamngnmolﬁcuveqmaﬂnhﬂcm.o Q

|
©)

equilibrium will n

all the reactants will be co p Li,flg:rufaﬁ,r:ﬂq J”'ru.ffﬁ (B)
icé:\‘?hqninw ion I"i..&:rd';dmb‘f (C)
the aq of products is o S fes ,,;.u’u-*’;,‘: (0

7. Inthe baginning the rate | rse reaction is i ¥ s Vel e 22 -7

vary fast ¥ e (D) gow 21 (C) igible Fa¢ (B) moderate =iw (A}
4. Which one of the following is @ Lewls base? J e T & L -8
NH; (D) H* (C) BF (B) ALCL; (A)
9- Coal gas s @ mixture of = AAY .9
CO,H,and €O, (D) €O, CH,and H, (C) GO, CH, and CO, (8) CO and CH, (A)
10-  Which one of the following vitaming is water solubie? te S e & 2t L 10
vilamin E % (D)  vitamin Db (C) vitamin C 't (B)  vitamin A 0 (A)
11- Sphere, just above the earth's surface Is tee AUl AL Edets -11
stratosphere &%+ (B) mesosphere &rs (A)
troposphere 47} (D thermosphere  &*»7 (C)
12- Which of the following gas s used to destroy AT LS P g Baar Ly 12
harmiul bacteria in water? tt.‘-&'r § =
iodine ¢£1£7 (D) fucdne o9 (C) chioine o¥ (B)  bromine ol (A)

124-(IV)-218-70000 /:Juf-' 1p - 2/’9



Paper Code 2024 (1%-A) S
Number: 3485 SSC PART-II (10™ Class)
CHEMISTRY PAPER-II GROUP-I ,‘_r,; wezs Y o4
TIME ALLOWED: 15 Minutes MTN~)—2Y ws 15 = &b
S
MAXIMUM MARKS: 12 OBJECTIVES s -2 12 =4S
un‘!mijg..ﬁ_ésﬂr_gﬁhfﬂ f;.?l:J-?in'L.r-lﬂ..-.a-'m:..gﬁu:}hi@&b@w;;r.!ﬁ}lzdi@-ﬂ) :ﬂC-B*A:—P.ﬂ.‘-“'J;d:JFx 1 lg‘?d]f
You have four choices for each objective type question as A, B, CandD. Frs?siznd. 1L SES LMY QNo.1
. The choice which you think is correct, fill that bubble in front of that quastion number, on bubkle sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
D C B A QUESTIONS /=ity Sr.No.
Vitamin K Vitamin C Vitamin B Vitamin A | Night blindness is because of deficiency 1
T.I;Jﬁm,f-‘j‘;l&-'ﬂc-gnfur&fbu/
Which one of the following is not an air 2
N, S0, co NO, pollutant? Se-u% wd S e fiks 2 ssr
Which one of these pollutants is not found E]
S0, NO, 0, co in car exhaust fumes?
TFH_LJ@,JM)BJJ(&E*UI&-JLIJQJ#
Quick lime Lime water Soda lime Na, -zeolite Permanent hardness of water is removed 4 |
Futl Iy Finsr g by adding:
i it ¢ TP e S LSS A4 0L
— Fluorosis Hepatitis Cholera Jaundice | A disease that cp\:%m bone and tooth 5
S o™ et Sz damage is: {,.}‘j -,{
. }c;:Ji.ﬂ?-‘}Lufuﬂluri
Distillation | Froth flotation Smelting Roasting @p@‘:\gﬁﬁm of copper ore is carried out 6
S H A . L @w Y Tl
NS
ﬁ&ﬁ"’ Nitrogen and hydrogen were reacted 7
Ao\ together to make ammonia:
A RNY N, +3H, == 2NH,
(N
(8 U K, =2.86moldm™ What will be
H, N, H, | Mﬁ NH,| . NH, present in equilibrium mixture?
<3 %U i By, P g LS ESart AT R IAME s
| "~ i N,+3H,= 2NH,
Kq.= 2.86 mol dm™
WYL £ EASE
i Which one of the following compound is 8
HNO, H,0 NaOH HC# Amphoteric?
e SE M e S
. Which one of the following compound 9
R-OH Cct ALCE, OH" can accept a pair of electrons?
T;.Cﬁfdﬁ,&:ulf'girfy" Lufefdipree
C,Hy s i CH. s CH..n General formula of alkyl radical is: 10
<A K LS
Dehydration of alcohols can be carried out 11
H,SO, HC¢e KOH NaOH with:
te ALy LLs eSS
DNA Vitamins Lipids Protein Which one of the following is a 12
el P i kg triglyceride?  Se ¥, FdNule Llizie

22(Obj)( R AT)-2024(1%-A)-60000 (MULTAN)
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CHEMISTRY

PAPER-II GROUP-II

NI TN ~2.~2Y

| /”"1""; i 24

e

TIME ALLOWED: 15 Minutes

L2 15

= &

MAXIMUM MARKS: 12

OBJECTIVEY’ s »

=S

u:.?buiin__ﬂ-#Jj.-_uﬁLLL ﬂﬁ!:.'il:'-',-:f’bf'L.f!.l!c.-':.'.s:..q_,l:u:.?bi@)é‘-&£dlf,{4{£ﬁ§ifﬂéé-113 »CBA=UR .-‘:A;Z: Jir
You have four choices for each objective type question as A, B, Cand D. st izudifem JL/ /el J2f

1 A

The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker Qe
or pen to fill the bubbles. Cutting or filling two aor more bubbles will result in zero mark in that question,
D c B A QUESTIONS /=iy Sr.No.
Night blindness | Anaemia in Scurvy Rickets Deficiency of vitamin E causes: 1
S F e . 6 S Lr G dJE e
L AUE
Which gas does protect the Earth’s 2
0, N, CO Co, surface from ultraviolet radiations?
Tr;-d“fc—)ﬁ-'difd":"ﬂﬂ'fo‘:igu‘!@f
Ozone Nitrogen Cco Nitrogen Which one of the following is not 3
ool dic'nxide T Sy ot I Pk an air pollutant?
TR Ao ?‘:_,U:-} NS ITBT P=Y <0 4 PP
Which one of the following ions 4
Na* Ners Mg™ Ca* does note cause hardness in water?
’ ?Lﬂ;-ﬁ-’ﬁfﬁbi g}f[}&u??'.-}f;‘_aptdl._u#
MgSO, MgCO, CaCO; . Ca (HCO,), | Temporary hardness is because of: 5
: e SV LA B
Diesel oil Alcohol Petrol Kerosene oil | Which one of the following is not a 6
S N Sk STk ffﬂ“‘%&ﬁ%‘jm”
REHE 6 e tidspse
F éeac/tmn between PCY, and 7
mol dm’ mol dmn™ mol 'dm™ mnl"dm@éi@ég te: ot Py, the it
@ Keare:  PCl = Cl, PCL,
QP Sl K, Ll Lt
. <*\</) X The conjugate acid of HPO;  is: 8
H,PO, H,PO; H,PO\ PO} eI HPOY
N Which one of the following species 9
SOF HCO; ~\ 4  H,0 is not Amphoteric?
(R ‘; e SR e s
e Which one of the following is 10
CH,COCH, CH,CHO | CH,-COQH | CH,-CH,-0OH | an aldehyde?
fe K|S befe Sosn
Formic acid Oxalic acid Glycol Glyoxal Oxidation of alkenes produces: 11
NS JadifT JIow g1 S Y N7
Cellulose Sucrose Maltose Glucose Photosynthesis process produces: 12
Ik aF i 5 N Pt

24(0bj)(F¥)-2024(19-A)-55000 (MULTAN)




Paper Code | 2023 (1*A) AJ

Number: 3487 | __ SSC PART-II (10™ Class) ey
CHEMISTRY (GROUP-I) (hg el ) UAE
TIME ALLOWED: 15 Minutes  N17A/— 1-23 | - 15 = o3
MAXIMUM MARKS: 12 QBIECTIVE & . i85 =

#J/;U‘Lf s -zuwdwéy.aya;,ﬁu.}bﬁé,m.ebh irq{{éﬁjﬂ.ﬂdﬁﬁ. 0GB A @Fﬁj Ve Jir s -1-'}

LSS T paiir g e Kilphn &, Jd)',.:m.-'uf..,./.gfum rmﬁw.,.dfuﬂ,_m.._mfg_&f.pnz.« s Sl
Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

Fill that bubble in front of that question number, on bubble sheer. Use ma.ljnr or pen to fill the bubbles. Cumting or
filling two or more bubbles will result in zero mark in that question. No it will be awarded rn case BUETBLES are
not filled. Do ndt solve questions on thns sheet of OBJECTIVE PAPER.

Q'No' . -vlﬂ’d'r
(1y  Which one of the follofving species is not amphoteric? o B SR IS O e 3 (1)
(a) H:0 (@ HS (c) HCO; o soi
() The conjugate avid of HPOF is: c..—.t-uf.ur..J s HPO; d)

(A) POy (B) H,PO¥ (C) HyPO; (D) H,PU,
(3)  General formula o{ Alkyl radical is: gl A5 ()
{-AJ CHHHTI (BJ CnHIH-Z ©@c Hﬂ.n-‘-l A\ (D C H
(4)  Oxidation of Alkenes produce: ol ‘?g, M (Alkenes) 7 ()
(a) Glyoxal S8 () Glyeol JIG¥ © Oxalic A%hf LWCGST  (p) Formic Acid tatl
(5)  Deficiency of viltamm “D" causeg: F o ‘_\f;‘--xj V" ?+¢nd4?ﬁuf&¢:ddu ot )
(A) Rickets Sl Lr A a(“g’JScﬁrw 11} g
(C) Anemia in babies Lo iuf - /fp) Night bindness .”
(6) ~ Which gas prote i'},m Eprth’s mriaéﬁém -;f_.ﬁ,y,v;_ #“lu.p..durﬂlff ot /a‘f ©
ultraviolet radiati A
(a) €O By Co (c} N, ® o,
(7 Iron and steel smﬁﬁw are damaged by: ' ' 5=—vas-u/ st st 0
£
(o) Carbon monoxide X\ /Tir X (p) Sulphur dioxide VT
(C)Methane o~ ) Cai‘b'qlh'&imdde AT Stk
(8) A disease thar causes bone and tooth damage is: : - e ol pS il Lo FrmUl @)

(8) Hepatitis ¥y (c) Cholera .t (D) Jeundice Wiz

(A} Fluorosis J=u#
TFJ“'?’JJH-'E;"IJ“ (9)

&) Tc:flporar) hardness is becausg of

(10) When NaHCO; is hea;ed, it forms: et ,ﬁ.;.rl,j,frffhaﬁc 05wt (10)
(A) Cl')l (B) Ca(OH), 2 (c)prCaCO; (D) CaO

1';_1.:_-;;"1!:-4544 (11)

(11) Formulaofqream
D) NH,CONH,

(A) NH,COONH, piu JHZCOONIz’i (€) NHZCONH,,
to form PC‘E, theul:ju of K, are:

(A) moldm™ (B mol™ am™ () mol™ dm’ (D) moldm’
22(0bj)( T¥Er Y7 ¥r)-2023(1%-A)-65000 (MULTAN)



CHEMISTRY GROUP-| M ‘50'4!'2' b~ ot/ O~

TIME ALLOWED: 15 Minutes OBJECTIVE U"‘,'a/‘,.m? e 15 =

MAXIMUM MARKS: 12 12= A4S
S L /l.ff':.ﬁhr‘x_ﬂb'&wlfn..-rwc:_.p- u:.rbé{...!d-bff-dlffggéﬁulf g,"'nd_'d___...r D.sC:B:A ...—Lf_?.j.r'.rﬁ.dirf -
..'.v{.JIrU'i _gd_bLJg_,’f/(jfu:n_u)‘Jd..j L fu:z‘: _fm:‘“j.ii..b’m‘;;ﬁ_u‘g;a_.f:; .f':..-li' L é_//,fu:ﬂmh;...f 8’..1
Note: you have four choices for each objective type question as A, B, C and D. The choice -u‘f J"‘):-....Ulr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER. 4 / Jlr'

Q.No.1
J,&f:u:,,,uf:-_u:;z?@mgw! (1)

(1) Which one of these Hydrocarbon molecules o Sl
would have no effect on aqueous solution of bromine?

(A) CHy4 (B) Cio Hag (C) CyH4 (D) CyH5

of dntbard/etdsaead WS (2)

v

(2) The reduction of alkyl halides takes place in presence of:

(A) Zn/ HCE (B) Na/HC# (C) Mg/ HCt (D) Cul!HC!

(3) Which one of following is a disaccharide? fe sl ﬂ&lswﬁ.—_ LS i (3)
(A) Glucose 4 (B) Fructose ;¥7  (C)S nF (D) Starch c,,,.;,,

(4) Just above the Earth's surface is: N nlfLLt'Jg,CJ (4)
(A) Mesosphere 4%~ (B) Stratosphere £% > (C) Thermosphere_ ’f‘}'s’/ (D) Troposphere ﬁ‘?;/

(5) Which gas protects the earth's surface from ultraviolet dlﬂthDj?\ 9“‘ "5.8‘:1::"‘; 7 1§k a2 ol A1 C’Jufwf ved (5)

(A) COy (B) Co C)‘ ﬁf’-fi? e (D) 04

(6) Which of following diseases causes liver inflammation?-. - > e -.-.*‘fwrd’/gdthuf::-vci@-"" (6)
(A) Typhoid ¥zt (B) Fluorosis s £ j’fé)’c:hmera at (D) Hepatitis o~tlr

(7) Concentration is a: P PO ,‘ch'i }—f (7)

(B) Separating technique &F_E &
(D) Cooling technigue .ﬂﬁ..ﬁf

(A) Mixing technique &5 < -\; )
(C) Boiling technique _CFM

(8) Matte is mixture of:
(A) FeS and CuS FeS .

A& ®

CuS (B) Cu,0 and FeO CuyO # FeO

(C) CuyS and FeS Cuy§ 4 FeS (D) CuS and FeO CuS ' FeO

(9) The colour of lodine is: KT (9)
(A)Red {, (B) Black st (C) Purple (D) Colourless £
(10) Forareaction between PC/; and Cfy -i3L Ko Lol it PCls o Ciy » PCEy (10)

toform PCés. Theunitsof K¢ are:

(A) mol dm™ (B) mol \dm™ (C) mol \dm® (D) mol dm’

(11) The conjugate acid of HPO3™ is. T-.c-i-;fi’-féc@f“ HPO;~  (11)
(A) POF (B) HyPO;~ (C) H,POj (D) H3PO4

(12) General formula of alkyl radicals is: _cl_ﬂf;lidﬁb’zé-é;gfiﬁ! (12)
(A) Cp Hap 4 2 (B) C,Hazp -2 (C) CpHap s (D) C, Hay

22(0bj)( T ¥ 3T 77 )-2021(A)-50000 (MULTAN)



FAFCR LUUE 2020 (A) A

CHEMISTRY  GROUPI Ay, 5 pogsd A
TIME ALLOWED: 15 Minutes OBJECTIVE (.2 15
MAXIMUM MARKS: 12 2= Af

,-"r_.ur L nL.ﬂﬂJ.wh-' #‘Luf?h.r e o s /Fid..d_?.._.'iu'}’f!éﬁjif -JEEL DA CBA ....-u.-f’ gr’.. Jrr .ed
{24 J';wl.:,"';"d!v-..ur‘ja.f. .Us;u K r"’.lJi..- a2 .._;:-',,LL; ok | f..,):;ru; rlaes l.-.::...-L 2
Note: you have four choices for each objective type question as A, B, C and D. The choice ./ /= )f—...wr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve guestions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A /u

(1) Which ion does not cause Hardness in Water? u*.,,f;j.;v'uu a1 vy (1)
(A) ca®* (B) Na* (C) Mg {D)Al,ugese -

(2) Matte is a mixture of. \Q’/\JJ < (Mate) 2 (2)
(A) FeS + CuS (B) CuyO + FeO (C) CuaS + FeS,, } CuS + FeO

(3) Fora reaction between PC¢5 and ¥, S K@@ Lik pe ¢s & Cty o PCly  (3)

toform PCts, theumts of K¢ are: @ (™

(A) mol dm™3 (B) mol™ Vdm™3 %\@m" dm'J (D) mol dm™*?

(4) For the reaction ’-‘%Jrr‘/uirf.u 24ig) + Brgy === i) E15,  (4)

1 fd' uilibrium constant is:

2A4(gy + Big) &

2418 [3¢] [cp

A I'I%]_J © zais VT

(5) The conjugate acid of HPOF™ is: -c..vtu"i../r( §§ HPO~ (5)
(A) PO; (B) H,PO3" (C) H,PO; (D) H:1PO, .

(6) Which one of following is a Lewis base? LRI LS (6)
(A} NH; (B) BF5 (C) #* (D) AfCe, =

(7) Coal gas is a mixture of <A
(A)CO,CH4,0,  (B) CO,CHy, €Oy  (C)CO,CHy, Hy (D) €O, Hz. COy

(8) Dehydration of alcohol can be carried out with: % u’h ww.bru'u;wvr‘uw;y)’;”' (8)
(A) NaOH (B) KOH (C) HCY (D) H280;

(8) Which of following is a water soluble vitamin? ?;.rﬁf?dng WAL (9)
(A)VitaminA A % (B) VitaminC C % (C)VitamnD D % (D)VitaminE E /%

(10) Which of following is tasteless? T.g.rn.?"'i{_uilivfi-,w (10)
(A) Starch 3.t (B)Gluicose #¥  (C)Sucrose »F (D) Fructose 3+

(11) Which gas protects the earth's surface from ultraviolet radiations? ‘< ;,:"':./'Jm...-* ;i,-":w,.,v ,f (11)
(A) cO, (8) co (C) N, (D) &4 _

(12) Specific Heat Capacity of Water is: e g v,ff‘ .,L (12)

(A) a2ksg~'k™" (B) 24ksg~'k" (C)24ug7 k7! (D) 425 'k~!
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Note: you have four choices for each objective type question as A, B, C and D. The cholce -/ o0 .J"),—..._uir
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which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question, No credit will be

awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A ANy

(1) Lactic acid is found: e bl i Hoom
(&) Sour milk zxsixks  (B) Citrus fruits J“ ~ (C)Apple Vinegar .f - (D) Butter f[

(2) The chemical formula of Urea is: ..c..J,-*;de:’ K (2)
(A) NH,C? (B) H NCNO (C) HN,CNH, ‘}}I{MCOM-!:

(3) Ghee is formed by the hydrcgenatmn of oil in the presence of metal: ,\:\*‘%yo’ Al ﬁfy V/;_ ﬂu l{uJ [ (3)
(A) Cu (B) F (©) ca 6}%3}5 ) (D) N

(4) Which compound is tasteless among the following cnmpgun-ds’{jj “c.A»!u.ufr.-.;,f ;;:UL 10, (4)
(A) Starch b (B) Glucose ¥ @\zﬁ;] Fuctose 1) (D) Sucrose

(5) The building blocks of protein are: <o ..UEJI !&».ﬁrf.wén; (8)
(A) Monosaccharides u.i/’ff wf/y C) Amino Acids i 2\l (D) Glucose Jﬁ

(6) The quantity of Nitrogen in air by i Pspe il plnlin ()
(A) 20.94 % @j&/% (C) 40.45 % (D) 65.90 % .

(7) Which salt is used to remove temporary hardness of water? e bl #’f J,:,Q,Gf,rfj,w{jj JE_ 7
(A) Lime Stone A¥L 7 (B) Sodium bicarbonate ..m;KuL{‘ e
(C) Slaked Lime £21#4, (D) Un-slaked Lime t5fci o

(8) Atwhat temperature the density of water is maximum? fe dm:p.:.-:gjﬁf"iufdﬁi;ﬁ;;" L’f (8)
(A) 0°C (B) 100°C (C) -4°C 0) 4°c |

(9) Whichis the slag of Copper metalergy? e dro}fﬂuﬁti (6)
(A) SiO, (B) FeSiO; (C) CaO (D) CaSiOy

(10) Considering a reversible reaction, 5.:);&:( Jé:.{ Uu *LSJ /‘( twufc.:rg.:c'.l»fu"" IJ; s (10)

which expression represents a reaction at equilibrium?

(A) Qc < K¢ (B) Oc = K¢ (C) Oc = K¢ (D) Oc > K¢

{11) The units of molar concentration are: - th‘:A.f f"f’f (1)
(A) gdm™ (B) mol dm™ (C) Kgdm™ (D) mol dm?

(12) Which compound in 1 mol/dm’ solution e Oy pH e tmolfam® HEU (12)

has the highest pH value?

(A) Ethanoic acid  .F¥ 3 (B) Sodium Chioride X1y

(C) Sodium hydroxide X/ Tu¥'{fEr (D) Hydrogen Chioride .‘a’w"/g;’-ui'.t
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Note: You have four choices for each objective type question as A, B, C and D. The cholce - /=0 = -
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blan)u No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of DBJW j’hPER

Q.No.1 1\@ A Ay
AN
(1) Lactic acid occurs in- 25 <tiia ()

(A) Rancid butter (205l (B) Sour milk Jﬁnq@j 7€) Grapes Lusf (D) Apple Lor

(2) The colourof Fe(OFH); is- ,@ 5 wtnkk FeOH)y, ()
(A) Brown s (B) White 45~ \\g (C) Blue & (D) Dirty green

(3) Among the folbmng is un@:ﬂest coal. M eddite )
(A) Peat . {Br\mn):e s (C)Biuminous % (D) Anthracite A1 A5

(4) Reduction qulkyI haiidéa 3K place in the presence of- R N S 71
(A) Na / dil HC*# (B) Ni /dil HC? (C) #n / dil HC? (D) Pr

(5) Maltose is generally found in:- <tk
(A) Mik 5 (B) Cereals 3t (C) Dairy products iz (D) Cotton /¥

(8) Polymerization of Amino acids yields:- +ugwfnﬁgé;kufnl (6)

(A) Carbohydrates %44k (B)Lipids 7/ (C)Proteins 7%, (D) Sugar /%
(T) Amongthe folowing____gas is known as Ife gas for plants. -LdJs‘Jf..ﬂLluruqfw _ eddits

(A) o5 (B) 0, (C) co, (D) N2

(8) Among the following disease ___ causes liver inflammation. -..;.:#.,e—vj,srﬁ___ Lutkdivs ()
(A) Jaundice i (B)Dysentery J¥  (C) Cholera .z (D) Hepatitis (/*¢ls

(6) Percentage of water in human body is:- cameiSherl @
(A) 68 % (B) 69 % (C) 70 % (D) 71 %

(10) Chalco Pyrite is an ore of - A eade (o)
(A) Copper /¥ (B) Silver % (C) lron @ (D) Zinic £

(1) Thevalueof Kc depends upon:- <l ke (1)
(A) Temperature ,;j-/f (B) Pressure £2;  (C) Volume 7 (D) Density ,;C"L':'

(12) For the following reaction units of K- are:- LAl ke LLfgdes (1)

Hy+1l, — 2HI

(A) mol ' .dm®  (B) moldm™ (C) mol.dn’ (D) No unit 27s9ls



CHEMISTRY (NEW SCHEME) GROUP- (20152017 o) iy - oo/ (/% &) 424

TIME ALLOWED: 15 Minutes OBJECTIVE (.o 15 =
MAXIMUM MARKS: 12 2= Af
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Note: You have four choices for each objective type question as A, B, C and D. The choice _q.f.:d'}fqa Uty
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded

in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 ) A /;Ulf
(1) For the reaction, oAk LIS 24,,,+ B, wgm=3C,,, (1)
24, +B,,,===3C,, the expression for the equiibrium constant is:-
(24] [B] gy [41'(B] o) _[3C] JET
. [3C] ® [cy’ [)[IA][B] ) [41°(B]
(2) In an irreversible reaction dynamic equilibrium:- LRSS Q)

(A) Never establishes 276" (8) Establishes before the completion of reaction ctonfib e La i
(C) Establishes after the completion of reaction .;_r,-zf'm&;m)’y‘{vﬁfg(%}‘ Establishes readily < tl/Girer

(3) ____ acidis found in Sour Milk. X ‘{_:‘»}._ 5 S Pelid _ fomin& ()
(A) Citric (B) Formic ik {Q;Lgc@%f (D) Uric J¥
(4) Dilute acids react with Carbonates to Jrl_{?;\“ﬁ;é;f.lruglhg'*"’il,;;quxﬂd:fwf 4;5»’%:0’-1;';5’}1&!2‘, (4)
produce the given products except:- A Ny
(A) Salt b (B) Wate;\élgf;{}' (C) Carbondioxide AT (D) Hydrogen cﬁu"s: b

(5) Main component of Natural Gas‘i_]&:;f?:i‘i-‘:’” -q.::‘!ﬁla‘u!d;ﬁ (5)
(A) Methane .,ﬁ’w (B}\F‘%Eane oy (C) Butane y=x (D) Propene ¢/

(6) ____is asaturated Hydrocarbon. Cy byt F— <gbuilag _ (6)
(A) C,H, (B) C,H, ©) c,H, 0) cH,

(7) About 50 % of the dry weight of cell is made up of- < bk S0 KUl FBLF (1)
(A) Carbohydrates <2444 (B)Lipids <3  (C)Proteins <, (D) Vitamins <2t

(8) Photosynthesis process produces:- -q_l';:dl % 78
(A) Starch & (B) Cellulose i (C)Sucrose »* (D) Glucose ¥

(9) ___isasecondary pollutant. e )
(A) SO, (B) co, (©) cH, (D) HCe

(10) At4°C the maximum density of water is:- .;;.J‘"iul_,ic.uL}JJ&.; 4°C (10)
(A) 1gem™ (B) 2gem” (C) 3gem™ (D) 4gem™

(11) Temporary hardness of water can be removed by adding:- > r@LfJ{}uﬂJkﬂiﬁL/ ¢ ':E,r:'i;id;/;}g{ JI'. (1)
(A) Limestone A¥L % (B) Slaked lime t2telf  (C) Quick lime t3Wwl (D) Washing soda i

(12) Boiling range of Gasoline or Petrol is:- bl (12

(A) 80 to 170°C (C) 170 to 250°C (C) 250 to 350°C (D) 350 to 400°C

MIN. Jo- 2—| ¥ 22(0bj)( W -2018(A)-53000 (MULTAN)
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Note: You have four choices for each objective type questionas A, B,C and D. .-;.[J:'fw' /ff-"- W{{{-J‘f
The choice which you think is correct, fill that circle in front of that question number. Use marker or pen
lc; fill the circles. Cutting or filling two or more circles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 - /-?Jlr

(1) Guldberg and Waage put forward Law of Mass Action in- VBAAASTL L o S ()
(A) = » 1859 (B) <+ 1869 (C) 2 » 1879 (D) < - 1889

(2) In the Lime Kiln, the reaction goes to completion due to:- .,q...;:Ji..:rJ;ﬁd!{ L5, (2)

Al 0.
(A) Of high temperature =.Zs»4%  (B) CaO is more stable than CaCOy br/ 1ic CaCOy ¥ CaO
e AN -

A

(C) CO, escapes continuously r:r.’;,;t}gwi’ CO, (D) C&Q is @tﬂ;ssoclaied (*4:¥ CaO

(3) ___is used for flavouring food y ,:F;;_\‘P?.f;;—&_;:;r!.,l!dqphé.ﬁi.hjﬁ._,’ﬁf.fui - &
(A) Acetic Acid 1154 (B) Benzoie AGid 42151
(C) Hydrochloric Acid g %l (D) mﬁ{ﬁé& RJF

(4) Ifaliquid has a pH of 7 then it must-  ~{\ f\" K dmpH=T aSo@
(A) Be a colourless and OdOUrIE';g?,f“;fﬁsj&@ (B) Be neutral J/¢

(C) Be a solution containing waffﬁ)ﬁ}"}w (D) Freeze at 0°C and boil at 100°C b /it g 100°C niz/g 0°C

() Coal having 90 % Carbon contents is called:- bl ALATE KA R LIS 6
(A) Peat & (B) Lignite el (C) Anthracite 24/ (D) Bituminous ¥

(6) The reduction of Alkyl Halides takes place in -._:.Jx..,r:&ng rn—uﬂdiﬁﬂcf‘q&&fw&i' 6)

the presence of-  (A) Zn/HCI (B) Na/HCI (C) Mg/HCI (D) Cu/HCI

(7) ____ catalyst is used for the Hydrogenation of Vegetabie Oil. et e A J‘yul'wﬁukz; (7)
(A) Al (B) Cu (C)Ni (D) Pb

(8) ______isa Disaccharide. -q--'s"/¢ g (8)
(A) Glucose ¥ (B) Fructose 37 (C) Sucrose i+~ (D) Starch &/

(9) Just above the Earth's Surface is:- <l llises  ©
(A) Mesosphere &+ (B) Stratosphere &% > (C) Thermosphere v/ (D) Troposphere &7/

{10) The quantity of water fit for drinking on earth is:- -%J’wﬁ.é-,-"ﬁf J},{L‘J:J (10)
(A) 0.2 % (B) 0.4 % (C) 0.6 % (D) 0.8 %

(11) Temporary Hardness of Water is because of - -.;.J.vrs.e:uf ST :.F blrd{/:}if Jg (11)
(A) Ca(HCO,), (B) CaCO,4 (C) MgCO4 (D) MgSO,

(12) Matte is a mixture of - wf e (12
(A) FeS and CuS (B) Cu,0 and FeO (C) Cu,S and FeS (D) Cu$ and FeQ

MTN-10-2 1 24(0bj)( 7)-2018(A)-35000 (MULTAN)
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Note : Four choices A, B, C, D to each question are given. Which choice is correct, fill that circle in front of that question number on the |
_ Ohjectiuesuble Sheet. marker or pen to fill the circles. Cutting ln; two or more circles will rn zero mark in that question. |

CnenfKed L A+B=C P L e s| 1407

K.; equation for the given reaction A+B = C willbe : i =
B Al[B -

Wke= g @Kes [PE][]B] i [;][]c} k= L
| Which one of the followmg isHardest Coal : o : .»__L’f u,-..f 57 ;:r:i,;,;-i 'i—é}—n
:(A) Peat & (B) Lignite :.:g’bf (©) Bltumm{_)_ug_( & (D) Anthracite ....Jb-i/“ d !_
Wh:ch one of the ;'ollo;ving isa Lems Base @ - P e SV YU ﬂ-Utbt 324 ,,..- (3)
(A) NH3 (B) BFy (© H' (D) AlCk \
What is the pOH of a 0.02 M Ca (OH); solution : s S pogu“ }'L Ca (OH)z 0.02 M[ @
() 1698 (B 1397 (© 1231 (D) ].‘Eqﬁ;i": _ { |
Dehydration of Alcohols can be carried out with : — 'L\\ s q..dxu‘!JJ.PrJJ( uJ )0 I,dhﬂ')f (5
(A) NaOH (B)  KOH © stﬁa JD/) HCI |
Iron and Steel structures are dnmagedhy 4 \r < q_fﬁ'iuh'ﬁa./ ff 5&,9’ inwﬁf[ (6)
() co (B cCo " gﬂ, (D) S0z
Which one of the following is ta.sthfi}m;s | 3 ;jlié.ﬁf = Lties (73 |
(A) starch 4 (B) Glucc;s: ;{;_f (C) Fructose 357 (D) Sucrose ,uﬁ |
Which of the followmglsaDlsacchm_de : - : ” l_/E J_ﬁ;:(:._;ﬁ_u";bm (”3).‘
(A_) Glucose ,,l",f ) (B)ch!ose __,;f } (© Sucrose m“ (D) Starch .-
Which Pollutant is not foum; lin Car Exhnuét-l*;;lmes : - “L"IrL'g,C‘, uf“;-}:..-'l; d/ JKM:LLJJA 9 _.
(A) co (B 03 (c) Nop (D) SOz
Matte is a mixture of : | - .- . o Jl‘.../r'rff‘.: (10)
(A) FeS+CuS (B) Cug0+FeO ~ (C) CupS+FeS (D) CuS+FeO

: LJLKJH"J;{,‘JE“ ija.gﬂd':z,ﬂ ' (1 1)
Which one of the following diseases causes Liver Inflammation *

(A) Typhoid £ (B) Jaundice ff£ (C) Cholera 27 (D) Hepatitis u"'t'Ln
Which Gas is used to destroy Bacteria from water : - a.d)?‘ i ;‘;.(}Luf U’ f 1 23’

@ 1, ® c © F @ By

e —————————— ——— e mm— = cmmm - - e .- = R
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Note : Four poalhu cholces A, B,C,D to each question are given. Which cholce I correct, fill that circle Infront of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will rasult In zero mark in that question,

¢t (CaO) tgUfiuie LS 1 2 ..ﬁiyﬁ,;;fj

Quick Lime is prepared by heating a compound : @ |
(A) MgCO, (B) ZnCO; (C) Na,CO, (D) CaCO,

Concentration is a : e S| (2) ;
(A) Mixing Technique L (B) Boiling Technique  EF&1y 1

(C) Cooling Technique 8 (D) Separating Technique G5 &
. q-[}nuy:.uyd'*jty&g{d"}/;;n (3)
The temperature at which water has maximum density is :
(A) 4K (B) 4°F (O 4°Cc (D) 100°C
- duf e ..mf Hskk 2 r? i u"t? @ EEI.
The type of Hepatitis which can be caused by Contamii'l@teﬁ “Water is ’
() E B C (O D\ (B B i
t‘,‘-—lf’?{;fj}‘cf-ugdeufﬁftﬁ Qo )
The Metal which causes clogging of Fish Gills. 'iq /in Acid Rain :
(A)Lead 4 (B)Chromium @J’ O Mercury ¢/ (D) Aluminium A
Just above the Earths' Surface is :. (‘ -./" : e A {J![ﬁ} L t‘ ¢ 2l (6)
(A) Mesosphere &% (B) Tmpnggli!ﬂ: ﬁ"'.'ga) (C)Thermosphere &7%/#(D) Stratosphere V¥
One of the following is__.q-.W;ltér Soluble Vitamin : = U'EJJJ"J' ¥ - :Jk-.._f e e ml -
(A) Vitamin A gf'h""fg}:"‘:hfitanﬁn C b (C) Vitamin E /'ty (D) Vitamin D 't
ot Mo oMW AL P CHy = CH,y | (8) ]
The Catalyst required for Hydrogenation of CH, = CH, is :
(A) NI (B Na (O Mg (D) Ca

The Coal having 60 % Carbon is called : : e b g bl b oK 60% o & 9 f
(A) Lignite wtl (B) Peat &g (C) Bituminous J*# (D) Anthracite 2l /4 | |
The example of Neutral Salt is : B Je lf L2 (10) E

(A) KCI (B) AI(OH),Cl (C) Ca(OCNCI (D) KHSO,

The product of Acid - Base Neutralization is ; = _*/}:.; ¥ A i i ) !
(A) HCI (B) NaOH (C) H,0 (D) H,80,

The Equillbrium Constant Expression for the given reactionis : < W%Mm; 1 LG i | (12) |

250, (g) + Oy(g) === 250;(g)

) [s0,]*

2
(A) (B) e © [80,110,]1 ., [250,](0,]

2 2
[902] [02] I2502][021 [S0,4] [2503]

——— T PO Y o
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Note : Four ]mllhh choices A,B,C,D to each question are given. Which choice Is correct, fill that circle Infront of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result In zero mark in that question.

To dry a Gas, which Salt would you use : : Syl o byl L2761 g:" w' | LU
(A) CaCI, (B) NaCl (C) CaO (D) Na,SiO, (1)
Acetic Acid is used for : el S gt Bl | (2)
(A) Flavouring Food £ L1 kJ13 /% / S# (B) Making Explosives £/ & 21 211
(C) Etching Designs 2.L0 4 00 (D) Cleanig Metals 2Lk § A

CaCO;, —> CaOi-COz :.g..pur.’..ﬂd;ﬂdtﬂdxﬂé_auﬂlj{&u (3)
In the Lime Kiln, the given reaction CaCO ~—p Ca0 + CO2 goes to completion because of :
(A) High Temperature fZl) (B) CaO la more stable than CaCO_ bore® b ¥ Ca0 = f caco,

(€) €O, escapes continuously bz ¥ CO, (D) CaO is not dissoclated 09 s CaO
Main component of Natural Gas is P ;, e a2 ¥ ..r’dm (4)
(A) Methane - pna (B) Propane sy (C) Butane oy (D) Propene ey
Depending on Temperature Varlation , atmosphere is divided into: u;.. LJT L A v dw L 4] 6)
(A) One Region .o, fi (B) Two Regions saw, 53 (C) 'rhreeﬁa‘stom 5 o (D) Four Reglons 3y ) sle
One of the following is Tasteless : A b b I =t S| (6)
(A) Starch  Gs (B) Glucose :;S‘/mfructoae J¥} (D) Sucrose  1F
Substitution Reaction is the characteristic of . = et u‘f!dz ( Substitution) ¥ Lp | (7)
(A) Alkanes #¥ (B) Alkenes _ ﬁ {c) Alk_',mu #91 (D) None of these /e fu ,
Ozone is beneficlal for us as it ,f:,‘:: *, R WLL.JIH et | (8)
(A) Absorbs InfraRed Radiaflons &0/t £ ks Lo 1) H
(B) Absorbs Ultra Violet Radiations (/s /' Aidactih
(C) Absorbs Chlorofluorocarbons - (/Cdp /7 5y I8 5,48 5,05
(D) Absorbs Air Pollutants &0/ I S 5y
uZ e § Sty L eny| (9) il
The Nitrogen Gas present in Urea is used by Plants to synthesize :
(A) Sugar J* (B) Proteins Hsy (C) Fats Vel (D) Glucose 1F
edn g S S B2 e o d for§ A 2op| (0)
Rapid Growth of Algae in water bodies Is because of Detergent having
(A) Carbonate Salts  (Ludf (B) Sulphonic Acid Salts /L-t2i £
(C) Sulphate Salts il (D) Phosphate Salts lsdi
Ionic Compounds are Soluble in water due to : Y JJ':' (4 d& e v IHUEET| (11) |
(A) Hydrogen Bonding %%/} (B) Ion Dipole Forces ,w.;U,;JquT
(C) Dipole Dipole Forces ;»3Jydis¢is (D) Dipole Induced Dipole Forces i Jydistyaiydis
In Solvay's Process, Slaked Lime is used to : D e bl T gt nd S| (12)
(A) Prepare CO, &L /) CO, (B) Prepare Quick Lime &L Jiptelfiuf
(C) Recover Ammonia &L/} ¢ (D) Form Na,CO, dLLiu NaycO,

B R AR R
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Note : Four possible choices A,B,C,[ to each question are given. Which choice is correct, fill that circle infront of that question
number. Use marker or pento fill the circles, Cutting or filling two or more circles will result in zero mark in that question.
Nitrogen and Hydrogen were reacted together to make Ammonia - <k Lv ol ) S ,ru..f St Pt 1A
N2+ :iH2 = 2 NH3 K.= 2-86 mol |dm'5 (1
What will be present in Equi]ibriuﬁs Mixture : . U 2 /,"?-’,,JJ);’J !
N, H, and NH_ NH_» H,,N, (B) Ammonia Only el 2 (A) | !
1-12 Only Hq -~ (D) N and [-I Only l-l AlN =~ (C)
u‘dmf i/ _AILFJ('L*V'J"LFU{UJ ;P‘U-’f @ |
In Chemical Reaction, the Substance that combine are called : i :
Matenal Jj—-’ (D) Mass J'. {C] Rea-::tants ........!Knl;_;; {B} Pmduct Jiu {A) i
Acetic Acid is used For : -*8-\%") .:;_I.'.n dl.-'-"'r J_.;I\__S;:uqt (3)
Making Explosive (2di_kel*tZS 1 (B) Flavouring Fq_&j Lk £ S (A) ]
 Cleaning Metals £L0i-J # (D) Et@l@g“mmgns z‘:.‘Lmt:ur" © '
F la of Acetaldehyd ! > : : e 2 |
ormula o ceg ehyde is o J’L\—/ -:—..L-uf Ui ¥ J-[.JJJ_-._.-:‘I 4)
i :g:@ |
H-C-H (D)  CH - c* \ CH,~ c OH (B) CHa_CHzDH (A) I !
Subshmtmn Reaction is lhe charaq:t{r%sux P ..-r‘r""J’J( d'_-\_,.tq_,b.t-‘.l# u—f ld; f A—J?; (5) :
! 1
None uf these (7 JJc.uCul Ilﬁ\ﬂk}rnes 1 fﬁi (c) Alkenes ¥ J.MSJI (B) A]kmes ¥ J.....‘.'fll {AJ :
TR i S
Oxidation of Ethene with K’Mn04 prt}duces Lo f_b&.hif L.auy.i_ud,;.f AL KMnO, dﬁl’ (6} !
Glyoxal J’(dﬂ' (B) Oxalic Acid r’l_@;l (A) . ;
& | 1
~ Propene Glym! Jf;jtl'cﬁ:{ (D) Ethane G]yml ‘JJ"JL"JRI © i ]
Which of the fullowing is a Dtsacchande : : = .-H'/;{jfj L-'!:-.»..Lﬂme (7) !
Starch &.JL (D) Sucrose .n;’ (C) Fruclune 3#7 (B) Glucose #E (A =
kgt i i o ot A e e et e S o KRyl N SR y— |
Normally rain water is 'U\-eakly Acidic because of : | <b»x Sid (C.-...»J u{ﬁ_]f dL ¥ J gk i (8) :
Nc:u2 Gas uf NO, (D) SO, Gas u"' SO, (c} Co, Gas oZ Co, (B) SO, Gas Y. § SO, (A) ;
- e i e i il = it
Which Gas is l:alied Green House Gas : Ller( U"(J.u{,;ffufujf c_u!J:..w.q (9) ':
03 wil (D) N, U ,,-vt (C) co .s_{-LJ"F!:‘JJ( (8) co, xJ ik (A) |
Temporary Hardness is because of : : & _',,J LF e _(_1[;}._5
CaCO,  wHHE AN !
aCO, it ¥ (B) Ca(HCO,), et KL () | :
MgSO \_u.ll.up-n.amz-al (D) MSCO t..-n.J_’J_JkS-p.un_:n.A (C) ! f
Concentration of Copper Ore is carried out by : : < .-d) I’ ____,..‘.a_,.........f‘! sl .fl’ (11) i
i
.D.!.?‘..l."ahfjf_. ;i’_-'i"'" FRZ_Fru!h Flotation f :G.a‘l,’ fC) ‘Roasting by, (B) Calcination = d'v( (a) i
The Chemical Formula of Chalco - pyrite is : : < Uyl "-"f"’gk (12) i
Fes (D) CuS (C) CuFeS, (B) CuS (A) 5
I ——p S — - . ey e b b pr— — .
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Note : Four possible choices

A,B.,C,D to each question are given, Which choice Is correct, fill that circle In front of that question
number. Use marker or pento fill the circles. Cutting or filing two or more circles will result In zero mark In that question.

"K_'is equal to : Db de CK' 14w

C
K K¢ R, R¢ (1)
__________ - X (D) X © Re (B) ® (A)

vV £ K Lo, PCI, < CI, # BCL,| (2)
For a Reaction between PC13 and clz to form PCl_, the units of K are

5 c
i o mol dma (D) mnl'l dm?.

(© mol™! dm'3 (B) mol dm? (a)
PH of Neutral Solution is :

cdnpH SRz (3)
o 7 @ 12 @ u ® s (@
Molecular Formula of Butane is :

(O irk S el @)

AN

L Sf, @ CH, (© cH, (@ Caflg) )W

Acetylene is : 5\5%‘:\59’1{6?7(&;&}:” J\.'_.»:-’I:‘i-ui" (5)
AN

Bhene i) (D) Glyoxal ST (O Glycol S B Oratic Acia  2afis (a)

The End Product of Oxidation of

Substitution Reaction is the Characteristics of :13.:\;:/ L U!g'dxl'é..ﬂ; (6)
r RN
Alkyl Radical Lﬁénfﬁ* (D) Ethene M Alkane u:ul (B) Alkene .;fl (A)
— —
Which one of the following is Tasteless, \ {”\q

& e Ve dizel (1)
2 A
Sucrose J:;' (D) I-‘ruc;néﬁ\f 37 (© Glucose ¥ (B) Starch

L s i 20T
In which region, Ozone l'nngél%i takes place
NN
Thermosphere &%/ (D)&M‘éusphﬂe A2 (0 Stratosphere

&k (A)

< & o £ o v ®
A%/ (B) Troposphere A ()

e 2/ 38Ty} ()

Water Dissolves non-ionic compounds by :

Ion - Dipole Forces ;a;U{JII - J T (B) Ion - Ion Forces y;;l;ff..uf T(A)
Hydrogen Bonding Ltk 1} (D) Dipole - Dipole Forces ;w'Ungj ...J{JI; ©

About 90 % Urea is used in : . i_’—f-'fd'o‘z"&‘!.! 90%!‘;; (10)

Explosives AFLZS e (B) Fertilizer S (A)
Non - Toxic Chemical LE‘{{..,.;;,-! (D) Automobile Systems et My F ()]

cbom¥ ol <kl us .erC]:l = e for i (11)
When COZ is passed through the Ammonical Brine, the salt that Precipitate is

(NH,),C0; (D) Na,CO, (C) NaHCO, (B) NH_HCO, (&)

Global Warming is because of : b ead s (12)

03 (D) co, (© o, B co (A
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Note : Four possible choices A,B,C,D o each question are glven. Which choice is correct , fill that circle infront of that question
number. Use marker or pento fill the circies. Cutting or filling two or more circles will result in zero mark in that guestion.

The colour of Iodine is : Dot L ¥ 1T 14
Pink (if (D) Red {, (C) Blue & (B) Purple s (A) (1)
At Dynamic Equilibrium T T mﬁl
The reaction stops to proceed ety Sic o x LT RIS (A)

The amounts of Reactants and Products are equal u:rJnmq;w-\J’ u‘(h.; al ﬂd.a (B)
The speed of Forward and Reverse Reaction is equal e;...t'.rr e ¥ ﬁ'dﬂx{a 2 sk (C)

The reaction can no longer be reversed bﬂ_ﬁJ s & c}xﬂf; (D) jil
A solution having pH equal to 7 is most likely to be : ! ‘al'.'g \".__:,/n\m\l.n_-l.- pH d’uf’lﬂ" Wi (3) |
' Amphoteric A0 (D) Neutral J# (C) Basic —Suy (ﬁ)ﬂéﬁ Jid (A 1
Which Salt will use to Dry a Gas : Q\\@w@www&&dﬁf v (4) 1,|
NaSi0, (D)  NaCI Jac); *\hgf).% (8) cacl, (&) !
- h_’, PE— P .-..........-.I
Formula of Alkyl Radical is : (‘/Q ' : & Ui ¥ Jﬂ-é.'J"m (5) ?
CH, (D (%“‘5"“ (@ cH, 2 (B)_ Cn“2n+2 (A) :1

&‘“" D e G S i £ s (6)

The order of reactivity of H‘fdrugen Halides with Alkenes is

HBr = HCI (D) HCI > HBr (C) HBr> HI (B) HI > HBr (A) |

Dry weight of cell is made up of —— Protein : P ebrh e cﬁl{—-—-l’ un Z KB (7)

7% (D) 0% (© 5% (B 440% A

1
.'
I S

The most important Oligosaccharide is  : P & A0 (e | (8)

Maltose 74 (D) Fm-:tose ¥} (©) Glucose u’;r (B) Sucrose nk (A}

Normally Rain water is weakly Acidic because of @ : & b ..fm lead ot GfOL¥ Uik g e | (9)
NOo, (D) so, (O c;oz (8 so, (A ———l e ]
The Oceans contain about —— of world water : ! & .,Fb {L!'&W — 1 J&J Ll (10)
0:2% (D 0:6% (O 2:1% (B 97% (A '
Temporary Hardness of water is due to ; q_rlm-:...au/ l}:u“- b‘*w{f‘ (11) ;
MgSO, (D) MgCO, (O Ca(HCO,), (B) CacO, (A) ¢

Formula of Urea is : P e UK byl (12)
i
NH,CONH, (D) NH,CONH,(C) NH,COONH, (B) NH,COONH, (A) g

R * - — . !E
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-L{JA-_.uﬂﬁiﬂ}uﬂ?&t-&.,.mﬂmJuu’b&fé:&:-b&;)m;@ﬂrz-ggi{_; D,C,B .Amtmﬂkﬁﬂrﬁ TV !
KB N0 d S i S S SN S s Pien
Note : Four possible choices A,B,C,D to each question are given. Which choice Is correct , fill that circie In front of that question
number, Use marker or pen to fill the circles, Cutting or filling two or more circles will result in zero mark in that question.

Unit of Active Mass is : t ewyd w1 A
moldm (D) moldm! (© moldm'2 (B) moldm 3 (A) )

- 28 * BT 3Cq . . AfutAb el LG LEs () ﬂ

Correct Equilibrium Constant Expression for the given reaction is @ 2‘@ + BWJ S 35{5:, [

3 2 { i

C 2A11|B | }

[c] ©) [3c] © [a] [:] [ 1[8] @) |

[a] [B] [2a][8] [c] [3c] A |

i i a— --#_.__..-._-f. e .

Acetic Acid is used for : et ed g;{,n,_‘., (3) '

Flavouring Food &/l k3% / JU? (B) Making Explosives it sz (A) !

 Cleaning Metals 2L # (D) Exching Desi Lutnf (© |

A reaction between an Acid and a Base produces : (\,]\\ﬁé S L AL L (8) i

Salt and Acid i< s 2 (B) Salt -@V oL a2 () é

Salt and Base (& o &b (D SS\ d Water dk s 2 (C) : i

Pitch is Black Residue of this '\E\I'U Do pL-l'ij';L (5_]j
Coal Gas &/ (D) Wf (© Coaltar U/ (B) Coke S (W) |

Dehydration of Alcohols can be c&.\i"m with : O s J J;,.gl._-. ud m 6) |
HCI (D) HSO, (C) KOH (B) NaOH (A) 1i '

Tasteless Carbohydrate is : & SN Sue| (7)
Sucrose 55 (D) Fructose 3} (C) Glucose i#¥ (B) Starch gt (A) | |
Glucose is A .
Hexahydroxy Ketone w34 ¥} | (B) Hexahydroxy Aldehyde YRR () |*
Pentahydroxy Ketone W 14| (D) Pentahydroxy Aldehyde i‘wﬂ_ag"turw. © :
Just above the Earths' Surface is : e B/ S| )
Troposphere Ayl (D) Thermosphere A7/ (C) Stratosphere &% > (B) Mesosphere &7 (A) '
Temporary Hardness is because of : : ‘F‘*JU‘WL';| (10) =
MgsO, (D) MgCO, (O CacO, (B) Ca(HCO,), (A) o
The temperature at which water has maximum Density is : q_ul.r ;......u;f:"_:JL}HJ,@,J!_(Lﬁ

w'c @ 1w'c © ¢ ® o’c |

Matte is a mixture of : : 'F-/fr(Mlﬂ']#' (12}
CuS and 4 FeO (D) Cu)S and s FeS (C) Cu,0 and 4 FeO (B) FeS and 4 CuS 5 (W) E

i x n — e ST e e —

| —e R AR
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Note : Four possible choices A,B,C,D to each question are given. Which cholce Is correct , il that circle In front of that question
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark in that question.
The Units of Molar Concentration are  : : ._gg’i{.a:.‘}-_-f_,l_,..b-_{}l,-[
moldm® (D) mol dm? () mol dm’? (B) moldm 3 (A) (1)
If Q> K, what will be the direction of reaction : cdner § Hll Q> K Sl @)
Reverse =5 (B) Forward =SLT (A) i
In NoDirection 2= (D) Equilibrium State =AdEASE1 () |
Which Acid is found in Sour Milk : | : +r('\§}zuwf L aminZ! (3) |r
Lactic Acid Ll SO (D) Tartaric Acid s Lesk (C) Formic Acid in{ﬁ\@) Uric Acld .if"l.f,f (CV |
S e
Molecular Formula of Mohr's Salt is : ’KX\‘)V & Urib Jgﬂ ¥ ...-'L-,qr| (4)

K,SO, + Fe, (80,); - 24H,0 (D) NaH,PO, (O Fes }S'H);zso -6H,0 (B) ZnSO, (A) |

The ability of Carbon Atoms to form chain @2{/ D g L 2wl B S gk | (5)
C) Resonance L,!":{; (B) .Inumeﬂm ﬁf.r“'f (A

Condensation pasuwiiiS (D) Catenation g ‘

The other name of Alkanes is R - P et K| (6)
Acetylene ;i {D@dgm 2% (C) Olefins i Jyl (B) Paraffins jiil,y (A)

Which one of the following is Tasteless : : &tbr _ilg.w,&.¢¢m! (7
Fructose J77 (D) Glucose  #¥ (C) Starch B (B) Sucrose i (A) : '
Deficiency of which Vitamin causes Rickets : s ednieldred § vt _";s-,—
Vitamin D /% (D) Vitamin K % __(_c] Vitamin E ¢ (B) Vitamin A &% (A)
Normally Rain Water is weakly Acidic because of : : ¢t JSidl feof 25l QLY S g #rb! (9) ;
N, @ 0, (@ co, ® 0, W i

F-Ombissie il S SAL8y Bl £ 07| (10) |

Which disease is caused by an excess of Bile Pigments in the blood : i ]EJ
Fluorosis _y%uf (D) Cholera 1 (C) Typhoid ¥4t (B) Jaundice i (A) | !

Temporary Hardness is because of : : :-d:lc.-.gufuf u‘b}d.y; (11) |

Ca (HCO,), (D) MgSO, © MgCO, (B) CaCO, (W ; _
) . i

Crude Oil is heated in the furnace upto : . et (SE AR LSS thf a2 |
$50°C (D) 400°Cc (@ 330°c (B 3°C (W)
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' - Sash f:ﬁdb&#ﬁ-ru:.u:u:ﬁ;«i{.‘L{Jlrgﬂéfdlt-gzﬂ:{.aD c,B, A.:-Ll?..:ﬂkﬁdrf Dol .
. e "’ %Hﬂﬁﬂdef&JJw}huhﬁ-J

i
1
i
Note : Four possible choices A,B,C,D to each question are glﬂn Which choice Is correct, fill that circle in front of that question !‘
number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question. :
A LK, LWL LLwPClg e Cly ol PCI [1/U'r|

For a reaction between PCly and Cl, to form PClg the units of K. are : 1)
mol dm?> (M molldm?® (© moltdm! (B) meldm™3  (A) i
Law of Mass Action was presented in : Eﬁsz’ U'{’U""—'T” (2) \
+ 1871 (D) -89 (O  «867 (B) #1865 (.q) B ]

Acetic Acid is used for 1 : :,-..rxJ-'-'l Luh.ﬁhuql (3)
Making Explosives 2Ll t\1Z2. 1 (B) Flavouring Food E_LathJJfwa A)
Functional Group -COOH is found in : ~s ’\ ;:»-/q..l.'lrl.l.g,.ﬁd, COOH ‘rz)'uhﬁ (4) -{
& i i
(Esters ;7% (D) Alcohols :PF (C) Aldehydes ¥ mf'Carbuxyhc Acids M.m,r (A) i
== e Y Sy L {,\ /II -‘ il S— .'
Which one of the following is Lewis Base :/,m\\ f‘j : %;Wdfufa.;}:;bﬁ»' (5) %
~(0 :
aicl; (D) m ©  NHy;  (B)  BFy (A |
e —— ! ':,' AR ] | — (1 — - S S .
1
Substitution Reaction is the charaqzm%f : : ?uc‘r"d'drn-gﬁdibadgld;f)—:b (6) 1
Aldehydes J¥Si (D) Hm‘kyne JE () Alkenes & (B) Alkanes ;nq (A) !
. e R e S o]
Which one of the following is Triglyceride : L A{f‘f&lw;::-;‘dab» {?') :

~ Lipids J% (D) Vitamins & (C) Carbohydrates ;J":Jjﬂ.i.rf (B) Proteins Hay (A}:
Who discovered Vitamin By ( Thiamin ) : : y’.:.tl.n&.ﬂ‘-,:dﬁ) By ot (8) I
watson b (D) Bohar ,ﬁt (C) Funk b (B) Hopkins 3Gl (A) |
Normally Rain Water is weakly Acidic because of : q..{‘rl'.fmdl( HJU!JL,[;' dt ¥ JJ‘, ¢ ,ﬁ'l‘ (9) ;
s0, Gas ¥ so, (B) €O, Gas A co, W i
. Noyem N0, @ so,6s S so 4
Permanent Hardness is removed by adding : : n;..ﬁfkk?,r_g)h-"lﬁﬂ u-ﬁLL,s-uph A (10) i
| QI.HE’E_!__EIE tghfc_}.i (D) Lime ‘?"ater Ju’.r'..g (C) Soda lez fi !b‘ (B) !N.Ta2 zeome AUy (A} | i
Specific Heat Capacity of Water is  : ; .-_d‘f_-ﬂ.rf" g da (‘11)“-?
2--1]5'11('1 (D) z-aIK]g'lK'] (© 4-2]5'1]('1 (B) 4-2Kj)g L1 ) i .,
-—- - — - ——— - e L—— - PPV ——— e e — e e '
Formula of Urea is : i q—lfubr WK Ly (12) i
NH,CONH, (D) NH,CONH, (C) NH r:cnt:n\m2 (B) NH,COONH, (A)

E__ B | - ﬁ"i‘-‘r%ﬁ' Bw 0- . -2 H?’

-
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Note : Four possible choices A, B,C,D to each question are giver. Which choice Is correct , fill that circle infront of that guestion
number. Use marker or pento fill the circles. Cutting or filling two or more circles will result in zero mark In that question.

Who put forward the Law of Mass Action DL St |1/')J'-"|
Mmlay Li» (D) Rutherford bia (C) Guldberg S (B) Dalton s (A) )] |
Nz + :m2 —-"—:i;ﬁ i&_ = 2.86mol Imru’u’ut,g‘? I A AL Faskty ol J-;,.-’t T @2 |

Nitrogen and Hydmgen react to make Ammonia, What will be present in the equilibrium mixture ;|

-2, 6
N2+3H = 2!"~TI-I3 K.=2.8mol dm

- e it KW Shmairkalde o 8% i T o
Which Base is used to Neutralize Acidity in the Stomach : mL)UIr"I ;ﬁl.-’f A&L—f?’t‘[eﬂ&-ﬁ’ (3}

KOH (D} Mg[QI{__j?L_(C) NaOB (B) "c.___{_omz (,-_0_

i
|
:
1
|
Only H i (D) 'H, and 4N (C) NHy and 4 Ny, Hy () Only. NH:L.J;‘ (A) i
!
|
|
|
|

Which one of the following Speﬂeﬁ is not Amphoteric ~ :  : WM z.uw’r.u:;:w (4) :

 sof @ meoyl © Ny @0 w |

Pitch is the Black Residue of  : @Qfxi : P ¢ ®) |

Coal Gas v/ (@) coat K () lt__c;aﬁ'u (B Coke S W

The End Product of Oxidation of Acetylene is 7,5 e AT @

Glycol . <>C /38 (B) Oxalic Acid 2A01ST (a)

~ Potassium | Hydmuée\WE#}(’q (D) Glyoxal J"?Jlf (© | - --;|

Chemical Formula of Fructose- 1@\“\' : q__u,:,ﬂdl_,[ l" J,f' (7)
%35) g, © cﬁnuos (8) c12 ” u (A) "

Thoounde- o e 'mm m;s pot,rmm"}:};_[ R L gisagseAiomy | 6)

~ Vitamins b (E?{Fliiplds i4 (©) Proteins ,qi;_,q (B) Ca.rbohydrates um—pc;r v | -
3% )”'UJMHHI fw;m{ruf o)
Which Gas Protects the Earths' Surface from Ultraviolet Radiations
Oy D N, © co (B cO, W |
eSS ¥ Lg!:dt-z-’usau:zd u»; (m}

Which one is responsible to rising up water from the roots of Plants to Leaves

e L s ...._I.

Heat Capacity l.;"-’f (B) Capillary Action oGl s LS (A) _
~ Surface Tension W/ (D) Photosynthesis T }_,i {C} ' '
A Disease that causes Bones and Teeth Damage is : : q.d;@dlifulﬁfufb 2l u,-:}} [11} =|

]aund:ce Jl’lr (D} Hepatms d"t?((" ) Flourusm J';aﬁ (BJ Chulera .H (A) : ?

BLSIAL ISP sl s e_:c a2)
r'l'he Nitrogen present in Urea is used by Plants to Synthesize ! ; '
~ DNA _gg__._;t.us (D) Fats ¥ () Proteins jy (B) Sugar B (A) |

B ﬁﬁyﬁﬁ Bw P10 2 L-{Q—




ERoH. No. I (For all sessions) { Paper Code I 7 | 4 I 8 { 1

; Group-l-.fs)’

. . : Fs
Chemistry (objective Type) Rup-Gy-2>- (& S //.'.(
Marks: 12 Time: 15 Minutes &415:=% 12:4

e .-..-JJ._;TI__,IgLﬁmgi;;:DJ,I,C,B,A;.gr;:;ﬁgLJirﬂe.eq;[g r@:.eu%/'&’dag.glza_..—.uwu:a,;
S eSS s LD L C B A sz L A3z
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB,C & D to
each guestion are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of
each guestion with Marker or pen ink on the answer shekt provided.

1.1. A reverse reaction is one: :;_-uui‘fld,ruf;g; 1.3
(A) Which proceeds from left to right & tsr 8l f e/ L2
(B) In which reactants react to form products uglhf”}:,;d:f.:ff fd;ﬁd;.,c;ﬂ
(C) Which slows down gradually & tw><TEui2
(D) Which speeds up gradually <t &2

2. What is the pOH of 0.02N((Ia(OH)2? es%,\t,f pOHU*0.02ML Ca(OH), 2
(A) 1.698 (B) 1.397 (€) 1231(0)" (D) 12.61

3. Coal gas is a mixture of: - {:»{a‘;}\ﬁ _ ‘e /,;{){Jf 3
(A) COandCH,  ¥COLICH, {B) CO.CH, and CO;  ¥COAICHCO,
(C) COCH,andH, ¥COsICH.H, /Ib(ﬁ) COH,and CO,  KCOMH,CO,

4. Which scientist prepared urea in Iaboratory:f&é?&') ?l‘{flg'l:},fi.uﬂj;flrufu':{!)ﬂﬂ,] 4
(A) Wholer s (B) Ruther{rﬂrcé@}}m (€) Berzelius %Sz (D) Dalton ¢

5. The reduction of Alkyl halides takes ptace in the presence of: e Atz S LS 5
(A) Zn/HCl (B)-Na. Cl (C) Mg/HCI (D) CuHCI

6. Which one of the follcwigéf\é,b fat soluble vitamin? e L}E'*J'r..c-_r‘u." B:L—'bc-'_btd Spuir B
(A) A (B) E (C) K (D) all these

7. About 99% atmosphere mass lies within: 'E“‘:_t'mﬁf;,ﬁp{aéggl_;_ FEASEA T
(A) 4530 Kilometre  (B) % 35 Kilometre (€) #¥£15Kilometre (D) ¥ 11 Kilometre

8. Which of the followings is not a green house effect? ?.:;_uf -.t-ﬁ-li_ﬁ{u{ J W 2 Sizir 8

(A) Increasing atmospheric temperature 3Ll 2 & S/
(B) Increasing food chain Ll 5252

(C) Increasing flood risks  Slelfat L ik

(D) Increasing sea level juluﬁ'ﬁ'&#

9. Specific heat capacity of water is: e Feas Ul 9
(A) 4.2 Jg 'K (B) 4.2 KJgK (C) 2.4 KJg 'K (D) 2.4 Jg'K"

10. Global warming is because of: :zi;..;sgf.f-ﬂsdﬁr 10
(A) CO (B) O, (C) CO; (D) Oy

11. An Acute infection caused by the bacteria "Vibrious Cholerae" is: e (rledlsiniga o “IHALL 26 11
(A) Dysentery = (B) Cholera sz (C) Hook worm sk (D) Typhoid st

12. Crude oil is heated in the furnace upto: fe Hgﬂ'fi,é/;;/utuj}fjﬁ;/ 12

(A) 300°C (B) 350°C . (C) 400°C (D) 450°C
(K 29-10-A-3¢ -
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Chemlstry (Objective Type) M.Cta_—ja, (&) d/

Marks: 12 Time: 15 Minutes & 15:=4 12:4¢
‘uf L 3(_.:3’;_,- l‘u'éf_-JD)J! CcB A..Llf.ﬁ;;&d!r;q.’g QKJ‘J’J‘/"JQ:_LU a_._-Ui'”U WLy
_J:/‘g:_.LFL—Ju"Lf e 3 AUl D | CBe A sz b Ay 384
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers AB,.C & D to
each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of
each guestion with Marker or pen ink on the answer sheet provided.
1.1. A reverse reaction is one: Iq_n:u}igid.zu"fgf.: 1.4
(A) Which proceeds from left to right 4-’.'-')‘1'6'.:-..-- bu’ lmu
(B) In which reactants react to form products u*a_hu"(mélf_f id;u‘?r Snfos
(C) Which slows down gradually < tsx=sTE.52
(D) Which speeds up gradually < tsz Gz

2. Which one of the following species is not amphoteric? ‘.':‘:_uf_lfa'ﬁf!bufc.(ﬂ{_tjgﬂ 2
(A) H,0 (B) NH, (C) HCO; D) SO;*

3. Coal having 90% carbon contents is called: ;rw{g:iriilé:g;b’wsoutf.ff 3
(A) Peat o (B) Lignite el (C) Anthracite Aok f" (D) Bituminous  J*é

4. Formulae of acetaldehyde is: ( \\P/ "2 ‘e UK Sy S bt 4

s ( (\J O

(A) CHy—CH,OH ®) CHa-—‘icl OH ©) gt _4;\?’ ® _c—n

5. Which one of these is saturated hydrocarbon? /(.Pr S K i | s e Lol 5
(A) CzH, (B) CsHs N @%SHW (D) CqHe

6. Which one of the following vitamins is water §D S‘P’ 'Ltﬁﬁr;ﬁ&kuf E.sLjJrc:..-(,CJ_.igJ# B
(A) Vitamin A b (B) Vitamin E a\ /"j (C) Vitamin D /b (D) Vitamin C /ts

7. Which gas protects the Earth's surf ﬁg ?a_ufbf";./ RSP ngfo suf 7

ultraviolet radiations?

(A) CO, (me@” ©) N, (D) O

8. Which one of the !ollowmgsl?ﬁot a Greenhouse effect? Tq_uﬂ;hbl.:‘“ﬁ}uf)‘ bl S s 8

(A) Increasing atmospheric temperature _:l:!;,,C,é-,;’Jfr'l
(B) Increasing food chain  3lsi 4% 42
(C) Increasing flood risks 3ol B 1k
(D) Increasing sea level LIt S
9. Acid rain effects the aquatic life by clogging fish gills %« 3/ ?D-/J;JL}TLIJ:J)‘L U Uz o2 9

because of:
(A) Lead &/ (B) Chromium <3/ (C) Mercury /7 (D) Aluminium rtY,y
10. Which disease causes bone and tooth damage? e i Ju:f.ad’i.m..fl}"ﬁ.u?'!mlufé 10
(A) Fluorosis inmg (B) Hepatitis u""ifl.g (C) Cholera .1 (D) Jaundice br
11. Temporary hardness is because of: i 'i‘:l:_d:f.:..af S :;Ld.r,-’ 11
(A) MgCO;, (B) Ca(HCO,), (C) CaCO; (D) MgSO,
12. Formula of Urea is: e UrsBb Ly 12

(A) NH,COONH, (B) NH,COQNH, (C) NH,CONH, (D) NH,CONH,
(é 31-10-A- ¥ —



bl L L

Roll No. S pihe (For all SESSIonS) PaperCode (7 | 4 [ 8| 2
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Chemistry (Objective Type) () d/ﬁj
Marks: 12 Time: 15 Minutes 2415:=5 12:4
»-“qu ‘/Q!’ :-,,'.'.'r_.n;..; AR ﬁ-LJDJJr.C.B,A—o-'l’.u-ﬁ"ld—-d."_."#J‘/d.érdfb"fddﬂ-.l_r’g_-ﬂlrﬁ.f Wy

_L,r.!,/‘d.'_&s.-d,_)f__/:b::..x hdFe SMLD) CBA szl
NOTE: Write answers to the questions on objeclive answer sheet provided. Four possible answers A BC&Dto
each question are given. Which answer you consider correct fill the corresponding circle A,8,C or D given in front of
each question with Marker or pen ink on the answer sheet provided,

:,f'?a_;_ Cerl oo C; In 2 :-q,.«fln;f ’I':gt‘-"- 5 1.1
(D) Q.<K.
B SIS 2
(B) Charles Boyle L,"T.tpffrt;
(D) Gludberg and Waage q_i'mf.fgjﬁ'
e s lieg HPOD 3

1.1 The reaction goes from right to left if
(A) Q=K. (B) QK. {C) Q.=
2. Who proposed law of mass action:
(A) Newton ./«
(C) Lavoisier v

3 The conjugate acid of HP0,” s

Ay H,r0; B) H.PO; © PO, ? (S w, H.PO,

4. Which salt is used to dry a gas? f@.rdaﬂl vu.n—; i /5 .,;:’ 4
(A) CaCl, (B) NaCl (C) Na \0 (D) Ca0

5. The conversion of wood into coal is called: r{?,\, R of Ef._;& FLEIESH 5

(A) Carbonization =7ty ¢
(C) Hydrogenation %8s 42t Q) )u{m Crackmg _ﬁ,-
6. The chemical formula of Chloroform is: f\\\C""
(A) CH,CI. (B) CH Cf‘f\\\}/

7. The scientific name of vitaminG\

|
\

= Ll.-wJ’,{ §r6sk 6
(D) ccy,
et T

(C) CHCl,

(A) Acetic acid i< 6
(C) Ascorbic acid  £</ (L&)

8. Nucleic acid transfers from one generation to next generation:

(A) Genetic Information /=i 5>

(B) Formicacid i< _i ¢
(D) Lacticacid 421 GY
:,g;.ff"ﬁ;;ﬁm_;b’g

(B) Only colour ..E:-..ﬁ,r"

(C) Age (D) Defectsonly 5 i~
8. The pH value of acid rain is. -{—JﬁDHJu{:J-:" g

(A) 6 (B) 65 (€) 8 (D) 4

10. The capillary action phenomenon in water is due to its: ‘;..;:l;-.-,gﬂf;"f 'JJ?CJ:J; 10
(A) Hardness ..,,"'"-L!. (B) Density N
(C) Surface tension u’f’u‘f’f (D) Molecular mass L,fl..f'g!:l

11. Typhoid is a disease produced by ededhdslge a1
(A) Virus 71 (B) Algae di (C) Fungus Jb’ (D) Bacteria | &

12. The quantity of nitrogen in Urea is: -f.j:fﬂ%r;,"-a}':,:p‘-j 12
(A) 46 6% (B) 52.5% (C) 48.7% (D) 38%

31-10-A-¥X-39000
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Chemistry (objective Type) @ U f“d.l(

Marks: 12 Time: 15 Minutes &15:=3% 12:4

A3 e ng Tf.,,tg._f-t,,g.{4_,D,.r,c,a,A;glz;ﬁ;gLJlrﬁzq;qb’dlﬁo‘v&"dmﬁé.—. rp ks
eSSBS 3 Sf LD CBAsZEL
NOTE: Write answers to the questions on objective answer sheet provided. Four pessible answers AB.C & D to each
gquestion are given Which answer you consider correct, fill the corresponding circle A B,C or D given in front of each question

with Marker or pen ink on the answer sheet provided.

1.1. Swimming pools are cleaned by which process? !‘.‘—...rtgl_f_iuc.fﬂfgﬂr 11
(A) Nitration 5% (B) Hydrogenation =%} (C) Bromination ¥, (D) Chlorination /%

2. Which disease causes bones and teeth damage? fe- d;lﬁgf';'}:bfa‘_.n.._..lﬁiufh.«wgé 2

(A) Fluorosis +#  (B) Hepatitis _ulillsy  (C) Cholera . (D) Joundice iy

-'\:/'J(residual oillJJU!*.‘.Z:‘ 3

3. The fraction of residual oil is:

(A) Petroleum gas u{rfs,f; (B) Petroleum etrﬁc 2)
(C) Dieseloil STz} (D) Lubricants(\.7"

4. The colour of lodine is: @g\?) e tn kLT 4
(A) White - (B) Red {, .{%@ Jif (D) Purple 7

5. The units of molar concentration are: ) @"’i BSALE S 5
(A) mol cm’ (B) mol dm’/ A &? (C) mol dm® (D) mol m’

6 The acid used for food pmsewaw :q...i-fllulsi.:fdb"lééi.h s P 8
(A) Sulphuric acid Hngj{@’ (B) Nitric acid it
(C) Hydrochloric acid m:ﬂ (D) Benzoic acid i fsz

7. Sum of pH and pOH of solution at 25°c is always: < o 24 5 € pOHAIpH L #425c .7
(A) 14 (B) 12 (c) 10 (D) 8

8. The first organic compound was prepared by: Y e 8
(A) Dalton 3 (B) Berzelluis *iz (C) Wohler s (D) Lavoisier 7

9. The general formula of alkenes is: - e v 2K (Alkenes) & 9
(A)CH,_. (B) CH, (C) CH, ., (D) CH, .

10. Which one of the following is tasteless compound? te 3t e L ipss 10

(A) Starch & (B) Glucose #¥ (C) Fructose 37 (D) Sucrose i

11. Which organic compounds are used as drug to control v L el S e oy Pl g LELd £k A

bleeding?
(A) Vitamins s (B) Glucose ¥ (C) Lipids ;3 (D) Proteins
12 Just above the earths surface is fe ALl 12
(A) Mesosphere &%Z (B) Stratosphere &% (C) Thermosphere #v7 (D) Troposphere &9/
29.010-A- W
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Chemistry (Objective Type)
Marks: 12 Time: 15 Minutes & 15:=%

Ay $n g e W2 P €450, C B AN Divr P AT (T Y Y
e S Sl Snden 3 e LUHLD L CB A s2EVL
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A.B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A B,C or D given in front of each question
with Marker or pen ink on the answer sheet provided.

1.1, Temporary hardness of water is removed by adding: fe C‘:Q-t_f E})Ufi..*)lawﬂ.}-‘: 5,«!.;,5,’/,{{ d L 14
(A) Quick lime t2W (B) Slaked lime tginl (C) Limestone A¢i 2 (D) Sodium carbonate 2n Kby
2. Which gas is used to destroy harmful bacteria in water? ‘e JKJL';'*J{J;(QL%{_; f’; 7 ,;és:uhfm:‘ucdl; 2
A(O,\
(A) lodine ¢/ i¥T (B) Chiorine /¥ (C) Fluorine /. @D@-omine Lz
(O)v ) '
3. Crude oil is heated in furnace upto: "\i\ an..rﬁ?f.f}/;"uﬁ:‘/)fffhf 3
N
(A) 300°C (8) 350°C () 40%%3; 2 (D) 450°C
4. Active mass is represented by: VL A :.g.tl;t_w’,::l.l;fajl.){ I 4
P
@ () ® { Zpiey [ ] © ¥
ON . )
5. Equilibrium constant expression for given r qgr)\s\ji/ 2NO,—=N 10, a2 ML LSS s 5
[NO,| LA [N,0,] [N,0,]
(A) (V.0.] © [2N0,] (@ [NO,]

LSl L L /A .

6. Which salt will you use to

(A) CaCO, (8) NaCl (C) Na,CO, (D) Ca0
te.if pPOHS/#L Ca(OH), 0.02M .7

(D) 1261

7. What is pOH of 0.02M Ca(OH),?

(A) 1698 (B) 1.397 (€) 12.31
T AT
CO.CH,andH, (D) CO,CO,andH,

‘-'q-m]mﬁ&ﬂ:’uff :-JJ.ibnwyéJh?IWg' 9
(C) Na/HCI (D) Mg/HC!

eI le Ldiper 10

8 Coal gas is mixture of:
(A) CO and CH, (B) CO, CH, and CO, (C)

9 Reduction of Alkyl halids take place in the presence of:
(A) Cu/HCI (B) Zn/HCI
10. Which one of the following is tasteless?

(A) Glucose ¥ (B) Fructose 57 (C) Sucrose inF (D) Starch &
11. Amino Acids are the building blocks of. s LB LS e LSt N 11
(A) Carbohydrates /541K (B) DNA i/}

(C) Lipids %/ (D) Proteins 'y
12 Just above the surface of earth there is present: "5 :,-‘rr;;lfl_. [.c,CJf
(A) Mesosphere #»= (B) Stratosphere &% (C) Troposphere 7./ (D) Thermosphere s

31-010-A-W W

12

—



L.—r---uuulvj'!llilll

_ . Sessions: 2015-2017 & 2016-2018 i {5 /,';
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,.-,"Jrrgqq LA eng iz i sD4,CB, Wl L Jivp e:E}qur,z G Sl UpplZid
LSS 13 L UIED | CBe A sl
NOTE: Write answers (o the questions on objective arswer sheet pfovidad. Four possible answers A,B,C & D to each

guestion are given.Which answer you consider correct, fill the corregponding circle A,B,C or D given in front of eacH question
with Marker or pen ink on the answer sheet provided,

1.1. For a reaction between PCl, and Cl, to form PCI,, the unit/of K is: e ¥ K & L0k PCl, sl Cl, s PCl, 1.1

(A) mol dm™ ~ (B) mol” dm” ) moi” dm’ (D) mol dm®

2 The colour of iodine is: bbb 3T 2
(A) orange (L (B) purple ¢ (C) black sLLu¥ (D) white .-

3. Conjugate base of H,So, (Sulphuric Acid) is : e b AL (H,80 )40 L 3
(A) SO, ) SO, (c) SO, (o) HSO~

4. Lactic Acid is found in: P AN ‘e teltia Y 4
(A) Lemon (2us? (B) Sour Milk (Zeménéd (C) Orange ,;;,ET'H =4 (D) Apple (2>

5. The ability of carbon atoms to form chains is called: ; .;-'*»;fﬁ?i_‘i'{'\,lg-- :;g{{fq#u-JLh(chain)ﬁJJ@;K 5

D 2,

(A) Isomerism r’},xr-:'*' (B) Catenation u""er {?i;@éﬁﬁnance ._,"'"-::;;.a (D) Condensation u’-"'fsf'

6. Which one of the following is a Saturated Hydroc_g Bne- ?q..c,(;rugl..},fuf;.bdd_'ie;p 6

(A) CH, B CH, o] (© ch, (D) CH,,

7. Night blindness is caused due to mﬁﬁqﬁ\ciéﬁcy of which vitamin? E‘.g..rnc_,;,JJJu’ e,ufc,;uas’.;.r, "
(A) Vitamin A I/t (B) Wamm E St (C) Vitamin C (5urs (D) Vitamin D {3/t

8. Photosynthesis process produces: :‘mel._:gd’f& f"l";} 8
(A) Starch &k (B) Cellulose sk (C) Fructose 17 (D) Glucose ¥

9. Percentage of CO, by volume in dry air is: et B L B ?'Jl.w;b"rzﬂé 9
(A) 0.03% (B) 0.93% (C) 20.94% . (D) 78.09%

10. At which temperature maximum density of water if 1 gem”. TIL.JH 1 gcrn_s( v )&’*iuya..np{! dl‘.,gj-,;‘uf 10
(A) 0 ¢ (®) 4 ¢ (C) 80 (- (D) 100 ¢

1. Which disease causes bone and tooth damage? '1‘.:;-_L'?ggf&.f.,.lﬁfu;’lwluﬁd;bﬁ;" A1
(A) Fluorosis y75#  (B) Hepatites Luti¥fls. (C) Cholera at (D) Jaundice Gy,

12. Which one of the following is not a fraction of pétroleum? ‘e g:-’uiE}Jr-‘,;,-u‘L_‘,ﬁbtj.;w 12
(A) Kerosene oil £ (B) Dieseioil Tk (C) Alcohal ¥ (D) Petrol % '

2a.n1n A T N



Chemistry (objective Type)
Marks: 12

Session:
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NOTE: Write answers to the questions on objective answer sheet provided. Four

S GLSBL M 3 LD L CBAszELL
ible answers A,B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each question

with Marker or pen ink on the answer sheet provided.

1.1. Units of K, in the reaction H,+1,—=2HI gre:;

(A) mol dm” (B) mol ' dm™

2. If Qe<Kc reaction proceeds:

(A) Forward L7 (B) Reverse &

3. Which is Lavoisier acid?
(A) HCI (B) H,SO,
4. Which is conjugate acid of HPO,” 7

(A PO ®) H.PO”
5. The percentage of methane in natural gas is:

(A) 60 % (B) 70 %

6. The chemical formula of chloroform is:

(A) CH.C! (B) CH,CI,

1\
4\
Soal
i B
1\_.‘ \

7. The most important oligo saccharide i)

!
(A) Sucrose Js (B) Gludose

8. Which one of the following is a fat soluble vitamin?

(A) A (B) E
9. Which gas is called green house gas?
(A) CO, (B) CO
10. The heat capacity of water is:
(A) 4.2 KJg'k' B) 4249k’
11. What is added to remove permanent hardness?
(A) Soda lime (uiir
12. Matte is a mixture of:

(A) Cu,S, FeO (B) FeS and CuO

(B) Lime water Jklﬁ_ﬁ

o
1

BSILK A H, + L, ==2H] JiL 1
(€ mol®dm™ (D) No units 23S
: :.:-_.J,sf:,-r';fu“gld,«?ﬁ Qe<Ke /! 2

f

(C) Equilibriufn £JS5E! (D) Both sides i ushs

S i 7l 3
(C) CO, (D) NH,
. Sebltaofiw HPOT 4
© HPO| U2 @) HyPo,
_,/._,_é:--;:fff-;\. 5~ sy LRl 5
l(crasﬁs (D) 98 %
rff“:fw PRI RPL IS
" (©) cH (b) cCl, |
:ﬁ-..i’l)‘rg,lf?u—_.,w T
(C) Fruptose J#7 (D) Maltose J#\
Ce ot el e LS 8
(©) (D) All pi
e dlAusig S A 8
(C) (D) O,
e dndteadly 10

D) 2.4Jg 'k’
S toy Fe S S A ety 11
(CY Quick lime tgfyl (D) Sodium zeolite &AUyifss

g A2
(D) Cu,S and FeS '

(©) [2.4 Kig'k"

(€) Cu,0and FeO
31-010-A-3%
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TOTAL MARKS : 12 OBJECTIVE PART (s*y* & * 12:4F

e Jb Loz erne L s 2L Loz g4 82 L2 5DmA,B,C W2 Ml LsZ g n2dly
Ko s 2 0l Lo §L T3 SV LS S ity e L s A cf | SA S 50

NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is correct,

fill that Bubble in front of that question with marker or pen ink. Cutting or filling two or more bubbles

will result in zero marks in that question.
D4 K - 1~24 -/dfr
At dynamic equilibrium LA Sk L
The reaction stops to proceed ¢ u,..ﬁr_.gz b u’fl s (A)
The amounts of reactants and products are equal sz q_'mrd’ JJ TS u":h.; (8)
The speeds of forward and reverse reactions are equal < O kd’ )’il Us Jags s 306 (C)
The reaction can no longer be reversed (Fy (&4 & 4 /18 (D)

A salt is not composed of e Lo | 2
Non — metallic anion (7t 8~ it (B) Metallic cation (/& €= (A)
An anion of an acid /& ¥ 12 (D) An amén'bf a base & ¥ 2 (C)

r[.qfdb-"l..#w/d.ﬁl.fﬁfu’_{,.f 3
You want to dry a gas which one of the following salts vot;wiﬂ use ?

NazSIO ;D[ > Ca0 (C) NaCl (B) cacCl, (A)

Pitch is a black residue of - Se o KU G| 4

Coal gas .0 {D] Yo C‘o‘él Jf (C) CoaltartJf(B) Coke J¥ (A)

The reduction of alkyl halides takes plat:alr] the presence of T¢ Jn v J;xrgfuf w"( As J Jm&r.fm 5

d:ufHCl (D) Mg/HCI (C) Na/HCI (B) Zn/HCl (A)

Thousands of amino acids polyn‘[eﬂze to form W oPr. fl/.:‘,t HiFU iy | 6
Vitamins ¢ (D) Llpids 33 (C)  Proteins 72 (B)  Carbohydrates uédﬂ £ (A)
The most important oligosaccharide is ....;_.yr/?}?;l (e o | -7

Fructose J¥/ (D)  Sucrose Ju" (C) Maltoses#L(B) Glucose 14 (A)

eV 2% fPucldeslgd |2
Depending upon temperature variations atmosphere is divided into ---—-—-- regions.

4 (D) 3 (C) 2 (B) 1 (A)
Tq..t’l‘{-q:- Fle Lfl.tfuﬁuéf’# L Pafbsvr Lin e f? S o 9
The process by which atmospheric nitrogen is turned into nitrates is called.
Reduction ¢4, (D) Oxidation ¢®4/T (C) Fixing £ (B)  Nitration 22t (A)
Yo Moo 2oy Kot 12 Gig 6 e 3 B |10
Which one of the following diseases causes severe diarrhea and is fatal ?
Typhoid Jﬂg-’l (D) Cholera I/¥(C) Dysentryoias(B) Jaundice gig (A)

Specific heat capacity of water is - J-‘#-r dor o2 Jt 11
2.4 Ig* k" (D) 2.4 Kig'K' (€) 4.21g’K* (B) 4.2 Kig'K' (A)
Crude Oil is heated in the furnace up to ?.F..rlry'rff}ﬁu”f.ff w2 ) |12

450°C (D) 400 °C (C) 350 °C (B) 300°C (A)
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CHEMISTRY | PAPER CODE - 7488 (& FiaS
SROUY : SECOMD 10" CLASS 1% Annual 2024 ¥/ JZRLIY.
TIME : 15 MIN L2 15 L=
TOTAL MARKS : 12 OBJECTIVE PART (3> .© 12: /48

Kt sr? bz uf3 L eur SLL S ES (S wtvle S B Ak | SAS i

s b Lz ena Lo ezl L2 1 4Q¥02-BEL4DHA,B,C ol K N L2 g 2=hl4

will result in zero marks in that question.

NOTE: Four possible answers A, B, C and D to each question are given. The choice which you think is correct,
fill that Bubble in front of that question with marker or pen ink. Cutting or filling two or more bubbles

DGl =2 -2 -/’dlr

Permanent hardness is removed by adding Tq.ﬂ:lg H’F’:.. JE1 L J!ueu 2l | -
Soda lime ,fu i3~ (B) Na, Zeolite <7y Air (A)
Quick lime £ U i (D) Lime water i ¥L£ (C)
Cholera is caused by ' -ebtnlge 29 S| 2
Algae gfl (D) Fungi Jf (C) Bacteria kﬁ{al Virus J7s (A)
When NaHCO; is heated it forms ? o Y/ NaHCO; 2| -3
CaO (D) CaCo; (C) @amle (B) €O, (A)
Ny +3H, = 2NH; -t U £<Kc 2B LIkl k| 4
The units of equilibrium constant Kc for a reaction are N1+ 3!{! = 2NH;
mol™ dm® (D) mol™ dm™ {c] w “mol? dm°® (B) mol dm™ (A)
The conjugate base of H,PO, is N & e SEV ¥ HPO, | -5
PO, (D) nga”O-u (©) H,PO; 2 (B)  HPO,? (A)
Malic acid is found in AN e Pkt L] 6
Apples (D) Orangg:_':.; \EA{C) Sour milk smwéinx2Z (B) Lemon u;‘f (A)
Formula of acetaldehyde is ..fi:_:' *\ L Lof Uk ¥ (acetaldehyde) Xy Sth ol | .7
i G~ e i
n-c-H (D) cn,-C-H  (C) cH;-C-O0H  (B) CH3—=CH,— OH (A)
Which one of these is a saturated hydrocarbon ? ¢ o t My R el Ly | 8
CsH;, (D) CaHs (C) CsHq (B) C:H, (A)
When glucose and fructose combine they produce ? te e d 77 u WE|9
Maltose J# (D) Sucrose J.f (C) Cellulose J/& (B) Starch &t (A)
Y. 4 Je1 JW.J&GT = c.lf{.uh’:.haé. Léuf..;.ﬁ -10
The organic compounds used as drugs to control bleeding are
Glycerides J."-’Ifzr (D) Lipids j3 (C) Proteins 9:':..; (B) Vitamins >t (A)
1'4_Jf_'oﬁLi.vc.'_.-{lu'(c.Jdlg}#gf{+fgwfuiﬂae:(f;,{1” 11
Buildings are being damaged by acid rain because it attacks
Calcium Nitrate ¢t r:*r{B) Calcium sulphate 2gb (d‘r (A)
Calcium Oxalate &/T rﬁy (D) Calcium carbonate @A K" (C)
Just above the Earth’s surface is te 2Ll g J’LLU&:}U A2
Stratosphere 2% > (B) Mesosphere /2% (A)
Troposphere /¢ (D) Thermosphere /27 (C)
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12= 4

Annual 2023 J15
Sy CHEMISTRY (5%
DA~ )27 g 2 o

b Lernailus Lt s L)r n43032-BEL e DAABCANZ L Ly g 1 12Uy
£ mr?w.,,muﬁ L §L ‘c/ i/ .;/ UribwlleLl 28 A o\ A1 i S

Rapid growth of algae in water bodies is because of detergent having

Sulphonic acid salts 14 6~ (B) Carbonate Salts l-a2 ¥ (A)
Phasphate Salts L-od5 (Y Sulphate Salts Lzt (©)
The chemical formuls of Chalcopyrite is i Qfenz e | 2
Cu,0 (D) FeS (C) CuFeS, (B) Cu,s (A
Gesoline contain major part in.__.organic compound te bl LU e 3
CuaHze (D) CHyy (©) CH, (® cH, G0l

Whmﬂmmgniiudoofxﬂummﬂlnmdmm

_ % All resctants will bo converted o products - Lok 72 bgu 162 @)
(O 2,

Dlh:tumdmﬁﬂwubmmpndweﬁngim

Hydrogen 214/, (D)  Carbon dioxide Mau@r(c) Water (3} (8) Salt A (A)
_Go> D Pl mta| 6
Saltandbase (2.sliA- (D) Salt and scid J.Mw(c) Saltand gas ¥ s (B) Saltand water dgaled (A)
Identify which one of the mumgmmuw tewlufc filipimzbass| 1
(cHy) CHCL. (D} (cH),NH . (O) (ca),co (B)  (CH),CHOH (A)|

Aﬂmnumpapuadﬂumdmhnhbylpmcouuﬂed S bl el L s e S IS (Alkenes) | 8
Dehalogenstion /*(nf} (B)  Dehydrogenation o/¥Suriust (A)

| A reaction between acid and base produces.

Dehydrohalogenation
When glucose and fructose combine. They produce

Glycol J/i (D)  Sucrose 1.5 (C) Cellulose s/ (8~ Starch §ut (&)

Ozone is beneficial for us as it absorbs
Ultraviolet radiations /72154

Airpollution J¢’%fix (D) °  Choloroflurocarbon #x/Kusbus¥ (C)

Depending upon temperature varistion atmosphere is divided into  —¢-4//7=” LA A opdd s gd| 11
Fommpm&(br Three regions ¢ (C) Tworegions » (B) One region £I (A)

| Salt makes the water permanently hard.
Caso, (D)

f f.a.!t)!fur Jdluf(}t:.;ﬂf(f;jfl!ﬂ” Irr_-ufuf-"-:!'ﬁ 1

S/ 16 I dnferdof Kona | 4
Equilibrium will nover ostablish  orud’ 75 € A1 (A)

Reaction will go to complete l'!;..l,-nd; i (©
The amount of produots is siegligible. (et g (D)
-z M w.cg/,ur;ﬁm;uzf AMistands| s
Mﬂﬂﬁ

o Bebruiass (D) Dehydration /.4t (C)
O I g2 sl ¥ | 9

e S dp— g Il e b g e s | 10
alu Infrared radiations /721544471 (A)

s tdhasi Inred | 12
ca(HCO,), (C) NaHCO; (B) Ng,CO, (A)
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WSTSE ﬁ% s o CHEMISTRY (4
1224 Dé’; K - 2~ n i/

3 LR s f u:}u.ﬁg.ae.p.f_'dlr ﬁﬂrwx_..n?_'g.m SABC M2 M lglly g 1)
...f.ﬂ.u;jll_,al.euf Il §L S .{f wMd S, .p( Usoml e Ll 2%y Ao Bl Adosls

14Ul
One of the following is an aldehyde compound. - IR L St g | 1
CH,CHO (D) CH,COCH, (C) CH,-COOH (B) CH,~CH,~0H (A)
One of the following is a saturated hydrocarbon e M Ll L | 2
CJH, (D) C,H, (C) C,H, (B) CsHy, (A)
Glucose and fractose combine to form 4B L#5.0K 3

Pentoss J¥% (D)  Sucrose 5/(C)  Cellulose Jés (B) Starch & (A)

| e Sap e SR A g et 4
ThoEuﬂlllhumphmongetﬁnghmbmmofmgmmlhmofuw

S0, (D) 0, (c) “£,.C0, (B) coa)

One of the following is a secondary pollutant of air .+w£d;b¢nx..ﬁa_¢ul 5

No®) _ cofc) co, (B) PAN (A)

Permanent hardness is removed by adding (e N ...,-.e-r,],fdmé.&:_)?’du.:.-q 6

Quick lime gLl (D) Lime water )u,‘ li(c) ; Eaﬂahma fuur (B) Na, Zeolite ...ﬁﬂpﬁ!r 7N

A disease that causes bone lndtoothdmage -q-%-f .pl.(l..m.,.lﬁﬁu}‘bmuﬁ 7

Cholera 7 (D) Fluorosis gr"mi ©  Joundioe o (B) . Hepatitis by (A)

mmmmmnmwmmm ML LIS P Flsrr Bhagesy| 8

Catbohydrates AN (D)  Fats U2 (C)  Suger P (B)  Proteins #5g(A)

Matte is a mixture of A" (Matte) 22| 9
CuS & FeO (D) Cu,8 & FeS (C) Cu,0 & FeO (B) FeS & Cu0 (A)

The colour of iodine (1,) vapours is e F Mot S8 10
Blue ¥ (D) Redl,” (C)  Puple ¢ (B)  Colourless —Ei4 (A)

The bond between Lewis acid and base is bty al alisL| 11
Covalent 2455/ (B) Tonic FET (A)
Hydrogenbonding F¥icPutft (D)  Coordinate covalent widsdf STy (C)

The salt used as table salt and cooking purpose is .4.rn..ﬁm¢qru1m¢»£w¥xw 12

Na,S0, (D) NaClo, (C) Ns,CO, (B) NaCl (A)
20 (Obj) 1" Anmual 2023  SEQUENCE-2  (PAPER CODE 7484)




PAPER CODE - 7482
10" CLASS - 12021 CHEMISTRY 4
12= /:‘2‘)’:.'.-'*15 = =1 U"'y".n# 133 :..'.,J
b Lo na bl sl £ pgdfyz-teD s A, B, C A2l deLlrp =iy
Ui b zulalemr §E S Sl S nimiia L0 A e i) Adhiis 5

mg -42-2) LA
Matte is a mixture of | 4 Matte) 2 | (1)
FeO o CuS(D) FeS s CupS(C) FeU u Cu0 (B) CuS 4 FeS(A)
In Solvay’s process slaked lime is used to e bl U1l ST gz nd 2t e M | )

Prepare quicklime & £2/£tzuful (B) Prepare CO, & £4 /4 CO,(A)

Form Na;CO; ¢ L2t Na,CO; (D) Recover ammonia &-Z2/Fuiri (C)

Ionic compounds are soluble in water due to wdertﬁlhc--nﬁjﬁbf E4T | (3)
Ton-dipole forces .3 J¢du_o7 (B) Hydrogen bonding £¥ic?s.4 (A

Dipole-induced dipole forces .7Jydil-#Jyds (D) Dipole-dipole forces »AJyfi-Jyds (©

Which sphere is just above the Earth’s surface te Pl gLl St | @
Tmpmphm 7§/ (D) Thermosphere /&»,2 (C) Stratosphere /&% 2 /(B) Mesosphere 7+ (A)
' Infrared radistions emitted by the Earth are absorbed by wam_..,ggf PSPl it | (5)
CO; st O, (D) Ny COz(C} 02 s N (B) H;O o COy(A)

C“'\.n{_\

Which one of the follnwmg is tasteless ? PN tetn g bufe iz | (6)
| Sucrose s~ (D) chthw ;f; (©) Glucose ;¥ (B) Starch §.£4A)
' The reduction of nlk]rl halides takes place in the prmnce of te-dmtlszr S et WX S | (D

Cu/HCI @)  Mg/HCl (O Na/HCl B  Zn/HCI (A)

Oxidation of Ethene with KMnOy Qmﬂnws te bafflofe s T L KMnO, Ju | (8
Propene Glycol J/(ififs¢ (D) Effiene Glycol J/§¥e”™ (C) Glyoxal J/TJif (B) Oxalic acid tafi/T (A)

The functional group — COOH is found in Tetblyl/-COOH ./ 8 | )
Esters j%% (D) Alcohols )i (C) Aldehydes sty (B) Carboxylic acids Jis L[4 (A)E
What is the pOH of a 0.02M Ca(OH), ? fe.i/ POH (o +0.02M ZCaOH, | (10)

1261 (D) 1231 (@ 1397 (B) 1.698 (A
N; +3H; = 2NH; Kc =2.86 mol? dm® BLEpAL S ki iae panLicPsbuncs Fe | (11) |
Wzl L g5 Ak

Nitrogen and Hydrogen were reacted together to make ammonia
N;+3H; = 2NH; Kc=286mol”dm’®  What will be present in the equilibrium mixture ?

Only H, i~(D) Only H; s N; &7 (C) NH; » Hy , N, (B) Only NH; i~ (A)

B L e Lt SIS L | (12)

The characteristics of reversible reactions are many, except following one
' Products never recombine to form reactants 2t 2 g, Tl (A
| They proceed in both ways WZaBbutiMuing (C)  They never complete 35,7 £U5W . ()
L They have a double arrow between reactants and products 12214 g 5 ot 4 aten (D)

PRI LT TH & S5 Sodh d s o = =

|
|
|
|




PAPER CODE - 7482 9- b\.\Q-

: . 10* CBLASS — 12020
12= A e 15 = =5 Sy (CHEMISTRY)

AL

DG -10- 63-210 (GROUP SECOND ) 751/
f.d.:r;fiﬁl-':‘JPLTJiu‘VJJ&JUJ;'JiQWD #A,B,C yzfhlJrs L=hig

Corir? .LU..,.J.F.’uf AL J i/ .;.fr ...-ﬁ;.r_f 41" UrAsesk Skl _é': Aech L

1A

Settundbuis b s st oSt AsbiL R s

meﬂchmcompamblemmofrmmmdmdmmuqdﬁbﬁumm have
Very large K value < dmsvera§ Ko (B) Very small Ke value oG crdsf Ko (A)
Moderate Ke value ¢ Jsdpndf Ko @) ' NoKevalue ¢dn(/f Ke (©
In an irreversible reaction dynamic equilibrium o £ ASEISER R PESIE s10
Establishes before the completion of reaction ¢ ripnfs&ie-Ln} o iAB) Establishes readily orten /6 srioee(A)
Never establishes % (Fd'r (D) Establishes after the completion of reaction .:_Lﬁ-“.- yma.:r;.,"‘ru'f A0
Which one of the following species is not amphoteric ? .;.uﬂ’._a,é;-’lgf/:,.; Spas
| HCO3! (D) NH; (O HO0 B 5037 W
Water of crystallization is responsible for the AN e s M RIS ST
Transition point of crystals fesiyu?71/L# /(B) Boiling pa{nﬁ\oﬁ/ryﬁﬂn ¥ Bl P S (A
Melting points of crystals ¥/~ 17 2 LF/ (D) AR \ a ~ Shapes of crystals ¥Jei(#/ (C)
Which one of the following does not contain protein ? ,rfw:\ % Sazrdig b etdipue
Beans u!u:!’(D) quqesu- JAC) Potatoes Lui'{B) Eggs St (A)
' The order of reactivity of hydrogen halides with mu et S it s A £ (Alkenes)
m:-x;gg;m""“ HBr>HI (O HCI>HBr B  HBr<HCI (A
Which one of the following vitamin uw soluble ? e Kria st rintizie
Vitamis Bifey (@) Vitamin A % (C) Vitamin E ot (B) Vitamin Cort(A)
Which of the following is a reducing sugar ? oS Epas fatdizin
Sucrose 1~ (D) Starch 3. (C) Glucose 5% (B) Maltose /(A
Carbon monoxide is harmful to us because Sl B e saiA vk
It damages the lungs tissue <./ w/# s, (B) Itparalyses the lungs < (/247U (A)
Jt reduces the oxygen carrying sbility of hemoglobin ¢ +/7 2 saf it Lwtfr ndoF 7O
' It makes blood coagulate ¢ ke /L7, (D)
Which one of the following diseases causes liver inflammation ? eFrttir§Bslesof etdizie
Typhoid xuD) Jaundice w6,(C) Cholera .« (B) Hepatitis o~ (A)
| el e Gt iss s ol e tLiom

Which one of the following diseases causes severe diarthea and can be fatal ?

Typhoid (D) Fluorosis »:.# (C) Cholera .2¢(B) Jaundice o5.(A)
Which one of the following is not fraction of residual oil ? SIS s & e pilipsic
Petroleum coke /%% (D) Fueloil J7J¢ (C) Asphalt 2ot (B) Paraffine wax i1z (A)

&

20 (Obj>-12020-60000 SEQUENCE - 1 o

w |

@

(&)

@

()
6)
€))
@

&)

10

an |

a2




PAPER CODE - 7481 D Lo - //,_/0,7

(10® CLASS - 12019)

215 = =5 fD)  tger/ (CHEMISTRY) /4
12= A J N 2017-2019 F 20152017 ¢ S

f,u’.mpcxwﬁgz_—.«m—_‘;wmia,:a.vz’.dr,.-x,qr@z-.,zia.J D A,B,C bzl leldirs
l':t:.r';m._.dﬁufi L;:-Jfbri_f4.;~b|1_i;/4fu:}l:t:§J';-.gf _EZ‘}/‘:.U_#E

=kla

1A

?Hzm + l_');w—?-'p 2H; 0, this reaction is an example of ‘;'.Jlf-.;f":Id.p.: ZHp, + Ozw"%t" 2ZH20¢)
Ireversible 7.4 (D) Reveme i, (C) Forwad 3n5(B) Revemible .z (W)

- Usually meant by active mass ";sl,ra.vfkr'f/.«?rk
Reactionmate £z 51, (C) Reaction Quotient =/ 15, (B) Mclumgmgm E I

xpression HAA K D)
Cpdrdit 2t LBLS S
NH,OH m:%\é?&. Mg(OH), (B) NaOH (A)
Acid is s substance that gives Hydrogen ion in aqueous solution (1 -7/ BTl P B s
Lewis /'« (D) Anhn;u\@v‘ (C) Bromstedlowry S/27:.(B) Davy J#5(A)

Benzene ring @ is an example of f\:\@\‘{ < Je @ Lag e
"y compound 55/ %s4 (B) Alicyclic compound kfgf.ﬁ_-"lq}_f (78]

Cﬁﬂ\\\‘j\” Straight chain o<~ (D) Heterocyclic compound 57/ &4, 2" (C)
Ouofﬂmeisuaduou.lyutn\ process PRPN I N et ol )
PMm N Pr@® NQ®

Amino acids which cannot be synthesized by our body S e ez baiue

The base used for the treatment of bee’s sting is

Aminoacids 145U(D) Essential J*% (C) Proteins 75, (B) Non Bssential gt (A)

Is not a fist soluble vitamin ? q-ufw“thJu;J l

Vitamin B "¢ (D) Vitamin E/'t;(C) Vitamin D o'ty (B) Vitamin A /22 (A)

Life gas for plants is q_u"-r_ﬂ'ﬂiﬁuu;
0, cH (© co, ® co W

A layer of salts of Mg and Ca in Boilers and turbines is called ;.JM.FJJ’L»L("’:? wf X 2F pmibri
Pollution ¢/% (D) Sand 2(C) Gangue E(B) Scale £ (W

The following disease is & canse of inflamation of liver e 2§ §F S lits
Cholera 1/¥(D) Hepatitis .- (C) Typhoid i (B) Jsundice i .(A)

Used for the reduction of NO, pollutant in sutomobile systems ctnJen2 Lo S 4No, 24 St

Calcium carbonate .:gyr(""l-f (D) Ammonium carbamate 2§71 (C) Urea L.¢ (B) Sodium Carbonate .2+ (A)
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PAPER CODE - 7482 / ﬂd%’é) 1o ~(3

(10® CLASS - 12019)
218 = 5 (if D) \poes/ CHEMISTRY /4
12=#F T 2017-2019 © 2015-2017 : F L
Sidoin 3o Lo neLisind s Edr 14 Q032-L L6 sDH AB,C cMzK gLz ehia
€ o a3 foir LS4 S M S i inhie k) -0 A Bl
1Ay
The colour of iodine gas is q..l'ﬂ_fafu{'_i.rff 6))
| puple f, (D) blue L(C) green x(8) red L/ (W
I equilibrium state K, is oqual to ettt SEASE | ()
To O £® Fw
Whhhmdﬁoﬁﬂwhghsl:ﬂsb;n? | feal #Lfclfd-ufdiiw (&)
AICl, @) u(@é,xx,“”fui, ® bR, W
Which acid is used to cure sting of wasps 7 fﬂf}éxdwwvuﬂzwé.ﬂéﬁ 4
lacticacid 1J_C0(D) sceticacid Lu L (C)é@&« L2 0\B) Uricacid L So7 (A)
In laboratory urea was prepared by Q1 WLl LS LS | (9)
Dalton (D) 55-5@415:4(6 Rutherford §,/.»AB) Wholer s (A)
“TH8 end product of Oxidation of acetylene is {\OG e bR AT (acetylene) o271 | (6)
ethane glycol JIJJJ'W JTE£(©  Oxalicacid 20017 B) glyeol JIIFA)
Mmufumu.ﬁw; e F ol tdits | (7)
sucrose 5.~ (D) starch 3.4 (C) fructose ¥/ (B) glucose 35 (A)
Molecular formula of stearic acid eV i) 2wt | (8)
CisHyCOOH (D) C;;HssCOOH (C) CyHy,COOH (B)  CysHy COOH (A)
Just above the earth’s surface is : te P ud ALl et | (9)
stratosphere /2% ~ (D) thermosphere s 7 (C) troposphere /<y»/ (B) mesosphere <12 (A)
Specific heat capacity of water is e F e/~ 5k | Q)
241K @ 24K)g7'KT (© 42KkIg’KT (B) 421K W

Which one of the following discases causes liver inflammation ? teFurbfird Foisol Adita | (1)
Cholers 7 (D) Hepatitis ~*tis (C) Jaundice w5.(B) Typhoid XG2(A)

Which one of the following is used as labaratory solvent ? tednd s ad M Js ol e tdits | (12)
" Petroloumether ;% (D) Fueloil J7J2(C) Dieseloil STz (B) Keroseneoil J7e2sZ (A)

20 (Obj)~12019-60000 (NEW) SEQUENCE -~ 1




PAPER CODE - 7487

12018 VUM () b/ G
12= AF, or15=25 (ghing ae daam 2016 - 2018 8 2015 - 2017 L
o3 WL R erne LNHE sl Irng ¥z £ & D0C B AN s+ 27
G 2ol b S LS ey L S f nnshie i eSS
14"
Which one of the following salts make the water permanently hard ? f f..l'h..-:-"i.F" 7 Ggﬁf-:.uﬂ-'-'vkﬁié-’ %,
CaSO4 (D) Ca(HCOg)y (C) NaHCO3 (B) NayCOs (A)
The gas which is used to destroy harmful bacteria in water Is q—&:‘dﬁ"liﬁi_f? ! )‘:..;,J:kam-r -2
Bromine ofx (D) Flourine s%(C) Chlorine ofs¥ (B) lodine o/IET (A)
Which one of the following is not a fraction of petroleum q.pﬂ’ur‘fﬂrfagffc-gxwl -3
Petrol sk (D) Alcohol  JHi (C) Diesel oll JT Uzt (B) Kerosene oil LW (A)
Equilibrium constant expression for the reaction 2A+B _—3C u’-',;‘ l.:-:-‘-il'ﬁ;!df ffJ_L_cr'{lu’:i{.a -4
cf © B (© (A’B] B)  [2AIE] ()
(Ar’(e) 2AIE) \ch 3c)
LuneiL Ke SU1 ;,gz..ypms JJ Cly ui PCIy Lofigagi
For a reaction between PCl3 and Cly to form PClg , the ulﬁﬁéfgé}‘;';s
mol-! dm‘{g;;j;i%i:i dm3 () moldm? (B) moldm™ (A)
Which one is a Lewis base ? R4 {/ AR L -8
\\ NH, (D) AICl, (C) BFy (B) H* (A)
A reaction between an acid and lbajn ;;uces .;,thr..rf{ IR AT VLT =T
Saltand water ({sC (C)Salt and a base /Ls\C7 (B) Salt and an acid AL (A)
Salt and gas vl (D)
General Formula of alkyl radical is i) RSO 8
CnHanq O) CpHznez (C) CpHaneq (B) CpHan (A)
Which one of the following compounds is a saturated hydrocarbon .;_gurugu,.ﬁ;w’;.u:mt&{p{, -9
Propyne /by (D) Propene fi¢ (C) Ethyne JWH (B) Methane = (A)
Protein make up percentage of dry weight of animal cell e tnhry 2unE N BLEYZL 10
100% (D) 75% (C) 50%(B) 25% (A)
Which one of the following is tasteless eIl Ly -1
Sucrose ;1 (D) Fructose 5 (C) Glucose #¥ (B) Starch §/ (A)
12

Acid rain effoct the equatic life by cloging fish gills because of ¢/ *Pe a UM ISL S sl uddindiz

/)

Aluminium f"il (D) Mercury /7 (C) Chromium (-’.u( (B) Lead = (A)
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The bond angle between H-O-H in water Is et Jeidy 2 HOH Ll -1
104.7° (D) 104.6° (C) 104.5° (B) 104.3° (A)

Which one of the follov;rlng salts makes the water permanently hard q.-b‘hhi.»ﬁ.;ﬂlwvb'e&.uﬁdw 3
NagCOs (0) NaHCO3 (C)  Ca(HCOg)y (B) CaSO4 (A)

Formula of Urea Is ¢ Ursi¥ g -3
NH,CONHg (D)  NHaCONHg (C)  NH2COONH (8) NH,COONH (A)

Units of Kc In the resction Ha+ 1, === 2Hl are AL Ke £ Hprly == 21 S -4
No units ted/ @ Moifdm2 () Mer!dm® (B) Mol dm>  (A)

Colour of lodine is N LT -5
Yellow U (0) R‘ﬁ;._:f_f;l'-;bl purple ¢ (B) green ¥ (A)

Which is Lavoiser Acid " it -6
) 2 ,, NHy (D) HCI (C) H,S0, (B) €O, (A)

Which lon is the conjugate base of Sulphurlc Actd \' .;.MA‘WMJ&"JTW "
so’: © 8 (© HSO; (8 HsO; (A)

8

The general Formula of Atkyle Radical is | PR PAIL]
CpHan B CnHzn2(© CnHanet B) Cnhanez W)

Halogenation of Methane does not produce ‘ uwky’ufp¢¢mu%J (Methane) 2
Chloromethane 2w (C) Chiorofarm ,-,s,;,r (8) Carbon Black Geik (A)

Carbon tetrachloride ¥1¥ 2t ¥ (D)

Which one of the following Is disaccharide q.iﬂ;'tjliﬂa-ydiw
Sucrose JuF (D) Starch Bub (C) Glucose ¥ (B)  Fructose #A)

Which one of the following vitamins Is u;'ltor soluble | q:.t:-rJ.JMGkL-UL-.u: ) b
E (D) D () C (B) A(A
Normally rain water Is weakly acidic because of @buﬂﬂ&..mfﬁfdkfd«k;)ﬂ

SO, () SOz (C) NOz (B) COp (A)

-10

=11

-12
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Note:= You have four choices for each objective type question as A, B, C and D, The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
_ Pl A A A T U e 2 | 1
CiaHge CsHg CsHs CiHy4 Which one of the following organic compounds is
found in gasoline?
Bt LS, hifiec LIS P Fo | 2
Hy i HysiNy 32 | NHyIN, H, NH;J~ K, =2.86 mol™dm®
T Lmnr Wt £ £ 6k
¥ L]
H; only Nz and H, only NHyonly | Nitrogen and hydrogen were reacted together to
make ammonia; ) O,
N, #3H, =2 2NH,
TP 2, 6
A %ﬁ? .86 mol*dm
W‘hﬂ&qﬁh present in the equilibrium mixture?
P @}‘ Ce e AW S | 3
HSO; HSO; 57 502 QNI |
. RW}hich ion is the conjugate base of Sulphuric acid?
s b o 4
Y Q_‘J\.{“"J _Ia.t':t{',‘;z S L¥pOH wipH L7+ £25°C | 4
16 14 12 WEel2
PRLY The sum of pH and pOH of solution at 25 °C is
'{1‘\\" "": ” _‘LQI{U/LLﬂ}i'ierZJ,?JFL{f&D 5
(CH3),CHC1 | (CH;),NH (;G@&; (CH3);,CHOH | Identify which one of the following compounds is &
QY _| Ketone?
Ly 1 : . .'l ¥ she
cu/HCl Mg/HCI | Na/HCI zn/HCI "'"d”‘,’:d”’?" S wtdiprin 5655200 | 6
: The reduction of alkyl halides takes place in the presence of
¥ nk ik Bt <t S L 3|
Glucose Sucrose Cellulose Starch Photosynthesis process produces
Jﬁ&h—’-‘t ' L:"'Jd?l.{f s 7 Sl Ly te Gk el SEs s | 8
gt SEHREIn i Deficiency of Vitamin E causes
blindness babies Scurvy Rickets R :
L0400, | COMiNy | NpslO, | COmiH0 | SlOnmeie U AP intboects | 9
; Infrared radiations emitted by the Earth are
0, and CO, CO; and N, N; and 0, CO; and H;0 absorbed by
K ¥35 ##30 K K15 #E1 —eszr S Pussl y | 1o
35 Kilometres- | 30 kilometres | 15 kilometres | 11 kilometres | About 75% atmosphere’s mass lie within
el 1 s sote te Forblir§ Ehsofavtdizome | 11
Hepatitis Cholers Tanitice Typhoid Which one of the following diseases causes liver
inflammation?
-1y, -1 -1y, 1~ -1y, -1 ??-Jf"kﬁd—j‘?’ﬁ‘;d”{‘ﬁvr’;Jdk 12
24)g K 24klg K 42]1g K 42klg K ) ) .
. Specific heat capacity of water is

i/'.;/ ) ?'_-/ i

1035 -1024-32000 (2)
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Notei- You have fo oices for each objective type question as A, B, C and D, The choice, which you think, is correct; fill that circle in
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(D) (€) (B) (A) QUESTIONS Q-1
APt Lo Y £74 gt ce Ul B L St |
Troposphere | Thermosphere | Stratosphere | Mesosphere | Justabove the Earth’s Surface is .
MgSO, MgCO; CaCO;, Ca(HCO,), S| ¥ S VYTt Pl
Temporary hardness is because of
2y o s LT ety fa"i-fr’ L wezr 2L |
Bromine Fluorine Chlorine Todine Which one of th Mﬁ“‘ing gas is used to destroy
harmful bacteﬁl)l water?
450 °C 400 °C 350 °C 300°C 4 \C’ Lerrf-f,é,cjg/,uﬁu’/fJ /) 4
Cﬁtﬂh ﬁil is heated in furnace upto
e
A 1Lk P68 it pCl e Clymipel, | 5
mo! dm’ mol ™' dm’ mol'*dm™ mol™ _gﬁ%}“
P For reaction between PCl; and Cl; to form PCl; the
\ N units of K, are.
1: *‘v The conjugate acid of HP‘O“2 s
. Uy ‘.blg_ﬁ-.j_- J’ﬂf
CnHZn Cn H2n+1 \Sfﬁzn—z CnH2n+2 ; i ! =
General formula of alkyl radical is.
2H, , CO #ICHy ,CO | »ICH,,CO CO.sl CHy - ﬁr L/!LJ-"’ 8
CO; H; CO; CO and CH, | Coal gas is mixture of .
CO,H; and CO,CH, CO,CH4 and
Co, and H, CO,
Lz ,{J,’ran..cgn Wi D L | 9
A hydro carbon has C oSy 6/ 0 A &
CoHiz CoHz, CsHig CoHis molecular formula of CgH,4. What is the molecular
formula of the next member of same homologous series
D s Co/bs E/ s At e il Epeste 8l St | 10
Vitamin D Vitamin C Vitamin E Vitamin A | Night blindness is because of deficiency of
0.03% 0.93% 20.94% 78.09% e N w3 T in | 1]
Percentage amount of Argon in Air.
Ano, | Aso, | Aco, 750, ettt e 2§ S T Ayt | 12
NO, gas SO, gas CO, gas SO;gas | Normally rain water is weakly acidic because of

1025 -1022-65000 (3)
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font of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,

L1505

otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1
KE1 #K30 K5 K K35 s 2r LS w30l T |
11 Km 30 Km 15 Km 35 Km About 99% of atmosphere’s mass lies within
LW QWi | eaydir Fuse e WP UL gy | 2
Quick lime | Lime water | Na, zeolite Sodalime | Permanent hardness is removed by adding
ekttt o B X Which ¢ &6 Lorsofetdisne | 3
Hepatitis Cholera Jaundice Typhoid one of the followin, ,41523,;::5 causes liver inflammation
1‘}_{1 J £ /S| a4
450 °C 400 °C 350 °C 300°C @ (TEfRS LT HITS |
Crud;«pgiwﬁs\'rfeawd in furnace upto
& ask > & o ) 7
£/ L‘f"'(ld.l Jug s/ ulu""‘ld,- L ‘_f:ld; _ {{\-\ A< L):s.‘z)hr(,;ﬁ/,éd;gf..fﬁ-lj 5
; & X (AN
b g _'gfd"-rl s | yasd u’fh.; B’Im..,f:r;.::? fALdyuamm equilibrium
Reaction can c"_.i:‘n..:lf, u__g,j,g_,ﬂ,. ‘:"Vﬁg};\‘t
Speeds of | The amount feior
no longer be B e Th‘? {1\_?\;‘:__1:10n ok
reversed reverse olreactants 1( ‘stopsto Saeid v
reactions | and Pmd“ﬁ‘\\“"' TR e
procee
o — ~ are equal are Aﬂa&t )
g Ce bnJeeh gl S &l A | 6
Na;8i0; CaO NaCl CaCl,
Which one of the salts is used to dry a gas?
Nl SFap e e3P .2 T SR APy 4 B
Condensation | Resonance | Catenation Isomerism | The ability of carbon atoms to form chain is called
e OLA Uss ¥ P GJ_;;"M.-,JI e LSipiur | 8
Silk Nylon Wool Cotton Which one of the following is a synthetic fibre?
IJIJJ'..”-';. LJ-{J l‘ii-’:" J-{lelf H'J'}"T ?t;-ﬂﬁkrb’dfﬁ-w‘iw;kﬁ(h{n04 l!(Ethcne)c,C’-'"l .9
Propane Ethene Glyoxal Oxalic acid | Oxidation of ethene with KMnO; produces
Glycol Glycol
E nF AP Bt etrige S L 0 | 10
Glucose Sucrose Cellulose Starch Photosynthesis process produces
T?—tﬂJjﬂ,’(&-;’Jwac}deKJJL!J.lbrkﬁ 1
NO, SO, CO, S0, . R S, u
Normally rain water is weakly acidic due to the gas
.?JJ-.E'J')J.’{-{_E'HJ“[UG C‘JJA:".G-HE‘J'!J" 12
05 NO, 50, CO; | Global warming causes rising of sea - (5 s’
level, The cause of global warming is

1027 - 1022-55000 (3)
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result in zero mark in that

question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will be responsible for the situation. Use of ink remaver or white correcting fluid is not allowed

(D) (C) (B) (A) QUESTIONS Q-1 |
s L{JJE L_’:”B' ;)‘_3;_""7 Jdb}lfrgfc}ff_l.ﬁi.)?’giga;uhﬁ:ﬁr’gﬁ&[:_ A
Bromine Fluorine Chlorine Todine Which one of the following gases isused to © <db
destroy harm il bacterin in wuter?
- 1.
Fe0xICuS » CupS #Cuy 0 CuSslFes u{ “'““ & /:’ 22| 2
Cu8 und Fel FeS FeQ FeS and CuS | Mattc is a mixturc o @
Cuzs wnd C‘U.zo and { ?:T’;
Fes FeO RRAYS -
Ca0 CaC0; | CalOH), Co, Q @\?@g@q_rgﬁfmancoyﬁ 4
E {% aHC Q&-is'eh;&'atcd. it forms
s (3] 2] | [24]( N FAsE L2805 + By = 36y 7161 |
@ (A1[B) o il
J | @ . e I Y
[A12(n] | (24][5] [CP [@ * i L
A\ o For the tc.’l_d_}_]_ll,}l";l-:%fl(.q) + By 3C¢gy the
oy AR expression f6r¢quilibrium constant is
s ENSs | Satantindi |l \X N 215, LA AL | s
V) e KPS P s teSie-% | Atdynamic equilibrium
| Thereaction by Aag A& 4
cun no longer 'm': ;g::,g rgr A0 The reaction
be reversed. and reverse stopst
rcnctiongdre | Camamta &y
equal of reactants proceed
and products
are ¢gual
| 1zt 12.31 1.397 1.698 tepOHS S+ L Ca(OH), 0.02M | 6
What is the pOH 0f 0.02 M Ca(0H),?
CrHzn Calans1 CaHzn—2 CaHan+2 ”?Ur’ﬁdﬁgﬁj"‘jﬁl A
General formula of alkyl radical is
CBHZD CgHyg Calig CzHg ?:‘:_u:'flii_fi'tOctanc)ufﬂf 8
What is the fonnula of Oclanc?
el 1,50, KOH NuOH ALY LSS | 9
Dchydration of alcohols can be carried out with
&t nk i ¥ _?_i’I;‘Jlil.—cha_;ﬂytibn .10
~ Starch Sucrosc Fructose Glucose Which of the following is a disaccharide?
04 NO, 50, co, cevfgulal Btk | 1
TS R TN e e L'lfl}clgi_t_u]_sc of global warming is _
O3 N, | CO Co, e = ASanet I St ol | 1
Which gas protects the Earth’s surface from
I - ultraviolet radiations?

1025-1021ap-65000 (4)
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct:
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
Use of ink remover or white correcting fluid is not allowed.

(D) (C) (B) (A) QUESTIONS Q-1
WU s ; Ll
s a, N, o, e Qe SUEI Aol Lo Sy 1
Which gas is used to prepare ammonia
1% K, K Xz K, is equals to el K| 2
K’ Ql' h' i' Kl‘
: i Fof i :',' ;
HNO, co, fﬂm HCl USRI | 3
: Which one is not-an Arrhenius acid.
f&'\-’""][ .’Jr.(-_./(i.
CH,COOH HNO, HC! H,PO, -+ SRR e LLIHI4 | 4
Which, acid is used for food preservation
T bt | enf g rf\?\\{ ) - b K 90% 2 2UF | 5
b ( e
Bituminous Anthracite Lignite Peat| /| Coal having 90% carbon contents is called

= % L
LD MLST ] MK ,@W ¢ bl o P4 T (Alkenes) | 6
5 & {:: |\"
Formic acid Oxalic acid®- Blycol ,\}L:thoxal Oxidation of Alkenes produce
SN

: e Ui L] 7
C17H5sCOOH | CigHiyCOOH | CH€OUH | CyqH;,COOH e =
~\ WV Formula of Palmitic acid is
N » - Fa #
A i - Fg J= %L 4.6 |Thousands < L’:;._u‘ﬁ?!,d; JJL—.‘IPi.luuij; 8
Vitamins Lipids Proteins Carbohydrates | of amino acids polymerize to form
e bl il 99% KL A1 9
11 Km 15 Km 35 Km 30 Km - Pel AT 99%KUL A
About 99% atmosphere's mass lies with in
e sty Eu i 3| 10
-10°C " P 100 °C 10°C L2V
Freezing point of water is
< O B8 AL a%c| 11
100 gem™ 1 gem™ 10 gom™ 2 gem® = U U"’:Jd, {
: The density of water at 4°C is
S s STy STl < FPes | 12
Alcohol Petrol Diesel Oil Kerosene Oil | Which is not a fraction of Petrcleum

1085 - 1020- ss000 (1)
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct;

fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.

Use of ink remover or white correcting fluid is not allowed.
(D) (c) (B) (A) ﬁ%‘s Q-1
R /R, R/ R, K /K, KK [Keis aEJEquat to e Orse 22K | 1
- P ol . 2 - 5 i
w8 by | SN [P | feditlsk e 8 Inf et s Ko | 2
d’x ,*r =t i bx Z.u_’il_mid.-’vf O s When the magnitude of K_ is very small it
The amount of | Reaction will | All reactants will| Equilibrium |. dicat
products is go to be converted to |  will never | 'Nd/cales
negligible completion products establish . N\
) A .
3y r© 3 o
Na,SiO, Ca0 NaCl Na,CO, Ly SdEa il LB A s
Which one of the’following salt will use to dry a gas
U PRI (W il IS P35 2 23 I/ o {"@*‘\9 - JEKee| 4
Complex salt | Mixed Salt Double Salt | Normal Salt ’?ébs an example of
bR %L 5
90 % 80 % 70 % so@v“ PR T SRR
NN Amount of carbon in lignite coal is
AITuk | S Tirak | draksir QU - dnig = & S L (Alkanes) | 6
..EE s __ﬁ O RSN }/ ST Incomplete combustion of alkanes produces
Carbon dioxide | Carbon monoxide Ce Carbon
and carbon black | and carbon black | merioxide only | dioxide only
- T‘/ ta .
ak 33 A B e S e Ldiper| 7
Sucrose Fructose Glucose Starch Which one of the following is tasteless?
B L ez U WLl Srtksn| 8
Funk F.Crick J.Watson Lewis Who proposed the name of vitamins?
p of . W¢ e VVE U AZ Fhnldenid] o

I Four Three Two One Depending upon temperature variation,

i atmosphere is divided into how many regions?
u{}f; c):g,g w_r_r_r{ ;,:»5 JJPlu{ﬁ’é.LL/Fjg/ég-:uLﬁxﬂfuﬁgg 10
lodine Bromine Chlorine Fluorine | Which one of the following gasis ‘< Ji

used to destroy harmful bacteria in water?
4 gem™ 3 gem™ 2 gem™ 1 gem™ - &.rl‘ d"éi wlic ol Jdk £ 4°Cl 11

, Maximum density of water at 4°C is

I[ . e P

| 450°C 400°C 350 °C 300°C etV LA A S TS| 12

| Crude oil is heated in the furnace upto

1085 - 1019- ss000 (1)
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct
fill that circie in front of that question number. Use marker or pen to fill ihe circles. Cutting or filling two or more circles
will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both
sides of the Answer Sheet and fill bubbles accordingly, otherwise the student will be responsibie for the situation
Use ofink remover or white correcting fluid is not allowed.

(D) (C) (B) (A) QUESTIONS Q-1
Ca(HCO,), caco, MgCO, MgSO, e dnadFbdg | 1
Temporary hardness is because of
400 °C 450 °C 300 °C 350 °C “ Se bW W/ EFEAS RSS2
Crude oil is healed in the furnace upto
Ly Js 3 e AN RN AV I
Red Purple Green Blue The cdoﬁéo;lz gas is.
Elk | sk | erd er LT {8 n\ Y eS8 Q. <K S| 4
Speed up Equilibrium Reverse Fomrnrd(J I1 Q < K, what will be the direction of
gradually state I};-\gl.j > |reaction?
O\ AT A ;Pl..ﬂ: f:gﬂ R ' Tl T

~\ O\
Malic acid Citricacid | Formic acid")| Uric acid Wmch“amd is Jound in apple?

"
Y

HSO; HSO; &,s‘? . YN {1 5207
A The conjugate base of sulphuric acid is
A3 Ui i Wik by bS] T
Dailton Berzellius Rutherford Wholer In laboratory urea was prepared by
L6 YN I J 10 e la it TS (Akenes) | 8
Formic acid Oxalic acid Glycol Glyoxal Oxidation of alkenes produces.
¥ Bk 7 nk fetnslie Lufe S| 9
Glucose Starch Fructose Sucrose Which one of the following is tastiess?
E/ts Dt Cts At ‘e dn B ette J Sty | 10
Vitamin E Vitamin D Vitamin C Vitamin A | Night blindness ie; because of deficiency of
oy Avp Pk p Aort fe Arolp S L] 11
Troposphere |Thermosphere| Stratosphere | Mesosphere |Just above the earih's surface is
24J4g7K" | 24KIg'K' | 420g7K" | 42 KIg'K! fe J"f-.a: Sy :.'5& 12

Specific heat Capacity of water is.

SGp 1067 A.1018- 30000 (3) SGph—to-2-1g8
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Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill that circle in front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

. SECTION-A (s SWL —|—2Y o
Q.1 Questions /=4l» A B c D
" . , y ?ﬁ:' 2 L—-u}f.‘:fuﬁjl-ét’Juﬁj //_:vr_.'.‘ ﬁvﬁk /,.';,,.f; ,?{Jj
lustahoye the Earty eauriace ks Mesosphere | Stratosphere |Thermosphere | Troposphere
T:."_Jnu:JJ:T!‘JJQ-Ji’;;:fL;JJl’L&fJIﬁT
2. IThe reduction of alkyl halides takes place in the presence Zn/HCl Na/HCl Mg/ HCl Cu/HCl
of:
" e pFdolevde ¥ 35 nF B
" |Which one of the given is a disaccharide? Glucose ——— Sitas starch
i ?ﬁi—ljﬂdi‘ﬁ- JL)J > IJ;-’#I:;.;:JL( L; o B:Jﬂ Al E,L,"‘ 7] C s D ks
" [Night blindness is because of the deficiency of: baniin \‘\M:éamm ; Vitamin C e
N
teded A STl o A A
B faas o T o SO\ ga HSO; HSO;
Which ion is the conjugate base of sulphuric acid? f&{\ L)
F ../_,‘ i
(Continued / PTO) " \H:x (idnleile
Questions /=1l» ~\ OV
R ~
AN B drJs ¢xs fAUS
: ._'-.21\“‘:': Coal Coal gas
° Pitch is black residue of: ~n) g Coke Coaltar
( &';L,GJ:JJ etz NH;3 BF3 H* AlCl3
g Which one of the given is a Lewis base? 2 .
_Lgl_b;grlﬁf::flws;-gfn-giwzﬂjﬂﬂ'cﬂift
Ny+3H, === 2NH; K.=2.86 mol? dm®
?b’””?”g"‘:ﬁr‘éﬂw’g NH3 N2, Hz, NHz N2, Ha2 H2
8. Nitrogen and hydrogen were reacted together to make
ammonia. -
Np+3H, == 2NH; K=2.86mol"dm
What will be present in the equilibrium mixture? : - " -
te PP e di LU (A ke wgflr Forte Q¥ z 2
9. ' : ing: Na,-Zeolite Soda lime Lime water | Quick lime
permanent hardness of water is removed by adding: ax-Zeo
-« £ (matte)Zs| CuS. Fes FeO s Cu0 | FeSu CuS FeO.uld C:SO
* S and FeS | CuS and Fe
10 \atte is a mixture of: _ FeSand Cus | Cuz0and FeO Cui’! =
B Wi b z =NO
tetnttaf cans QAP (e s 503 2 o, 50, o 2
4 Normally rain water is weakly acidic because of: SOs gas CO; gas SOz gas 2 gas :
y -1 - - A -
_4,&,.{_.,__,TJ,-3J514 a2k giKt | a21gikt | 24kghk'| 241g7 K
12. "
i city of water is:
il s 117-224-1A-35000 * %
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Note: -You have four choices for each objective type question as A, B, C and D. The choice which you think Is correct, fill that circle in front of that
question number In your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

SECTION-A Ji.e  SUIL —22Y
Q.1 Questions /.=l | A B ¢ o __
1 - -{—U’“{MU‘J"‘JGE 4.2 kl E.l Kt 42 g-l K1 2.4kl g-l K1 24] g-l Kt
Specific heat capacity of water is:
5 ?;F_EKJ“‘JFL}:GEVUJ( =~ Flhé:’;_.: A b C'ts D/ ¢s Eu/ b
" |Which one of the given vitamins is water soluble? Vitamin A Vitamin C Vitamin D Vitamin E
fe JUDNA|  JRNAZE Sty SAsaN | Srra sy
> |DNAisa type of Me;s;:ger Vitamins Carbohydrates | Nucleic acid:
2 v 3L I ST LSl oM Srsulier s b FU #’P: s SsS, S
" |Acid rain affects the aquatic life by clogging fish gills because of: | Lead metal WUm metal | Mercury metal JAluminium met
()™
e taeSA¥¥ HPO?™ Qot . i
5 ,ﬂg“if“ \ H,PO, H,PO, H,PO,
The conjugate acid of HPO,  is: N
[ T SRR L ] \'I ;._f..:_ rdl.=
G >12)
R
< Questions /=li» A NY A B c D
) - 25 Vi 7 |
6. ARG LS ol HCI | CHCOOH |  NH;
According to Arrhenius concept, < \'ls-a base.
2 Asmdsolizmidds o g y g
Main component of natural gas is: Methane Propane Butane Propene
8. e uz"f)cfrf:;;wf euntde,| St JTJzs S DA
Which one of the given is not a fraction of petroleum? Kerosene oil Diesel oil Alcohol Petrol
e pSin P LSttt diSig p =4 CaCo; P i
" CaCO, — CaO +CO : ARV | ka0 [O4 ¥CO,| (4/2KCal
In the lime kiln, the reaction CaCOJ(’) — 'Ca(){s}+l'.'.'0‘1“J goes of high E?gb:‘; rtnhoarr:! CO;escapes | CaOisnot
to completion because: tamperature COs continuously | disassociated
Se e nle PSS of e futhe (6 = oy i B
10./\Which one of the given diseases causes severe diarrhea i d; fl ; Tvohoid ‘| Ch -I.
el pis/baas Pibale aundice uorosis yphoi olera
. te Bl ol e /T 2 £ KMnOa(Ethene) o2 i ST AT Sk B AT 5
|Oxidation of ethene with KMnOa4 produces: Oxalic acid Glyoxal Ethane glycol [Propene glycol
s .{_Jf..'.fﬁﬁ;:....{fu'( ;J&J,ﬁf{—fﬁ-{uﬁfyﬂﬂaesﬁpw ..1.-;--'”(-:{7r e }"tf-’y -.'-.-.’:.’.rb?:‘—/ -.'-_Ji)' f(—'y
Buildings are being damaged by acid rain because it attacks:  |Calcium sulphate| Calcium nitrate |Caldum carbonatd Calcium oxalate

118-224-1A-26000 * % *
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Note: -You haVe four cholces for each objective type question as A, B, C and D. The cholce which you think is corract, il that circle In front of that
question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

(SECTION-A (ii»)

Q1 Questions /= is A B c - D
1. 'r.;_hfés Wicfde, if¥ H nF &b
Which of the given is a disaccharide? Glucose °* Fructose Sucrose Starch
2, el /S eSS SR | bl T AT | syl .‘.fjh-.fuil,
Water dissolves non-lonic compound by: (ﬁn‘-ﬁr{ forces Innh-dml::la Dlpnf;s-m:;pnle Hydrogen bonding
Slo ol i Tivan | i, | wfflopt, | LE0uSR, | cdeePIlos,
P 17 P IY SfFeze§d ),
3. It paralyses the It damages

' | It makes the blood
oxide Is harmfu : 6
Carbon mon s harmful to us because lungs Iun&lﬂssuat_:_. Rred coagulate

1.2 carrying ability of

i

~3. | haemoglobin
e brbllte? A .éjy’._.ég;ﬂ.ff;.u:w \ , ;
. | Whiok ons of e given ofgindo compomnds I Gy (T Yk - GgHyg CisHng
found In m“nﬁ? P h_7 < -
5. e s S 4 \_-ET‘.';&-I 4270~ K AR K o
Specific heat capacity of water s: P we 'k | 24Ki7'KT | 24087k
7 ~A N ,-; L
6. kg d gl S f NaHCOy co, | cafom, S0, g

When NaHCO,is heated itforms: .\

et FEOFOS L | e | AL | Ctoipuing | A s

et e, 4 AL Lichenl g
9/ TP
7- | The characteristics of reversible reactions are Products never They never They proceed In | They have a double
many, except one of the given: recombine to complete both ways armow between
form reactants reactants and
products
8. -4-pOHEL’ #0.02 ML Ca(OH): 1.698 1.397 12.31 12.61

The pOH of a 0.02M Ca(OH)zIs:

s F IS | (B L S WSyl Jod#s - IS

9. | The water of crystalllzation is responsible for Melting points | Bolling points Transition point
m::wn of crys o !Wh porpdors Shapes of crystals il
10 Pz rUiy W99k FhULA A #0 A#35 AH#15 st
" | About99% atmosphere's mass lies within: 30Kilo metres | 35Kilometres | 15 Kilo metres 11 Kilo metres
i Frudgast | Hedng | HeduE | Pl
11. "l‘"“P'(*U‘ ¥ (Substitution) ""5"'{'::"":"” Halogenation of | Halogenation of | Halogenationof | Bromination of
One of the given Is a substitution reaction: alkymes alkonss alkanes all
12 bl dsts 2Lt e YOO K Lz anf AN e S
" | Coal having 90 % carbon content is called: Peat Lignite Anthracite Bituminous

117=222-182-41000 % %% %
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question number in your answer book. Use marker or pen to fill the circles. Cutting or filling up two or more circles will result no mark.

(SECTION-A i)

Q1 Questions /=iy A B c D
1, on ke | 2 £4 &3
The value of Kc depends upon: Pressure Volume Temperature Density
bn 2ol b 3o LShet o S I6. s 2
2. = el 2 i N Oy 4
The product of Lewls acid-base reaction is called fonic Covalent Metallic Coordinate
adduct. The bond between adduct specie is: - covalent
A |
3. - e Bsflfe e (CH,), CHOH (cH3),E0 | (CH3), NH | (CHy),CHCI
Which one of the given compounds is a ketone? A /2/ 2
f LAY
a, I WO | C e O O H,, C,H C,H
Formula of alkyl radical is: XY e y L
—~\
At0P
5. tg-ceP U et L e P )" A # A0 St
Substitution reaction is the characteristics uﬁ:\ ) 1 Alkanes Alkenes Alkynes None of these
P ::j‘ 1 - A
6. - G52 7 2 éﬁ e I Mk g JELEH
A bond formed between two aﬂi\@adds is: Peptide linkage | Covalentbond | Hydrogenbond |Glycosidic linkage
1. .q....r:;;(jr Jdml Lf-"{ T Iy L ef ok
The cause of ozone depletion is: O CFCs Fluorine Hydrogen
v ¥ curw it §sa s s
8. | Which gas protect the earth surface from ultraviolet €O co N, 05
radiations?
a1 2Bz S60r [ HYO 5 COy|  COy 5 Ny Oy 4 Ny Cly 4 H,y
9. | A group of gases that maintains temperature of | CO,and H,O | N,andCO, Npand O, H,andCl,
atmosphere is: vapours
10. 401l HOiettitly | NaC NaAl(SiO;) CaC Na, Si
Sodium zeolite is naturally occurring resin of: 20 Ok % 250
" | Hook worm infects: Liver Small intestine | Large intestine Stomach
o bt d g b SINGHCO 2 | ) Ca(OH), | cacOy Ca0
When NaHCO; is heated it forms:

115-222-4-45000 *
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Note: ~You have four choices for each objective type question as A, B, C and D. The choice which you think Is correct, fill that circle in front of that
question number in your answer book. Use marker or pen to fiil the circles. Cutting or filling up two or more circles will result no mark.

(SECTION-A (i)

Q1 Questions /..ii» A B c D
tq-Sriiadf rustae J St
1. | Deficiency of which vitamin is cause of night Vitamin A /"¢ Vitamin E /¥ Vitamin C /b Vitamin D o/¢»
blindness?
2. tg 2P YU e Ui co CO, SOy HF
Which one of the given is secondary pollutant?
e sl dd i a2sco e.#;?/"‘rdca, P ufu*’?’réog e.f-’u?-’ﬁ""’dsoz
: utp) syean = balbgsd il i\ [ e L
. : Increasing Incmaslng Increasing
The Earl;s Wmosphere I gotling  hotter Mm of | (cancentrationof | concentrationof | concentration of
because of: co oo, 0, S0,
" Yo P WL S A w5y, uuﬂg]ﬁ iy Odz bzl
Permanent hardness is removed by adding: §odluﬁ5;aoiile Soda lime Lime water Quick lime
gl ukﬁm"' e CaC co
" Temporary hardness is bnmuseo; S ~::-, a(HCO3), ey MgCOs Mg S04
. +w€,i;ﬁ§%mm a# Son o1/ Ve
Extraction of metal from its ores is called: Metallurgy Mining Grinding All of these
bl 1 )
7- | Molar concentration (mole dm ™) s expressed {} () [] b
as:
8. A BF, NaCl H,0 H,CO,
One of the given is an amphoteric.
1 0 ?
_ -4V MRS Bk | CHy - CH, - OH —C- _C- n
9 ia of fo s 3 2 CHy-C-OH CH3;-C-H H-C-H
10. Sz b S NI B o A o LA
Signs of Ozone depletion were first noticed over: Antarctica America Europe Ethiopla
11 4B NS Ok o & oE 1k sk
Dehydration means removal of: Water Halogen Hydrogen Nitrogen
b oo st enbintst| PP P £, vy
12. | he strong heating of coal in retorts in the |  Fractional Sublimation Roasting Destructive
absence of air is called: distiliation distillation

116-222-A-38000 kA i %
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result no mark.

1. 1. In an irreversible reaction, dynamic equilibrium: LASEI LB AT S 1 A
establishes before completion of reaction <t ipr(" F%;é.xfﬁldz (B) never establishes rm,t-? FJ'( (A)
establishes readily q.t'l;:rjﬁﬁ!:q-: (D) establishes after completion of reaction .:_.bxrfF.n.'i: i M :;f.‘gldx (C)

2. A reverse reaction is that: eI <2
proceeds from left to right e tnlbte L1z (A)

in which reactants react to form products L,{_-'.Lb:..,r:'?s{ LSk U,J“I‘l‘_{,,_;u’- (B)

speeds up gradually < txEEuesz (D) slows down gradually < tn:7E.22  (C)
3. Acetic acid is used for: et 1A A 3
making explosive &bzl (B) . ﬂavnuring_q&@: ) &0 g (A)
cleaning metals &l fx (D) ‘ gt\ﬁmggﬁ%sagﬁ; &ty (C)
4. A reaction between an acid and a base produces: p ;‘& ‘;\C\ - e o iduind o2 » LA Ll .4
salt and gas oL sl e ,{\%}{;ﬂ salt and water dy ol 2 (A)
salt and a base 7 5 »-rm;ffﬁ\}} salt and an acid a2 (C)
5. The ability of carbon atoms to form cnq\;ygw\«c{éf:;a ' oSS AN 5
condensation /> S (ﬁD) R LMme Jayzs (C)  catenation J‘:@’ (B)  isomerism r}/r‘“’ (A)
6. Which one of the fot!uwinﬁs\l;t's:avlumtr&d hydrocarbon? S h K s Unle Lyl -6
cH, (O - CH, (C) C.H, (B) C,H, (A)
7. Photosynthesis process produces. _‘._.fﬂfﬁ_c.J::: /.;P,h' T
glucose AE (D) sucrose i (C) celiulose & (B) starch &/ (A)
8. Which one of the following vitamins is waler soluble? ?.%.r:rﬁrbﬁ;'}&i.&ﬂ-.. St it -8
vitamin E /% (D) vitamin D /8:  (C) vitamin C 't (B) vitamin A 't (A)
9. Normally the rain water is weakly acidic because of: ?‘Lthjdl(“;.,pJuf—:fr ngﬁ«}.; e -9
2 NO, ges (D) oL 50, gas  (C) 2 €O, gas (B) oL 50, gas (A)
10. Which one of the following diseases causes liver inflammation? te For bl Biate Ldits -10
hepatitis u:"tt; (D) cholera .= (C) jaundice s (B) typhoid 4t (A)
11 Which one of the following ions does not cause hardness in water? S S AN S T L7 T L5l 11
Na' (D) SO; (C) Mg * (B) ca”  (A)
12. Matte is a mixture of: <& (Matte) &2 _12

CuS and FeO (D) Cu,S and Fe§ (C) Cu,0and FeO (B) FeS and CuS  (A)
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

1. 1. One of the following is used as jet fuel.

et b LUk 2 L A LI ln -1 A
kerosene oil JTe23Z (D) diesel ol JT Jyzs (C) fueloil JT U2 (B) iubricating oil JT G&E7 (a)

2. Maximum density of water at  4'C s ce FHuie w § JL ¢ 4C 2
20gem™  (p) 1.5gem™ (g 1.0gem™ (B) 0.5gem™  (a)
3. Chemical compound used in Clark's method is < bl $37e S ga LXK 3
CaO (D) HCl (©) NaOH (B Ca(OH), (A)
co . - o Qé«%o‘ itk o
4, Percenlage of 2 by volume present in dry air is sl ..u[,qeo Y rxls Bl aRst S It 4
78.09% (D) 20.94 % (C) F @?\O (8) 003 % (A)
5. Falty acids are the building blocks of @KB S B U 5 A s 2 s
vitamin % (D) glucose /¥ C /fgprotein g (B) lipids .;.y' (A)
T i
6. Formula of stearic acid is ¢ <:\‘I{E)-\)\ e U ¥ 20 - 8
CHyz,COOH (py CyHg © CoHuCOOH (g CHyCOOH (s
7 Dehydration of alcohols u\\q)‘it D out with e & Halzy $3 S 7
H,50, @y  HNO, ©) HCI ®  HPO.
8 Percentage quantity of carbon in peatis -G S il LML e B
90 % (D) 80 % (C) 70 % (8) 60 % (A)
9. Lactic Acid is found in —e bl by 2ot S Z0
sour milk LeminiZ (D) Apple £ wr  (C) Orange U2 & (B)  Lemon Ltust (A)
10 pH of neutral substances is always equal to e Omais 24 pHS A2 U2 210
, 14 (D) 7 (C) 5 (8) 0 (A)
11, The colour of iodine gas is wek € U T o1
white 4 (D) black o  (C) orange & (B) purple ¢ (A)
12 Guidberg and Waage put forward Law of Mass Action in VS 10 (U0 N LIV IS S R /3 G
,1889 A.D (D) L1879 AD (C) ,1869 A.D (8) 1859 AD  (A)
116 -219-25000 W%
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more

circles will result in zero mark in that question.

1. 1. Crude oil is heated in furnace upto
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2. Which gas is used to destroy harmful bacteria in water? SeJy (S ATE L /7 1 | mudady -2

bromine 2wz (D)  flurine ¢/ (C)

3. Permanent hardness of water is removed by adding
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Soda lime (B)

quick lime (D)
4. Acid rain effects the agquatic life
by cloging fish gills due to
aluminium g‘-‘yﬁ' (D) mercury §/7 (©

5. Which is a fat soluble vitamin?

allofthese (VU . (D)
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6. Deficiency of vitamin D causes disease

scurvy

night blindness '\‘\l‘\“ SEeest (D)
7. Dehydration of alcohols is éamd out with
HCI o H,50, ()
8. Pitch is a black residue of
Coalgas )¢ (D) Coal 4 (C)
9. Which one of the following is a Lewis base?
AICI, (D) H* (©)
10. ............is used as drying agent for gases.
Na,Si0, (D) CaO  (C)

11, When the magnitude of K_ is very large it indicates
reaction mixture consists of almost all products
reaction mixture consists of almost all reactants
reaction has not gone to completion

reaction mixture has negligible products

12. Guldberg and Waage put forward the law of mass action in
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